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NGYwlwnybind «Gpuwu pwnwpnid nbnuywu huptwlwnwywpdwt dJwuht» <wjwuwnmwuh
Cwupwuwbinniejwu optuph 12-pn hnnwdh 1-pu dwuhp 16-pn Ytwnny, 54-pn hnnwdh 1-hu dwup
1-pu Yybwind, 71-pn, 72-pn, 73-pn, 74-pn, «Kwjwunwuh <wupwwbinnggjwu  pnwbnwihu
hwdwlwpgh dwuhu» Cwjwunwup Cwupwwbwnniejwu optiuph 31-pn hnnywdubipnny.

Eplwt pwnuph wwquwuphti npnpmid £,
1. <wuwnwwnby
1) Gplwu pwnwph 2017 pwlwuh pniobt’
w) GYwdnunubph gény’ 84,344,931.5 hwgq. npwd,
p) Swluubph gény’ 84,412,931.5 hwq. npwd,
q) nbdbhghunp (Wwlwunipnp) 68,000.0 hwg. npwd:

2) bplwup 2017 pwywup pjnwbh Juwpswywu W $nunwiht dwubiph Gywdnunubpt’ pumn
duwynpdwu wnpnipubiph’ hwdwdwju N 1 hwybwsh.

3) bpluwuh 2017 pwlwuh pjnobh Jupswywu b $nunwihu dwubphg hwwnlwgndubpt' puwn
pnobnwihtu dwiuutiph gnpdwnwlwu nwuwlwpgdwu' hwdwdwju N 2 hwybwsh.

4) Gpuwuh 2017 pywlwuh pnobh Jupswywu W $nunwihtu dwubiphg hwwnlwgnwiubipp' puwn
pnobnwihtu dwiuutiph wunbuwghwnwlwu nwuwlwpgdwu' hwdwdwju N 3 hwytywsdh.

5) bpluwuh 2017 pwlwuh pnwtih nE$hghnp (Wwlwunipnp)' hwdwdwju N 4 hwytjwsh.

6) Gpuwuh 2017 pJwlwuh pnwth  nbbhghnp  (Wwlwunipnh)  Shuwtuvwynpdwt
wnpnipubpp’ hwdwdwju N 5 hwybgwsh.

7) Gplwup 2017 pwlwuh pnwbh Jupswlywu b $nunwihtu dwubphg hwunlwgnidubpp' puwn
pnwbinwihtu dwiuubph gnpdwnwlwu U nunbuwghnwywu nuuwlywpgiwt' hwdwdwiu N 6
hwyt|wdh.



8) Unyu npnodwu N 6 hwybwdny hwunmwwndwsd hwwnlwgndubph Jtpdwunup' pumn
Gplwuh Jupswlwu 2powuttipp b Gplwup pwnwpwwbwnwpwuh (wnwug Gpuwuh Jupswywu
onowuubinh)' hwdwdwju N 7 hwybJwdh:

2. Gplwu pwnwph 2017 pYwywuh pnwth Jwpswywu dwuh wwhnwwmwhtu $nunhg
«Uupwywu pwulh weowlygnipjwdp hpwywuwgynn pwnwpwiht Gupwlwnnigwéputiph U
pwnwph Yuyni qupgugdwt Gplpnpn dpwagnh (wwwyhpwlydwd |hwgnpnigniuitin)»  dpwignh
hpwlwlwgdwu hwdwp hwwnjwgut] hwdwwywwnwufuwuwpwp  4,220,991.0 hwqwp npwd
pjnobitnwihu Swiuutiph tnunbuwghunwywu nwuwlwnpgdwu «Uy| dwluubp» hnnwédny:

3. fanywwpb Gplwup pwnwpwwbnhtu uwhdwub] unyu npnadwdp hwunwnyws.

1) wnnnoniejwu wwwhnjwgpniejwu dpwgpny twhuwwnbujwd dwnwjnipniuutiph gwuyp,
owhwnniutiph npnadwt swihnpnohsubipp W hpwlwuwgdwu Ywnap,

2) pjnwbitnwihu  dwfuubph  wuwmbuwghnwlwt nwuwlwpgdwu npwdwunphubph L
untpupnhwubph hwdwp twjuwnbudwsd hnndwdubpny hwwnywgnwubph  Jbepdwunwp' puwn
unwgnn Juguwybpwnieiniuutiph:

4. Unyu npnondu nidh dbe £ dinund wwounmnuwwu hpwwwpwldwu opdwt hweonpnnn
twuubipnpn opp:
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1000

AU _ 2@°UA °T2gaiTU°s

84,344,931.5

84,334,931.5

=t ATai0

1100

1. b23T°8 @1 Taide°d

7100

14,839,087.5

14,839,087.5

S AT4i0"

1110

1.1 7ai0=ICY N=2AT»A 3YR3AA - a5luCo

7131

5,225,646.0

5,225,646.0

e

1111

qasiu=N=2AT NSUSYUY»AC TSAEST3Y W2A=TaY»Aail
- WY T40 B»YU»AC ~ RCYAGAIATYY»AC N=3U=3A

4,561,894.2

4,561,894.2

1112

Pa0C N=AT NSUSIYUY»AC TSAEST3Y W2A=TuY»Aail
-wY 140 N&0C N=U=A

663,751.8

663,751.8

1120

1.2 fasiu=IcY N=AT»A 3 - asluco

7136

5,782,769.0

5,782,769.0

S AT4i0"

1121

Tatlu=N2AT ~4E31A300cA0Y»AC N=U=h

5,782,769.0

5,782,769.0

1130

1.3 2ARSBYUY»AC 0- 13- aATUSY T3U
-4 TasY»a0Al=Y CAST3Y36U3Y AddlEw TadAl=Y
Tx3AY»A

7145

3,443,672.5

3,443,672.5

=t ATai0

1131

T»03T3Y 1A

71452

3,443,672.5

3,443,672.5

=t ATai0

1132

=) P2U3YUC WSASTUAU Ya R»YU»fiC, RCYAAIATY Y»TiG
(Y»A=€&13E 43 NCUYST3Y) RCY=2A=3haiAISY (1»031AU3Y)
A&ilEw TasAl=Y N=0=

137,310.0

137,310.0

=t ATai0

1133

33) pCUYST3Y RCYAsAIAYY»AC N=U=h

137,310.0

137,310.0

1135

WB3U3YUC T3AIST3Y T3A=T0aiU B»YU»AC, RCYASAIAGYY»AC,
U30=30U3RCYST3Y 3 QubTHY»AC T»A3T36456U3Y,
40A»0=0U3Y, T»AST3Y-YU3Y, 3ALCST3Y30U3Y
SRE3T3YUY»A (uUS63640AIB0p DD Ofi»YE1A.

a3V I3 RCY3A3RAAISY AddlEnT. 4a3N3Y¢iad
1»&U»fC) T3 W 3f»tad AdslEwT. N=U=h

9,850.0

9,850.0

1136

-) B2U3IYUC T3AEST3Y W3A=T040U B»YU»fic,
RCYABAIAEYY»AC, U30303RCYST3Y 3 GubTWY»AC u3Y1U3Y
A&ilEw TasAl=Y N=0=h

12,150.0

12,150.0

1137

1) p3U3(Y0¢ W3iA= 10400 &-»EC6 EUGAUY»AiG — (T=0)
TE3EAWC SAWS1ASYUC T3x36é0C, CeT N3YAS(CY eYY1g
Oui»>TWY»AaU" &-»EC6 EUCAUY»AC ™ (T=3U) TE3EAWC
SAT3LASBYUC CAZOUSY AddlEn TasAl=Y N=U=A

445,324.0

445,324.0

1138

») D3U3YUC W3S T040 p360AI3 T3x3é0 T3UUZT»A8x»Ea0
AailEw TasAl=Y N=0=h

88,640.9

88,640.9

YaY13(CY pladc»

764,544.2




Snnh NN

OT3UT3ST»E3TY»AA

Annwdh
MM

AY13U»YA

=t ATai0

130E3T3Y plaic»

YaY13(CY pladc»

[Eny

2

1139

1) D2U3YUC W22 Tuadl N»040T T3é»ECuc, e»00T31
uYST3Y T30 (080126131 Y2TASICY - 3U»AC USYASTSE
26 NAC T»>»iiatl N»0a0T T3é»ECuC  (130) 8»00T=1
uYST3Y 120 (»040120T=1 YSTASICY - 3U»ic =
I»EYCT3T3Y (»0401Y»AC T3x3¢0C AddlEw TasAl=Y =303

78,872.1

78,872.1

1140

¢) D3U3YUC W3A=Tual =é wic, NSYASICY éYvac,
BLI3AX3YUC, R2NasUAT E30»AC ~ TCx3T3E30»AC
T3UUST»>AAUSY Qui» T Y»AA, pSOYCUY»AA (8245Y3Y»AA),
E303T1V»A ASUA 24.00-Go fi»1a SRE3T»tas AadlEw TasAl3Y
N=0=f

118,249.5

118,249.5

1141

A) B30=030303(CY T3YAYY»ACY NSU2A313eE3Y Of 3y
u30=0C T u30303ICY NS3USIVUY»AC 13/ Tuail AYnr3Ye
T»Y1I3YCY»A &=3N»fa0 Addfw Ta6AI3Y N=0=h

2,425.0

2,425.0

1142

A) b=30=3Y0C T3A=T0aiU SAT3UCY -AT3%1 T»031fintad
AailEw TasAl=Y N=0=h

1,432,906.8

1,432,906.8

1143

R) B=30=3YUC SAECTCO +36W3A0ASAC A3 W x»Y»A

3,194.2

3,194.2

1144

A=) p303IYUC W2A3T040U (u363640AI=Uu A=03(CY
=U=VUY»AC) USALST2A 130840 (U262640A1=U
»HR&SOZICY T2UECY»AC) T=6=aAladY CRETSY=6Y»E45
RadlEn TasAl3Y N=0=3h

1,090.0

1,090.0

1145

A A3YT=30A»0 U»30Y»ACo A3 WASEW T3 CAnfC
USYAST3E 364013x360C AW Ta0AI=Y N=0=h

50,750.0

50,750.0

1146

A 2T rarsi=y=»0c (=0=H

920,000.0

920,000.0

1147

A1) p=0=lYuC wEA=TuAU - WY TA0 E3YaAY»fadl,
TAASTY»AaiU I»EYCT3T3Y N»0aiTY»AC T3x3é0C
A&ilEw TasAl=Y N=0=h

25,578.3

25,578.3

1148

A») D3USVAC T3 T0ddl RSYASICY 8YY1C TSWIST»Aalsy
“ CAsOUSY AddEw TaAISY N=U=h

101,331.7

101,331.7

1149

Ay) D3(=6T3YC DIYAS&» T AAIBY NSUSIYUY»AC
3Yi3YaUY»AA yCAUSICY 3Y T=3YailY»fiaiu - 0= - aii»Ead
A&ilE=rTasAl=Y N=0=h

1,000.0

1,000.0

1150

R) 2 w»0=T=3Y rasho»h

15,000.0

15,000.0

1150

1.4 2AA3YUY»AC USTST3ASAAUCo
13é3|a0AladYY»AC USTHAi0aiuco 3t A3in31Ci
Tx3AY»A

7146

387,000.0

387,000.0

=t ATai0

1151

P3U3YUC plaic» Tx3ATa0 »3T3Y TasAu»A

387,000.0

387,000.0

S AT4i0"

1152

3) g3030=26C3T3Y 12040A13Y 3TT»A - ASYo»E4s, 1A=Y6
U=eCY u=03036CY»ACY TATY=TC TT3ST3YY»,
U303036C3T3Y T2640A3Y 3T r»iAdil TST3AT31

- i3640UY»fasl —a+—aEadAlasYY»f, Ei=645Y»f, 46004UY»f
T3 3f»tad  »AST3Y - YUY T3&3T64AI30n
TT33T3YY»i 134 13030

77,000.0

77,000.0

1153

UAT3A3AST3Y - A3e»YISTY»AC Ta0UCo YAT3a3T3Y
1363[a5Ala0YY»ii T30 30i»tas, YAT3A3T3Y T30-af
USAUCYY»AC TAOUCH - ARTSAUY»AC YSES- I»fi =~ 1QUAUY»f
T31U»kad, ~363A0A. &3 x»Y. N3Y»Ea8 ~~ 1ASY6C6
u30T310. T3ta \=03h

310,000.0

310,000.0




= = S ATaU
= e o = N
= OTSUT3T»a3TY»iiA el AY1ZUnYA o o
= = 13033 13Y pladc» | yaY1r3CY pladc»
=
o =
1 2 3 4 5 6
1200 |2. 42pTal2T=20 _62g=2pUaspUes 7300 21,772,637.5 21,772,637.5 -
31 ATa0
1250 |2.5 AYA36CT Y»AUCY &A3RWaY3T3Y 7331 21,772,637.5 21,772,637.5 -
1ASUSRYARNY»A 636131 1363 T3A03Y 3t
UST3AL3TY»ACH
31 ATa0
1251 |3) &»w3T3Y plaic»Co yCY3Ye3T3Y N=3U3N=3AA»0U=3Y 13,430,355.1 13,430,355.1 -
ETHuaYUAT WTA=U31AT40 143603 »A
1257 | -) & 03T3Y Wlaic»Co wizU=31iiald YA T3T3(cY 8,342,282.4 8,342,282.4 -
N=0T=26400Y»f (840U T»Y6C3Y»f)
1300 |3. 2UE @T2gasTUes 7400 47,733,206.5 47,723,206.5 764,544.2
31 ATa0
1320 (3.2 b3N=3u3ACYY»f 7412 124,000.0 124,000.0 -
31 ATa0
1321 |~ SAY» W CAST3Y AYT»Aa0Al4sYY»fAasu N=U=3Yuc 124,000.0 124,000.0 -
U=eY=T640AI3Y 1¢U=6 N=U=VaC plase» T3w=3fTad
U=el=VaUY»ii (R3N3p3ACYY»h)
1330 |3.3 Ta8lu¢ T3A03T3E40AI4YCO » T30 Y»A 7415 1,034,495.3 1,034,495.3 -
31 ATa0
1331 [P3U=(YuC é»+3T3YasAlasY N30=3aT140 Nad»AC 596,597.2 596,597.2 -
1303 Tx3AY»A
1332 |D2U3YOC T3AEST3Y w2210l - wYiad &» 313y 22,542.1 22,542.1 -
e»+—3T3Y40Ala0Y N=0=3mT140 NaO»AC T=3A0ST3a0AI=Y
1303 Tx3AY»A
1333 |P3U=(YuC T3A5=T3Y T3A3T04il - wY 740 &»wasAlsy - 75,000.0 75,000.0 -
N=20U3YUC e»+3T3YAAISYA &3 T3Y40 Na0=3U=ex»Ac
1264062437 U3Y CASTAIYUC 1CU=6 - 30140
1303 Tx3AY»A
1334 | 2[f - adluC T3A03T3EA0AIAYCO UAT W Uxi 340,356.0 340,356.0 -
1340 |3.4 D3U3{YUC plaic»C »T3VATTY»A SARSYUY»AC 7421 42,129,123.5 42,129,123.5 -
UST3T3A=3A400C6 ~ 1=2é6340AI46YY»AC
U3T1ai64suce
31 ATa0
1342 | a» T asAl3Y Ta0UCo 1»03T3Y CYUYST363T3h/03Y 42,029,123.5 42,029,123.5 -
USAUCYY»ACY &3 W ICAZT T=1 EC3hanatAlasy Y»Ac
CAZT3Y36U3Y T3Ee»iC yCY3Ye3Tanl3Y 303
B> U3T3Y Plaic»Co e r=361a0 UCcaoY»ii
1343 |ai»Yoar e3N0=3Y =T 1»ao»iasl N=BU3lyusicy 100,000.0 100,000.0 -
NCUYSATY»AC TA0UC6 2¢3Y6 1»03T3Y WasAuG - 2Y0U3Y
U3raio1ad 1363(a0AlasyY»AC T30 T3 w3140
- anT1a0abAlasY Y»AC 1CU=6 ew=6140 (- 3Y0T40) 3l Tx3AY»h
1350(3.5 T3A33T3Y - 3Y040UY»H 7422 3,748,761.6 3,748,761.6 -
31 ATa0
1351 [ T»03T3Y Tx3AY»A 3,508,761.6 3,508,761.6 -




= = S ATaU
= e o = N
= OTSUT3T»a3TY»iiA el AY1ZUnYA o o
= = 13033 13Y pladc» | yaY1r3CY pladc»
=
o =
1 2 3 4 5 6
1352 |p=U=lYu¢ T35S T3Y w=3hA=Tual CYay=3130 13éai0 131 240,000.0 240,000.0 -
R»YU»AC, RCYABAIAEYY»AC OACYST3Y360=3Y N=303h Tx3AY»h
1360 |3.6 @aiwu»ii wadlA»fico, Was- SYUY»Aico 7431 461,048.4 461,048.4 -
31 ATa0
1361 |1 3AE2T3Y CAZTSE3ETAUY»AC N=0=3 1»031T3Y 461,048.4 461,048.4 -
CYUY=T=26=2T3A03Y USAUCYY»AC Ta0UCo
A3 T3EE3Y3TTAAIBY UGCA6Y»AC TCA=645UC0 » T2UaTT Y»f
1380 (3.8 T2ACH 3t 44 A3RWAYST3Y 1AZU3RYAANY»A 7442 10,000.0 - 10,000.0
31 ATa0
1381 |UTCAST T,A3é3Y - CAST.yCuCT.3Y0.” 10,000.0 - 10,000.0
'I'31(zU3'I'.N3U3UYO, I'»ﬁ(;.»Y/:\.uUéf)(;»"l'.NCUY3ﬁ'I'.'I'Y0ﬁCY.3Yé3i
-43luC (NCUY=ST3Y UGcas T3U &a YIaAST3Y ST e
aN=V1Cce=0640) Ci=6.” 1A=0.0Cca0. TSACTSEISEE»AC
yCY=Ye N=30.R=303Y0C pladc» eW26T=1 VA wusi
TASUSL SFA30CY 20pladh.
1390 (3.9 2 »T3045 W Y»i 7451 225,777.7 225,777.7 754,544.2
31 ATa0
1392 | 131313 plase»¢ &3Naoew=ICY yavico yay13igy pase» - - 754,544.2
1273140 N3 W T306400Y»AC6 UATHu»i
1393 | GA»YUAT ~" CAST3T3Y 3k ST »har e3WUSYi3T K=U3iYic 225,777.7 225,777.7 -

piade»C Uasmu= - AU3Y »YAST= 3 » 130851 V»f
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©3°1 20 2017 AT 2T2UL ~Uad=°k 12842120 @1 tal 20U g=26°6£0 D2TT20200UCBA" AéT ~Uate°oT20LU 12E&°8K
fasize=120 2621251920

(N=%=f 1A3UY»RAT)

=t ATai0

[l . IR pe . .- N .
-;::Z < »%L = ~ 4> SICY TSEE»AC -an1=¢3T3Y 1363130 U3y AVISUnTA
c,g =Z| 3 -5 EB" HBACYY»AC, EUpsAC =™ 138»A¢ 3Y T3YAIUY»fiA 3313y paic» | yavrsicy plasc»
[l 8
1 2 3|4 5 6 7 8
AU _2g°UA 12Eé°s 84,412,931.5 84,334,931.5 832,544.2
2100 |01 |0 |0 AU,DZUéGB'Ué\AﬁUAﬁE p=208=20£U 8,390,893.1 8,145,300.5 245,592.6
T2e20a0Alasuues

3t Ata0

2110 | 01 | 1 | O |afA»Yé1gh = -aAT=31CA U3AUCYY»A, &» T313Y 7,987,099.8 7,916,257.2 70,842.6
1363730400, yoy3Ye3I3y =
N3[T3ulase» T3ICY N3A31u»a6Alacy VA,
BAT30CY N3ASBu»AaoAlasy Y»n
ance’

2111 | 01 | 1 | 1 |Gfi»Y&2CA ™ -aRT31CA UBAUCYY»h, S» W 3T3Y 7,973,099.8 7,902,257.2 70,842.6
136313400

2113 | 01 | 1 | 3 |2AW30CY N3ASp»AadAlasyy»f 14,000.0 14,000.0 -

2130 | 01 | 3 | O |AY2N3Y&67 uYadlAC F=26346AI46YY»A 92,931.3 92,931.3 -
ance’

2131 | 01 | 3 | 1 |2BE3T3T3WC [T31A»AC/ - TaT AYIN=YasR pYasiAc 92,931.3 92,931.3 -
13é63(40Ala0Y Y

2150 | 01 | 5 | O |AY2N=YadA uYailAc N=3YAZICY [3é3aiAlasyy»ig 174,750.0 - 174,750.0
-TAT N> 33371313y " Y3E3. [3[gY
BBES3T3YOY»A
ance’

2151 | 01 | 5 | 1 |AV2N=YasA pYaslAc N3YASICY 1=2é=3(asAlasYY»Ac - Tar 174,750.0 - 174,750.0
N> 3BATST3Y " YSE=- [3(CY SREST3YUY»A

2160 | 01 | 6 | O |AY2N=YadA uYailAc N3YASICY [Sé3iaiAlasyy»ii 136,112.0 136,112.0 -
(3l 136»ACY 48371 T13Y40)
ance’

2161 | 01 | 6 | 1 |AV2N=Yadh pYaslAc NSYASICY 1=¢=3lasAlasyY»i (Sl 136,112.0 136,112.0 -
13¢»ACY 383 T3Y40)

2200 |02 |0 |0 azptazUascAlasy 56,990.0 56,990.0 -
3t Ata0

2220 | 02 | 2 | 0 |@=303036C313Y &38T&3YaiAlasY 16,000.0 16,000.0 -
ance’

2221 | 02 | 2 | 1 |@=0=30=6C3T3Y &3/ ASVaAlasY 16,000.0 16,000.0 -

2250 | 02 | 5 | O |43BUE&3YA0AI40Y (3IEF 136»ACY 4831T3Y40) 40,990.0 40,990.0 -

anco’




=t ATai0

Tz || g5 wowsersten afsestayasestan ey | g _ B

o = CBL E Eﬂ HBACYY»iC, EUP»AC ™ 13ex»fC 3YT3Ya50Y»fA TSfa=13Y paic» | yav1isicy plase»

1 2 3|4 5 6 7 8

2251 | 02 | 5 | 1 |a3Rra&3VasAlasy (3l 13e»ACY 483w T=Ya0) 40,990.0 40,990.0 -

2400 | 04 |0 | 0O TUTeé2T20 p2562"°25a0Alasules 15,423,705.6 18,480,554.0 (3,056,848.4)
=1 A4

2420 | 04 | 2 | O | 7/d003TYU»édiAlacy, 3Yr3e3icy o 73,581.5 - 73,581.5
TYT»E404J40Y, OTVAREAGAIAGY ~ 4RE4A1E0AIAGY
anco

2424 | 04 | 2 | 4 |&aga-adl 73,581.5 - 73,581.5

2450 | 04 | 5 | 0 |TA3YE84AT 18,323,969.3 17,383,646.0 940,323.3
anco

2451 | 04 | 5| 1 |O3Y3&3ANZCY TASYEAAAT 10,736,987.4 9,900,187.4 836,800.0

2455 | 04 | 5 | 5 |EafAT3T3/3A3(CY ~ 3 TASYe&anT 7,586,981.9 7,483,458.6 103,523.3

2470 | 04 | 7 | O |ZF uy=3-3r38éY»a 25,000.0 25,000.0 -
afigo

2473 | 04 | 7 | 3 |Yapde=BicasAlasy 25,000.0 25,000.0 -

2490 (04 |9 |0 TV'r»é__s'l'?)f/\73ﬁ3y»ﬁé54ﬂ‘éi)7>7»ﬁ(3ﬂ‘£’13é»ﬁ(:>7 (2,998,845.2) 1,071,908.0 (4,070,753.2)
d83113Y40)
afigo

2491 | 04 | 9 | 1 [TV »E3T3Y N3A=3p»iasAlasyY»h (S 13e»AcY (2,998,845.2) 1,071,908.0 (4,070,753.2)
4&3713Y40)

2500 | 05 [0 | 0 Pd22T2 BA=21208% 42pTa20a0A0as0 12,182,590.1 12,082,590.1 100,000.0
=1 A4

2510 | 05 | 1 | O |20u=N=YaiU 10,043,316.1 10,023,316.1 20,000.0
afige

2511 | 05 | 1 | 1 |=20p=N=VasU 10,043,316.1 10,023,316.1 20,000.0

2530 | 05 | 3 | 0 |bAC3T= UCc3T3IA¢ 30T4TU3Y 150 §3/0=A 38,683.0 38,683.0 -
afigo”

2531 | 05 | 3 | 1 |GG 30TATU3Y 15U &3(0=H 38,683.0 38,683.0 -

2560 | 05 | 6 | 0 |pAc=13 UCc3T3IA¢ A=W &=VaoAlasy (3l 2,100,591.0 2,020,591.0 80,000.0
13»ACY 4831 T3Y40)
afigo

2561 | 05 | 6 | 1 |Pc=T= UCe3T3IiC AR a3YasAlary (S 13exfcy 2,100,591.0 2,020,591.0 80,000.0
4&37T3Y40)

2600 | 06 [0 |0 “U>2T1252020£U pEU2628a0A0a0U <1 10,288,358.4 9,096,558.4 1,191,800.0

rTagacU=t 12e20aAlasules

=1 A4

2610 | 06 | 1 | O | "YSI3A3Y3(cy BCY2AZAA0AIAGY 50,000.0 20,000.0 30,000.0
afige




=t ATai0

Ez| £ 5 5 wowmt e -anf26213Y 126212002 AV23U5YA e o

o = CBL E Eﬂ HBACYY»iC, EUP»AC ™ 13ex»fC 3YT3Ya50Y»fA TSfa=13Y paic» | yav1isicy plase»

1 2 3|4 5 6 7 8

2611 | 06 | 1 | 1 |”YST3ASY3(CY RCYSA=AasAlasY 50,000.0 20,000.0 30,000.0

2630 | 06 | 3 | 0 |@A3U3T313A3A400 3,997,269.6 3,997,269.6 -
afigo"

2631 | 06 | 3 | 1 |@A=U3T3T3A/3M40U 3,997,269.6 3,997,269.6 -

2640 | 06 | 4 | 0 |64046Y»A¢ t466=iahaoU 3,609,411.7 3,602,411.7 7,000.0
afigo”

2641 | 06 | 4 | 1 |64046Y»AC tase=Tanady 3,609,411.7 3,602,411.7 7,000.0

2650 | 06 | 5 | O | “Y3I3A3Y3iCY BY3AZ3nacAI3Y ~ 1aUasy=¢ 15,000.0 - 15,000.0
13634044y Y»A¢ - IAT N> 134817313
YIE3. [3cY SRE3T3Y0Y»A
afigo”

2651 | 06 | 5| 1| YSTSA3YS3CY CYSASR&AISY " Tavay=e 15,000.0 - 15,000.0
1363{a0Ala0YY»AC - TAT R>W3%aw=T3Y = Y3ES. 13(cY
3RE3T3YuY»i

2660 | 06 |6 | O iVﬂ?ﬁf@/gVﬂcyéﬁsﬁéwéy"'l'é()_éi?é{ 2,616,677.1 1,476,877.1 1,139,800.0
1363a0AI46YY»A (3IF 136»ACY 4831 T3Y40)
afigo

2661 | 06 | 6 | 1 |~ YSTSA3YS(CY BcYéﬁ3ﬁé6AU:;'-Y"'|'éQ§16Y3§ 2,616,677.1 1,476,877.1 1,139,800.0
1=363(a0AlasYY»A (Sl 13e»ACY 4831 T3Y40)

2700 | 07 [0 |0 2¢a0x2a2pasAlasy 324,000.0 12,000.0 312,000.0
=1 A4

2710 | 07 | 1| O | “ABI3I3Y 3&A=YaY»A, 6300»A 78,000.0 - 78,000.0
é3Au3ranaovy»n
afige

2711 | 07 | 1| 1 |_»0=-aAI3T3Y S&A3YaY»h 78,000.0 - 78,000.0

2760 | 07 | 6 | 0 | 2640¢=383NaoAlacY (3l 136»ACY 4831 T3Y40) 246,000.0 12,000.0 234,000.0
afigo”

2761 | 07 | 6 | 1 |2640¢=2a3N3T3Y N=3AST06 1=36340Ala0YY»A ~ TA= - finf 246,000.0 12,000.0 234,000.0

2800 | 08 [0 | O p2U£ET, @p2TaoUA <1 Tsal 3,325,356.4 2,575,356.4 750,000.0
=1 A4

2810 | 08 | 1 | O |P3Y-&7C ~ 684ATC 36340446V Y»fi 451,569.7 201,569.7 250,000.0
afigo

2811 | 08 | 1 | 1 |D3Y-&W (¢~ 6&4AWC I=263[a0AlIa5YY»A 451,569.7 201,569.7 250,000.0

2820 | 08 | 2 | O |@B3T46A3ICY F36346AI46Y YA 2,786,461.7 2,286,461.7 500,000.0
afigo"

2821 | 08 | 2 | 1 |TIASI3A3BYY»fi 452,965.7 452,965.7 -

2822 | 08 | 2 | 2 |A3Y-3A3YY»i =~ 640636AZNY»A 251,995.4 251,995.4 -




=t ATai0

Tz || g5 wowsersten afsestayasestan ey | g _ B
o = CBL E Eﬂ HBACYY»iC, EUP»AC ™ 13ex»fC 3YT3Ya50Y»fA TSfa=13Y paic» | yav1isicy plase»
1 2 3|4 5 6 7 8
2823 | 08 | 2 | 3 |@RITAIAC WY»A, STaUuY»A, T»YTAAYY»f 110,915.8 110,915.8 -
2824 | 08 | 2 | 4 |2l URSTAAZICY T3UST»AAAAIAYY»A 1,482,877.1 982,877.1 500,000.0
2825 | 08 | 2 | 5 |2fT»&W 473,707.7 473,707.7 -
2827 | 08 | 2 | 7 |DARSAOBYY»AC ~* UBSTAASICY 3AA»UY»AC 14,000.0 14,000.0 -
M»AST3Y-Yal ~ &3N&a=vai
2830 | 08 | 3 | 0 |@31Ca " N»éadé w3N30an1aiUY»A¢ 56,000.0 56,000.0 -
N»63[031U3Y ~ NAZ 131314313y
1363404146V Y»h
afigo
2831 | 08 | 3 | 1 |P»éade T =631CaN=04M145UY»f 56,000.0 56,000.0 -
2840 | 08 | 4 | 0 | TA&Y=313Y ~ N363431313Y 3 31,325.0 31,325.0 -
1363404146V Y»h
afigo"
2843 | 08 | 4 | 3 |TRAY=T3Y " N=2&3A3T3T3Y 3 1=263(40AI40YY»A 31,325.0 31,325.0 -
2900 | 09 [0 |0 ToAasAlasU 28,235,694.5 26,965,694.5 1,270,000.0
=1 A4
2910 (09 |1 |0 qsiész}éﬁéé37'3y"','3ﬁﬁ3'l'3)7m71/\73)7'5~ 14,920,419.7 14,750,419.7 170,000.0
17A&sAiaey
afigo
2911 | 09 | 1 | 1 |USE3147463T3Y ThA&sAlasY 7,893,142.7 7,723,142.7 170,000.0
2912 | 09 | 1 | 2 |T3AAST3Y AYIN=Y40R ThAAGAIAGY 7,027,277.0 7,027,277.0 -
2920 | 09 | 2 | O |@CeY3T3rA- AYIN3YAdA TAAE0AIAGY 9,291,700.2 9,291,700.2 -
afige
2921 | 09 | 2 | 1 |BGUY=T=Y AY2N=Yadn THAAAl&SY 9,032,054.5 9,032,054.5 -
2922 | 09 | 2 | 2 |@CcY=3T=3- (FACT) AV1N=Vasn TAA&sAIASY 259,645.7 259,645.7 -
2950 | 09 | 5 | 0 |A87T UST3A13TY»A¢ 41363137 - 740 1h7AddAla6y 3,433,772.2 2,883,772.2 550,000.0
afigo”
2951 | 09 | 5 | 1 |2AWS1ARA6ST3Y 1236 WC3ASTAoAlA0Y 3,433,772.2 2,883,772.2 550,000.0
2960 | 09 | 6 | O | TAA&GAI3YA TA3031/1740 0A=Y13T 589,802.4 39,802.4 550,000.0
136340446V Y»h
afigo
2961 | 09 | 6 | 1 |TAA&AISYA WA=U31AT40 0A=3Y1=3T 1=2¢3(40AlA5YY»A 589,802.4 39,802.4 550,000.0
3000 | 10 [0 | O €a0k£2t2T20 a2pT1a=20a0Aluacu 1,905,087.4 1,905,087.4 -
=1 A4
3070 | 10 | 7 | O |846¢3E3T3Y N3wadl 3w aYaiAlasyy»i (3l 686,590.5 686,590.5 -
13E»ACY 4831 T3Y40)
afige
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=t ATai0

[l . IR pe . .- N .
{:Z < »%L = ~ 46> SICY TSEE»AC -an1=63T3Y 1363130 U3y AVLSUnTA
,:E = CBL _5 EB" UBACYY»AC, EUN»AC =™ 13E»AC 3Y T3YaUY»iA T3AEST3Y plasc» | yavas3(cy ulasc»
1 2 3|4 5 6 7 8

3071 | 10 | 7 | 1 |@46C3E3T3Y R=1asl SAwavasAlasyY»f (S 13e»AcY 686,590.5 686,590.5 -
3A3T1=2Y40)

3090 | 10 | 9 | 0 |846C3E3T3Y &A3BUA3YAdAla6Y (3IF 136»ACY 1,218,496.9 1,218,496.9 -
d&3113va0)
anco

3091 | 10 | 9 | 1 |@46C3E3T3Y A3RWASYAIAIATY (S 13é»ACY 365,216.9 365,216.9 -
3A3T1=2Y40)

3092 | 10 | 9 | 2 |@46C3E3T3Y A3RTASYAAISYA WiA=U=31AT40 0A3Y13T 853,280.0 853,280.0 -
1=3¢3{a0AlasYY»A (3 126»ACY 4831 13Y40)

3100 | 11 |0 | O pAZU=2T=2U “2A£0U°8£U a_=2&1a0 4,280,256.0 5,014,800.2 20,000.0

a2padéeT=2ULU nal _©s

31 ATa0

3110 | 11 | 1 | O |PD IBE3T3040AI3Y = N3USIYOY»ii¢ 4,280,256.0 5,014,800.2 20,000.0
a3Nai613icy yayr
&RCo

3112 | 11 | 1 | 2 |PP N=3U3VaY»A¢ &=3Nase w=ICY yavr 4,280,256.0 5,014,800.2 20,000.0
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D3I»EI3IN3
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©5°120U£ 2017 AT 2T2UE ~Ua0ek 126a2T2U i tal _ 2UEU 926080 D2TT20a00U°8A° AéT ~UatecT2UEU 12E6°5F
TUTPe21£T2T2U _ 2621259020

(N=%=f 1A3UY»RAT)

= A iy TmEma A el o e 31 ATa0
cEz 806> =G ISEEHNC IV W»e=-CUr=1=y. NN INZEVN7 — —
== 1363134. U3Y Na1 TS TY»AC Y T3VaUY»AA 3fasT3Y paic» | yavrsicy plasc»
1 2 3 4 5 6
4000 |AU_2@°UA 12Eé°s 84,412,931.5 84,334,931.5 832,544.2
31 A4l
4050 | 2. AUA20ET 12Eé°5 X 83,600,387.3 84,334,931.5 20,000.0
31 A4l
4100 |1.1 2pE=2T2Ugk 12802T6adA0acU X 6,400,335.5 6,400,335.5 -
31 ATa0
4110 | _&62gai 1026140 2pE2T212580°8 ©i X 6,400,335.5 6,400,335.5 -
p2i°E21028U°8
&RCo
4111 |- 2RE3TAOY»AC SRES TS T3A0»A ~ NS T»E3 Tx3AY»f 4111 5,641,797.1 5,641,797.1 -
4112 |- &3-S TRAUY»A, 1ASUST3Y EASE&IeaUY»A ~ N3 wasT 4112 758,538.4 758,538.4 -
Tx3AY»A
4200 |1.2 12&20acAlaclUesk i1 2a62UgU°sk X 15,413,070.5 15,413,070.5 -
0ceg °3a6D
31 A4l
4210 | p25a002T2T=2U 12Eé&°56 X 7,904,974.8 7,904,974.8 -
&RCo
4212 |- %Y»f-»0CT 1363(a0AlasYY»fi 4212 286,123.2 286,123.2 -
4213 |- TaU&sY=3t 1=2é6=3(a0AlasyY»f 4213 7,132,244.4 7,132,244.4 -
4214 |- T3&C 1=363(40Al40YY»h 4214 211,182.6 211,182.6 -
4215 |- 2&43Nai=-A3T3Y I3Eé»A 4215 165,468.3 165,468.3 -
4216 |- T&lUC " e3AUS TaRaUY»AC TSA0ST3ta0Ala0Y 4216 109,956.3 109,956.3 -
4220 | Tads1a60a8U°sk @i bdae2T20acAlasuuess X 64,798.0 64,798.0 -
12Eé°s
&RCo
4221 |- U»A0GY -afTas0asuy»f 4221 48.0 48.0 -
4222 |- 2 wr=3e3NU=3YI3Y -anT4i0a0Y»AC - TAT 1=2Eéx»h 4222 64,750.0 64,750.0 -
4230 | 4202202962040 20t 12&20a0A0a000U°sL 0°eg X 1,900,079.8 1,900,079.8 -
“o5a60
&RCo
4231 |- i 3AEST3Y 1363(a0AlasYY»A 4231 4,328.4 4,328.4 -
4232 |- 30=3T31-53(CY 1=363(40Al46YY»h 4232 37,742.0 37,742.0 -
4233 |- 2RE3W3T34UC UBEY3-Cr3T3Y 136 - 3603Y 4233 12,430.0 12,430.0 -

1=63{a5Ala5vY»h
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=t ATai0

[&0c» 1 3ICY ISEE»AC TY T »E3-CH3I3Y AV A
[ P A ngstin e S NN AY13(»YA —
= 1383734 U3Y NAaL T3 TV»A¢ 3V T3VaUY»iA > T3fEST3Y ase» | yavrsicy wai»
1 2 3 4 5 6
4234 |- DO 13T T3T3Y 1363(40Al46YY»h 4234 70,957.9 70,957.9
4235 |- T3E3T3a3T3Y 1363(40Al40YY»h 4235 10,000.0 10,000.0
4237 |- U»AT3[=064003T3Y I3Eé»ii 4237 125,081.9 125,081.9
4238 |- AYIN=3Ya6A uvailAc 3l 1=63{a0AlasyY»h 4239 1,639,539.6 1,639,539.6
4240 |20k @2eU29£T2T20 12&20a0A0a0UU°8E OCen X 102,277.9 102,277.9
“o3ai0
&RCo
4241 |- @36Y=3-CW3T3Y 1363(40Al40YY»h 4241 102,277.9 102,277.9
4250 | AUA26AT UadaTasd @i azpa2lasd (1=3é63(asAlasyY» X 4,848,958.5 4,848,958.5
 YiaoA»i)
&RCo
4251 |- b»YU»AC " T3640l6Y»AC AYAS6CT Yana- 46U~ &=Na&=3VaiU 4251 4,581,530.6 4,581,530.6
4252 |- @»U»Y3Y»iC " 63AUSTaRaUY»AC AYAS6CT Yafia- a0 — 4252 267,427.9 267,427.9
a=N&=vail
4260 |UUabA°s X 591,981.5 591,981.5
&RCo
4261 |- TA=e»YIST3ICY YiaoA»h = N=- &8 4261 85,118.5 85,118.5
4264 |- TAi=Ye&ART3ICY YiaoA»h 4264 215,521.1 215,521.1
4267 |- T»Y6=20=3(CY ~ N=YASICY 6YY1C YiadArh 4267 23,511.2 23,511.2
4268 |- D3Tall YAST3T3(CY 3 YiaoArh 4269 267,830.7 267,830.7
4400 |1.4 éad” ek _£=20°s X 34,600,094.6 34,600,094.6
31 ATa0
4410 |éas” ek _£=20°8 a°12T120 (02020Us20£0) X 34,341,155.6 34,341,155.6
T2v.@2T°8420A0a000°84£0
aRCo
4411 |- &UECIC3Y»A 4 yOY3YE3T3Y &» w313y (N3U3Yu=i(cY) 4511 34,317,665.6 34,317,665.6
T3UUST»A&40AIA0YY»ACY
4412 |- €&UECIC3Y»A YCYSYEST3Y &» w313V (\2U3IVu=(CY) 4512 23,490.0 23,490.0
T3UUST»AA40AIA0YY»ACY
4420 |éab” ek, £2U°8 aa a°1212U (44 p2@2U0e=ULU) X 258,939.0 258,939.0
T2v@2T°8420A0a000°64£0
&RCo
4421 |- 8ABPECIC3Y»A 43 &» I 3T3Y (4d N3U=3IYu3ICY) 44 4521 258,939.0 258,939.0
YCY3Ye3T3Y T3%UST»AA40AIA0YY»ACY
4500 |1.5 _&82@2pUasples X 432,840.2 432,840.2
31 Ata0
4530 |AUAZOAT _52@2pUaspUes a°12T120 p2Ti21£ 20k X 432,840.2 432,840.2
2128 _2TU°8£U
&RCo
4531 |- AYA=6CT 1A3U3/YAANY»A &»3T3Y " NSUSIVUY»AC 4d 4637 39,463.4 39,463.4
3¢ TASICY T3%UST»AAA0AIAYY»ACY
4532 |- AYA=6CT 1A3U3RYAANY»A &»1r3T3Y ~ SU=Vu3(cY 4638 66,781.6 66,781.6

3¢ TASICY T3%UST»AAA0AIAYY»ACY
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=t ATai0

[&0c» 1 3ICY ISEE»AC TY T »E3-CH3I3Y AV A
c = o M S S ok NN AYL3U»YA ———
= 1383734 U3Y NAaL T3 TV»A¢ 3V T3VaUY»iA > T3fEST3Y ase» | yavrsicy wai»
1 2 3 4 5 6
4533 | - 2[f AYA=6CT 1A3U=RYARANY»A 4639 326,595.2 326,595.2 -
4600 |1.6 éa0£2E2T20 Uazétuos ©i X 2,374,121.0 2,374,121.0 -
TeUézAap2TU°s
31 Ata0
4630 | éaok=2e2T=20 uUasAl=20 6282120 X 2,374,121.0 2,374,121.0 -
25T2p20Ta0Al2g~ Uaz2éeTuos ~UateCro)
&RCo
4634 |- 2k YA3EWY»h plaic»Co 4729 2,374,121.0 2,374,121.0 -
4700 |1.7 2UE 12Eé°5 X 24,379,925.5 25,114,469.7 20,000.0
31 A4l
4710 | U1 AE82TTa0A0ac0Ues aa 12621262120 X 907,998.8 907,998.8 -
(p2&262T2T20) T2v@2Ted84a0AUa000°84£0
&RCo
4712 |- UTCA=rTasAlasYY»A 3k 8=RaslA al»r=ay1ad 4819 907,998.8 907,998.8 -
T3UUST»AAA&0AIAYY»ACY
4720 |D28T°6, 426T2_£d 10280°8 ©1 TasUA°s, asals X 117,313.1 117,313.1 -
1282128020 7267 8 @2128_ 2TU°sL Tad@ko
TES2&T a0d ©U @AaU2006 UT2T020"
aRCo
4723 |- A3AT31CA Tx3AY»f 4823 117,313.1 117,313.1 -
4760 |2UE T2Eé°s X 14,814,101.6 14,814,101.6 -
&RCo
4761 |- 2 I3Eé»i 4861 14,814,101.6 14,814,101.6 -
4770 | a=2patéT2UEU gExaolos X 4,280,256.0 5,014,800.2 20,000.0
&RCo
4771 |- &3Na66=3ICY UCcaoY»h 4891 4,280,256.0 4,260,256.0 20,000.0
4772 | = AT40° R=3U3IYUC plade»C T3AEST3Y U=6C &=Naoew=IcY X - 754,544.2 -
YaY10o yayY1=3(cy U=e T3 w3140 N3 T36400Y»AA
5000 |~.aa ukU=20é2T20 2TTAi1UCsA T1ail X 4,888,297.4 - 4,888,297.4
12Eé°s
31 ATa0
5100 | 1.1 pAGU=2T=20U gr=aoU°d X 4,743,497.4 - 4,743,497.4
31 A4l
5110 |p2Ug®s @i bA£UaAUAUUCS X 3,813,281.5 - 3,813,281.5
aRCo
5112 |- b»YU»AC ~ RCYASAIASYY»AC TSé45640U 5112 895,440.0 - 895,440.0
5113 |- b»YU»AiC ~ BCYAAIASYY»AC TSACT3E I»A=3Yana- aU 5113 2,917,841.5 - 2,917,841.5
5120 |@°g°2U=20°8 ©1 &285=21ada600°8 X 740,165.9 - 740,165.9
&RCo
5121 |- TASYEA&A3(CY &3Au=Tanaily»h 5121 20,000.0 - 20,000.0
5122 |- 135313V 6303 14RaUY»h 5122 49,4426 - 49,4426
5123 |- 2t U»0»Y3Y»A —~ 63A03 TanaiUY»i 5129 670,723.3 - 670,723.3
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=t ATai0

= A EEAL A i A e -
E% % 1:-U'-aépg)l'i"'-ﬁ U%YE'-IY Ngi?r;?i;gﬁ:;)ﬁY |’3CYIé6L‘JIY»\r":A NN AYESU»YA T=E=T=3Y plase» | yavr=icy pladc»
1 2 3 4 5 6
5130 |=2UEpA@U=2T2U gEza0U°s X 190,050.0 - 190,050.0
ance’
5132 |- &a YiasA=1=3Y NCUYST3Y UCcadY»fi 5132 300.0 - 300.0
5134 |- UZE=-13»13haT3T3Y [SEé»i 5134 189,750.0 - 189,750.0
5200 |1.2 42p25U°3 X 144,800.0 - 144,800.0
31 A4
5221 |- UldsA»fA = &=3/=-3Y»f 5221 144,800.0 - 144,800.0
6000 | 9. aa ukU=20é2T20 2TTEIUCHL £520A200£0 X (4,075,753.2) - (4,075,753.2)
PaiTe°d
31 A4
6100 |DEGU2T2U GE2a0UCSE £520A00E0 BATECS X (650,000.0) - (650,000.0)
31 A4
6110 |20p25A Ta0Ugk £520200£0 BadTe<d 8111 (650,000.0) - (650,000.0)
6400 |428T2_8121 2TTET1UCBE £520200K0 X (3,425,753.2) - (3,425,753.2)
PaiTe°d
31 A4
6410 |DAOK EB20A00/E0 BAITEOS 8411 (3,425,753.2) - (3,425,753.2)
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1 2 3 4 5 6

8010 AU, 2@°UA 68,000.0 - 68,000.0
3 ATao0

8100 2, U°sgkU 207 Uassued 68,000.0 - 68,000.0
3 ATao0

8160 |2. ukU2Ué2T=20 2TT£TU°S 68,000.0 - 68,000.0
EENITIN)

8161 |2.1. “3AV»Talé»i " T2ACT3tail 3t U3eY=3T6a0AlasY (132,000.0) - (132,000.0)
3 ATao0

8164 | 3AY»WAaUex»fiC »T TBACT3tail 3k U=eY3T640AIBY 0»éu p»iiadl 6213 (132,000.0) - (132,000.0)

8190 |2.3. D3U3(YUC plade»C UGCA0Y»AC WSinE g 200,000.0 - 200,000.0
337 JY364i1A°
3 ATaoU

8191 |2.3.1. B3USIVUC paie»C T=Aa=ST3Y USEC UCcaoy»fic 9320 200,000.0 200,000.0 -
T3i»eTHUC 3%3T1 UY364i
4ACo’

8192 | - »VASTS ; 4000U=Y NSUSIVUC pldierC T3E=T3Y U606 YSE&R - - -
T3hau y(;Y3\~("e‘3rl'réﬁU3__Y »YA3‘I3,V ¢3I3UY ayCy3ve3tani=31"3¢1=3
AN 3T1anaAlasyY»nc T3 13AU3YA

8193 |- »YA=T= ; 4500U=Y N=U=(YUC plase»C yayY1=3(gy U=e 200,000.0 200,000.0 -

8194 | 2.3.2. B3USIYUC piaie»C ya¥13iCy U=eC UGcaoy»iic 9330 200,000.0 - 200,000.0
T3irE TG VY3647
ER)

8196 |- I3fa=T3Y U36C UCCa6Y»AC W3inelhuC %3 UYS064n10o yay13icy 200,000.0 - 200,000.0
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o2 3| E E3__ Hlaoe» W SICY TSEE»AC WY 183 -Cur3T3Y ES= T35313Y plade» | yayr=(CY ulase»

a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9
AU _2@°0A 12E&°5 84,412,931.5 84,334,931.5 832,544.2
2100|010 | O AU _p2Ua0d 'UapUA/E p208=2UEU 8,390,893.1 8,145,300.5 245,592.6
T12&20a0Alas00°s

31 ATa0

2110|011 | 1 | O |aA»Yé1Ch = -aAT310A USBAUCYY»A, 7,987,099.8 7,916,257.2 70,842.6
E»T313Y 13637301400, yCY=3Vesrsy
N3[T3ulase» T3ICY N3A31u»a6Alacy VA,
BAT30CY N3ASBu»AaoAlasy Y»n
&RCo

2111|01| 1 | 1 |GA»YELCA ™ -aRT31CA USAUCYY»f, A»n3T3Y 7,973,099.8 7,902,257.2 70,842.6
136313400
31 ATa0
1. T3633A0U3Y U3A0YC §3NE3Y4U 7,960,099.8 7,898,057.2 62,042.6
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 5,211,863.9 5,211,863.9 -
N3 T»E3 Tx3AY»A
- a3 3rnailY»i, 1ASBUST3Y EASEajeailY»h 4112 758,538.4 758,538.4 -
N3wasT Tx3AY»A
- WY»A-»WCT 1263[a0AIa6YY»f 4212 275,344.2 275,344.2 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 16,344.8 16,344.8 -
- T3AC 1363(apAlasYY»fi 4214 207,666.4 207,666.4 -
- 283413 -A3T3Y I3Eé»A 4215 4,684.3 4,684.3 -
- aluC  e3AUSB TaRaUY»AC TSA0ST3ta0Al40Y 4216 91,325.0 91,325.0 -
- 2iw=2e3(03Y(3Y - 4fT1400400Y»AC - TAT TSEéxf 4222 64,750.0 64,750.0 -
- 13AEST3Y 1363{a0Ala0YY»h 4231 4,247.9 4,247.9 -
- D3U3T3A-53UCY 1363(a0AlIa5YY» 4232 37,742.0 37,742.0 -
- 2RE3WIT33UC UBEYS-C3T3Y %36 - 3603Y 4233 12,430.0 12,430.0 -
1=3¢3{40AlasY Y»h
- DO TSTTST3Y 136340Ala0YY»h 4234 47,187.9 47,187.9 -
- T2E3T3E213Y 1363{a0AlacYY»h 4235 10,000.0 10,000.0 -
- U»AT3(30640083T3Y I3Eé»ii 4237 125,081.9 125,081.9 -
- AY1R=V45 pYa&slAc 3 1=363(40A146YY»h 4239 86,662.5 86,662.5 -
- @2eY32-CU3T3Y 1363(aAlasYY»fi 4241 10,227.9 10,227.9 -
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a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

- @HU»YRY»AC 6303 TaRaiUY»A¢ AYA=6CT 4252 265,936.6 265,936.6 -
Yafia- &l ~ a=N&=vasl
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 75,991.9 75,991.9 -
- TASYEAAANT3ICY YiaoA»f 4264 214,458.5 214,458.5 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 22,277.3 22,277.3 -
-D3WAT YASW21=(CY 3 YidsA»h 4269 7,850.0 7,850.0 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 279,718.5 279,718.5 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
- 2t Y&=3ewY»h pliadc»Co 4729 43,100.0 43,100.0 -
- A3A31CA Tx3AY»h 4823 3,127.3 3,127.3 -
- 2[f I=Eé»h 4861 21,500.0 21,500.0 -
- TABYEAAAT3(CY e3fu=TanaiUuy»h 5121 10,000.0 - 10,000.0
- I3EST3Y 6303 1anaUY»h 5122 49,442.6 - 49,442.6
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 2,300.0 - 2,300.0
- &4 YiasA=T=Y NCUY=3T3Y UCgadY»h 5132 300.0 - 300.0
2. 1 3A4313Y GQui» T1Y»AC NCUY3Yafa - 46U 13,000.0 4,200.0 8,800.0
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 4,200.0 4,200.0 -
a=N&=vail
- b»YU»AC ~ RCYABAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 8,800.0 - 8,800.0

211301 | 1 | 3 |2AW30CY N3A=3p»AadAlasyY»h 14,000.0 14,000.0 -
31 ATa0
1. O[3y 43030¢Y UCc3Y- 3icY I3Al=3YCR 14,000.0 14,000.0 -
BY&rN»£a0 [3E3a6AlacYY»A¢ 1CU36 Ix3aU3Y
I3Eé»A
- AY1(3VasA uYaslAC 3k 1363(aAlasYY»fi 4239 14,000.0 14,000.0 -

2130|01 | 3 | O |AYZINZ3YE6A uYadiAC F=6340AI40YY»A 92,931.3 92,931.3 -
&RCo

2131|01| 3 | 1 |2BRE3T3T3WC /T31A»AC/ - TaT AYIN=YasR pYasiAc 92,931.3 92,931.3 -
1363([40Ala0Y Y
31 ATa0
1. g303036C313Y 13040A13Y STa>A¢ 92,931.3 92,931.3 -
-ABYOU3Y [363a0AI3Y - 4AT40Y»40AI3Y
I3yU3»Adail (3T ICASIT3T
EQ 3%éﬁéiﬂﬂéi?y»ﬁ)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 80,237.5 80,237.5 -
N3 T»E3 Tx3AY»A
- %WY»A-»wCT 1263[a0AIa5YY»f 4212 5,143.7 5,143.7 -
- Tal&sY3t 1=3é3{a0AlasyY»h 4213 148.6 148.6 -
- T2AC 1363{a0AlasYY»h 4214 1,645.6 1,645.6 -
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a| = 1363137 U3Y NATT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9

- aluC T e3AUS TaRaUY»AC TSAOST3ta0Al40Y 4216 624.3 624.3 -
- 13AEST3Y 1363{a0Ala0YY»h 4231 80.5 80.5 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 391.1 391.1 -
Yafia- &l ~ &=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 3,930.5 3,930.5 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA» 4267 654.9 654.9 -
- A3AT31CA Tx3AY»f 4823 74.6 74.6 -

2150| 01| 5 | O |AY2N=Yaon uYadiAc N=YAZicy 174,750.0 - 174,750.0
I363a6AIaYY»i¢ - IAT N> 13441313y
YSEZ.[3gY 3BE3T3Y0Y»A
&RCo

2151|01| 5 | 1 |AY2R=Vasn pYaslAc NSYASICY 1=¢3{a0AlasYY»AC 174,750.0 - 174,750.0
-TAT >0 3BAT3T3Y ~ V3E=- [3(CY
SREST3YUY»A
31 ATa0
1. USE3-[3cY SE3T13Y0Y»i 126,750.0 - 126,750.0
- U3ES- I r3aT3T3Y 1SEéx»i 5134 126,750.0 - 126,750.0
2. O[3y 43030¢ -FE3Tai N3 T313-1¢ 18,000.0 - 18,000.0
CAZT3Y36U3Y i»AfdolaoAlaoy
- USE=- 1213 r3T3Y [SEex»i 5134 18,000.0 - 18,000.0
3. T4TC3idAU3Y ~ 1364063831U3Y 20,000.0 - 20,000.0
Y3E3- I»AC UB3146U
- USE=- 1213 r3T3Y [SEex»i 5134 20,000.0 - 20,000.0
4. p303038CY3T13Y [A=-A»AC UBZT460 10,000.0 - 10,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 10,000.0 - 10,000.0

2160|01| 6 | O |AYZN=Yaon uYadiAc N=YAZicyY 136,112.0 136,112.0 -
T36340AI46YY»i (SIF 136»ACY 4831 T13Y40)
&RCo

2161|01| 6 | 1 |AY2R=VYasn pYaslAc NSYASICY 1=¢3{a0AlasyY»h (3 136,112.0 136,112.0 -
13¢»ACY 383 T3Y40)
31 ATa0
1. _ QUEbUY»A, N3631cU400Y»A, 13 13A3YC 48,740.0 48,740.0 -
4AABRA0UY»AC ~~ IxCeY»AC 1))0 I»A30YYCa
Tx63u» I ud0auY»A Y»AI3I36Y»ECe
E3NU3Y 3T Ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 48,740.0 48,740.0 -
2. 4dla¢ YIS ¥ U30u CAST40YuY»Ac 87,372.0 87,372.0 -
-A3YOU3Y, -YINZHU3Y =
T»0» IBTT40AI3Y TASU31AU3Y N» T
134731 ix3A460Y»i
- @36Y=2-CU3T3Y 1363{a0AlasYY»h 4241 24,050.0 24,050.0 -
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a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

- A3A31CA Tx3AY»h 4823 63,322.0 63,322.0 -

2200(02|0 | 0 azptazlasAlasy 56,990.0 56,990.0 -
31 ATa0

2220102 | 2 | 0 |@=3030306C313Y 3871 &3Y40Al40Y 16,000.0 16,000.0 -
&RCo

2221102 2 | 1 |@=030=6C3T3Y &=3RwaA3YaiAlasy 16,000.0 16,000.0 -
31 ATa0
1. 303036C313Y 4380 &3YA0AI3YY 16,000.0 16,000.0 -
Sc31640Alasy
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 15,000.0 15,000.0 -
a=N&=vail
- MAZE»YIST3ICY YiaoA»A ™ N=- 408w 4261 1,000.0 1,000.0 -

2250|102 | 5 | 0 |&380E3Ya0AI40Y (3IF 136»ACY 4431T3Y40) 40,990.0 40,990.0 -
&RCo

2251102 | 5 | 1 |a3Rwa3YaiAlasY (S 136»ACY 4a=3wT3V40) 40,990.0 40,990.0 -
31 ATa0
1. %CY3E3AUY»AC N3BT36U3Y, %aA3144C, 17,500.0 17,500.0 -
%an3N3i3u¢ ~ I2AAZ13Y N3T30Y»A¢
I3BU31>A8U3YY Sc31640AI46Y
- AY1(3VasA uYaslAC 3l 1363(aAlasYY»fi 4239 1,000.0 1,000.0 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 16,500.0 16,500.0 -
2. ZAYTAZYO3IcY SRE3T=3Ya3icy 23,490.0 23,490.0 -
[363a6AI3Y CAZT13Y=36460
- @AIPECLIC3Y»Ai YCYSYEST3Y &» 313y 4512 23,490.0 23,490.0 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY

2400/04|0 | O TUTeE2T20 p2582" 2520AUa000°s 15,423,705.6 18,480,554.0 (3,056,848.4)
31 ATa0

242004 | 2 | O | 7i&003TY U »édiAldcy, 3Yr3e3icy 73,581.5 - 73,581.5
TYU»E40AldoY, O1YanéasAlasy —
anganiaAlacy
&RCo

2424104 | 2 | 4 |aéa-4&il 73,581.5 - 73,581.5
31 ATa0
1. aéa-U3y 63Yo¢ 136406460~ 73,581.5 - 73,581.5
I»A3YAai4 - 46U
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 70,000.0 - 70,000.0
- P»YU»AC ~ RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 3,581.5 - 3,581.5
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a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

2450|04 | 5 | 0 | TA=YEB4AT 18,323,969.3 17,383,646.0 940,323.3
anco

2451|104 | 5 | 1 |03Y=2&4=3Al3(CY WASYedanT 10,736,987.4 9,900,187.4 836,800.0
3t Ata0
1. 26y3a-u» 7 aYI3 I3I1¢ i»A3Yaha- 400 3,636,000.0 3,636,000.0 -
a3N83vYaoU
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 3,636,000.0 3,636,000.0 -
as3la=val
2. 2ey3a-u» T aYIZ 1311 NCUY3YAAE - 46U 70,000.0 - 70,000.0
- b»YU»AC ~ RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 70,000.0 - 70,000.0
3. CYAS03f»AC T»A3YAN4 - 46U 46,250.0 46,250.0 -
- P»YU»AC " T2840l6Y»AC AYAS36CT Yana- a0 4251 46,250.0 46,250.0 -
azla=val
4. D»Y3E3U»AC I»A3Y4hA4 - 460 92,000.0 92,000.0 -
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 92,000.0 92,000.0 -
azla=val
5. D»WCATY 3Y640UY»AC 136406400 " 412,000.0 7,000.0 405,000.0
I»A3YAahi4 - 46U
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 7,000.0 7,000.0 -
as3la=val
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 405,000.0 - 405,000.0
6. T3UAc3ICY 136406 I=IaY»AC 90,000.0 90,000.0 -
I»A3T3Y- Y460~ 83NE3Y460
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
7. DASBI3Y TCAXC u3ii» 13- 40U 2,000.0 2,000.0 -
- Tal&sy=t 13¢3(a0AlaoY Y»ii 4213 2,000.0 2,000.0 -
8. P3IA460CY»AC ~~ =A046Y»Ag 50,000.0 - 50,000.0
I»A3136406400 " NCUY3Yéarid - 46U
- b»YU»AC " RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 50,000.0 - 50,000.0
9. 64046Y»A¢C E3NE3YAiU » i B3N= - 4AT40U 60,000.0 60,000.0 -
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 20,000.0 20,000.0 -
azla=val
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
10. ZiwaI3[3Y30»0¢ 13403 1>1803Y 817,000.0 817,000.0 -
136346AlacY
- 2 I3Eé»h 4861 817,000.0 817,000.0 -

22




= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
Tz g T g HACYDIC BUAC " 13esic, (aEmE V2" |3 o aqaapuia
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a| =2 1363137 U3Y NATT3IV»AC SYT3YAUY»AA =
1 (2|3 |4 5 6 7 8 9

11. A»u3N3AA31Y»AC 136406460 47,000.0 - 47,000.0
- b»YU»AC " BCYABAIAGYY»AC TSé45640U 5112 47,000.0 - 47,000.0
12. 2 7audiéy»aail A»u3N3aA31Y»AC 20,000.0 - 20,000.0
383N4i&oU
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 20,000.0 - 20,000.0
13. 64046Y»AC, NASA3ASIY»AC = 3-CY»AC 274,800.0 30,000.0 244,800.0
| SIS ELE)
- b»YU»C * T3640l6Y»fiC AYASOCT Yafia- &iU 4251 30,000.0 30,000.0 -
a3fasval
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 220,000.0 - 220,000.0
- UlasA»f " &3A= - 3Y»f 5221 24,800.0 - 24,800.0
14. 2ZEC3I3Y u3YIC 3¢31640A130u 1,575,000.0 1,575,000.0 -
CA3TI3Y36i40 u=303u3icy A
»YAZIZ6400 12 1uY»AC ~ 13030¢ 13asY
B30 - B0U3Y Y»A1A46U3ICY TA=-AC CAS6U3Y
UCcd63640UY»i
- 2[f Y&=3e W Y»h pliadc»Co 4729 1,575,000.0 1,575,000.0 -
15, 26C313Y u3YIC S¢31040A130u 3,544,937.4 3,544,937.4 -
CA3TI3Y36i40 u=303u3icy A
»YAZIZ6400 1=Z1uY»AC ~ 13030¢ 13asy
%30 - 30U3Y Y»AtAasu3icy 1A3-cii
(B3TICAZTT31 EC334AA0AIA0Y V> )
- 2[f [=Eé»h 4861 3,544,937.4 3,544,937.4 -

2455|04 | 5 | 5 |EaDAT3T383A3(CY ~ 3 TASYe&aAT 7,586,981.9 7,483,458.6 103,523.3
3 ATasu
1. T»A»E3TY»AC NCUY3YEhA4 - 46U 103,523.3 - 103,523.3
- 2 U»U»Y3Y»fi T~ e3A03Tanasly»i 5129 103,523.3 - 103,523.3
2. O "3YC U» TAAAEFCT»YC SBE3T3YUY»AC 2,703,543.3 2,703,543.3 -
I3yU3I»Adail (A3 TICASIT3T
EQ 3%&’/7&74@(7??»[72
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 2,703,543.3 2,703,543.3 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
3. I»A-»TYI3 (> TTASTASYESAATAT 611,146.6 611,146.6 -
400" 4A3=4E31AU3Y [363/40Ala6Y
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 611,146.6 611,146.6 -
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % == u?ACYY»ﬁQ, ,E'L‘Ju»ﬁ(; T ASé»ic, CYiare Y3:' 3 = AV130»YA
UCJ Sl 3| E Eﬂ plade» I SICY TSEE»AC TYI»E=-Cu3T3Y Z5 T3E3T3Y pladc» | yayr3(cY ulasc»
a| = 1363T37-U3Y NALTSTY»AC Y T3YaUY»AA =
1 (2|34 5 6 7 8 9
1. “3BUBuY3I3A3Y B»YurAc N3AA 204,213.6 204,213.6 -
T3YCUY»AC I»A3Y4aha-ail
- P»YU»AC " T2840l6Y»AC AYAS6CT Yana- a0 4251 204,213.6 204,213.6 -
a=N&=vail
2. “3BUBuYSI3A3Y B»YO»AC A»a 166,952.2 54,492.2 112,460.0
T3YCUY»AC I»A3Y4ha-ailu
-D3WAT YASW21=(CY 3 YidsA»h 4269 54,492.2 54,492.2 -
- b»YU»AC ~ RCYABAIAGYY»AC TSACT St T»A3YaAa-40U | 5113 112,460.0 - 112,460.0
3. “3I3cYy T3A3I0Y»AC 1,157,479.0 204,139.0 953,340.0
E303NA383A31Y»AC NCUY3Yan4 - 40U &0
a3Na3vaoU
-D3WAT YASW213(CY 3 YidsA»h 4269 44,500.0 44,500.0 -
- AECIC3Y»A 43 &> W3T3Y (4 N3USIVU=3ICY) 44 4521 159,639.0 159,639.0 -
YCY3Ye3T3Y T3%UST»AA40AIA0YY»ACY
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 96,440.0 - 96,440.0
- b»YU»AC ~ RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 835,000.0 - 835,000.0
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 21,900.0 - 21,900.0
4. “3BU3uY3I3A3Y B YOrAC u3is134-U3Y 605,250.7 585,250.7 20,000.0
3 BRE3T3YY»i
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 476,866.7 476,866.7 -
a=N&=vail
-D3WAT YASW213(CY 3 YidsA»h 4269 9,084.0 9,084.0 -
- @40PECIC3Y»i 48 &»3T3Y (4a N=U=3Yu=IgY) 44 4521 99,300.0 99,300.0 -
YCY3Ye3T3Y T3%U3T»AA40AIA0YY»ACY
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 20,000.0 - 20,000.0
5. @A3ICY 13640l6Y»A¢ 83N=-4ilaoU 364,000.0 364,000.0 -
a3Na3vaoU
- 2[f 1=Eé»h 4861 364,000.0 364,000.0 -
6. T3A63/31Y»AC E3NE&3Y400 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»n313Y 4638 26,781.6 26,781.6 -
N=20=3Vo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
7. T3U3A3Y6400Y»AC =~ 3lE BCYAAIZ0Y V»AC 35,000.0 35,000.0 -
I»A3Yans-40U0 "~ - 40Y33p3A1460
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 35,000.0 35,000.0 -
a=N&=vail
8. TA3A3IcY E3 1B - 30uY»Ac Yaha - a6l 53,000.0 3,000.0 50,000.0
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 3,000.0 3,000.0 -
a=N&=vail
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 50,000.0 - 50,000.0
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % = u?ACYY»ﬁQ, EUp»ic = 13exfiC, CYiare Y3 3 = AV130»YA
o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

9. T40400= - I»AC 136400400 ~ I»A3Y4ha - 460 4,000.0 - 4,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 4,000.0 - 4,000.0

2700070 | O 2gadz=2a2pacAlasy 324,000.0 12,000.0 312,000.0
31 ATa0

2710|107 | 1 | O | “ABI=T3Y S&A3YaY»A, 63A0»A 78,000.0 - 78,000.0
E3AU3TaAAUY»A
&RCo

2711107 | 1 | 1 | »0=-4R13T3Y S&A3YUY»h 78,000.0 - 78,000.0
31 ATa0
1. 2640c383N313Y I'3BU31»A840AI40Y Y»AC 78,000.0 - 78,000.0
N303A uyABIZT3Y 6303 4A40UY»AC
O»éuu»Adol
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 78,000.0 - 78,000.0

2760|07 | 6 | O | 2640c383NaoAladY (S 13é»ACY 246,000.0 12,000.0 234,000.0
483113Y40)
&RCo

2761|07 | 6 | 1 |2640¢=2a=3N=3T=3Y N=3A3TC6 1=36340Ala0YY»A 246,000.0 12,000.0 234,000.0
A= - finfi
31 ATa0
1. 2640c383N3T13Y aui»T'TY»AC 194,000.0 - 194,000.0
NeuY=Yana - 46U
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaAa-40U | 5113 194,000.0 - 194,000.0
2. _AT3A3U3TEC N» T33a 1 40AI40Y V»AC 12,000.0 12,000.0 -
CAZT3Y3646U
- @36Y=3-CU3T3Y 1363{a0AlasYV»h 4241 12,000.0 12,000.0 -
3. 2640c3&43N313Y 13403 1»A840AI40YY»AC 40,000.0 - 40,000.0
N3U3f - 46luC O»é0 u»Aasl
- UldoA»f ~ A== -3Y»h 5221 40,000.0 - 40,000.0

280008 |0 | O P20 £eT, @p2TaolA i Taal 3,325,356.4 2,575,356.4 750,000.0
31 ATa0

2810|08| 1 | 0 |P3Y-67C " E834ATC I363/40AI46YY»A 451,569.7 201,569.7 250,000.0
&RCo

281108 | 1 | 1 |D3Y-6WC = eQaRWC 1=363{a0AlasYY»h 451,569.7 201,569.7 250,000.0
31 ATa0
1. 63401 3IgY UCca636400Y»AC 109,569.7 109,569.7 -
I33BU31>»A8400
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 109,569.7 109,569.7 -
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L N v Sn O s \empee

Ez 5 3 =2 HSAGYY»AC, EUPAC ~~ 138xAC, CYadne Y= 3 > AV12UsTA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 |23 |4 5 6 7 8 9

2. D3Y-EUC -dWCY»AC ~ Budé3]- CY»AC 280,000.0 40,000.0 240,000.0
136400400 46 3N&3Ya0U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 240,000.0 - 240,000.0
3. D> IBYT3NABE3AZIC 3N3 - 4A 1460 62,000.0 52,000.0 10,000.0
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 52,000.0 52,000.0 -
- TABYEAAAT3(CY 63fu=TanaUuy»h 5121 10,000.0 - 10,000.0

2820|08 | 2 | O |@B3TA0A3ICY [363a0Ala0YY»ii 2,786,461.7 2,286,461.7 500,000.0
&RCo

2821|108 | 2 | 1 |TASISAZYY»A 452,965.7 452,965.7 -
31 ATa0
1. TASI3[3Y3(cY [363a0AlaoYY»i 452,965.7 452,965.7 -
- BABPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 452,965.7 452,965.7 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

2822|108 | 2 | 2 |A=3Y-3A3YY»A ~ 64636A3NY»f 251,995.4 251,995.4 -
31 ATa0
1. A3Y-3A3Y3(cy [363a0Alaoyy»ai = 251,995.4 251,995.4 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 251,995.4 251,995.4 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY

2823 |08 | 2 | 3 |@R3TAHAC WY»f, STaUUY»f, T»Y TAAYY»f 110,915.8 110,915.8 -
31 ATa0
1. D3U3Yo3igY UBZTE0IAC ~ 3331 A303Y6¢ 110,915.8 110,915.8 -
I33BU31>»A8400
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 110,915.8 110,915.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY

2824108 | 2 | 4 |=2[f UR=TAIAZICY T3HUZT»AAA0AIAEYY»h 1,482,877.1 982,877.1 500,000.0
31 ATa0
1. OB3TA6A3ICY UCcAd3640UY»AC 730,805.7 730,805.7 -
CAZT3Y3646U
- aluC  e3AUS TaRaUY»AC TSA0ST3ta0Ala0Y 4216 4,400.0 4,400.0 -
- AY1(3VasA uYaslAC 3k 1363(aAlasYY»fi 4239 692,405.7 692,405.7 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 20,000.0 20,000.0 -
- UTCA=T TasAlasyY»i 3l =flasld al>r=ay1a 4819 14,000.0 14,000.0 -
T3UUST»AA40AIA0YY»ACY
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

c = % = u?'ACYY»nQ,,E'Up»nC 380G, CYdare Y= 3 = AV130»YA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

2. T»Y13y3u3y313y 3. 4§ 252,071.4 252,071.4 -
040031A40AI46YY»A
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 252,071.4 252,071.4 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y »ACY
3. I»Y13Y3y3Y3[3Y 3)- 46 NCUY3Y4A4 - 40U 500,000.0 - 500,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACTSE T»A3YaAa-40U | 5113 500,000.0 - 500,000.0

282508 | 2 | 5 |2fi»eW 473,707.7 473,707.7 -
31 ATa0
1. CABABT3Ai»ETC "~ 83A3AI»E1C 111,651.3 111,651.3 -
N3Ux»A - Y»i
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 111,651.3 111,651.3 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
2. ABI»A3I3Y Y»AI3/36460Y»1A 362,056.4 362,056.4 -
- @40PECIC3Y»A 48 YCY3YEe3T3Y &» w313y 4511 362,056.4 362,056.4 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY

2827|108 | 2 | 7 |PAIRZAOBYY»AC  URSTAASICY SAA»UY»AC 14,000.0 14,000.0 -
»A3T3Y - Yail ~ a3(a3vail
31 ATa0
1. DAGB3A0BYY»AC I»A3Yaria-ail 14,000.0 14,000.0 -
a3Na3vaoU
- AY2R=V45n pYa&slAC 3 1=363(40A146YY»h 4239 6,000.0 6,000.0 -
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 8,000.0 8,000.0 -
a=N&=vail

2830|08| 3 | 0 |@31(04 ~~ N»é4oe 13N304A1460Y»AC 56,000.0 56,000.0 -
N»83A0ZTU3Y ~ NAST3A3154313Y
13631464146V Y»i
&RCo

2831|08 | 3 | 1 |D»éatew=¢=1CaN=04ar1aiUY»f 56,000.0 56,000.0 -
31 ATa0
1. 303038»T3A3YC SRE3T3Y0Y»AC 56,000.0 56,000.0 -
f4063u=vYail
- @36Y=2-Cw3T3Y 1363{a0AlasYY»h 4241 56,000.0 56,000.0 -

2840|08| 4 | 0 | TA&Y3I3Y =~ N=63A=31313Y 3 31,325.0 31,325.0 -
[ 36340440V Y»A
&RCo

2843 |08 | 4 | 3 |TRAYST3Y " (=263A3T3T3Y 3 1=¢3(40Ala5YY»A 31,325.0 31,325.0 -

SENSE)
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“lade» W 2CY TSE&»AC -afl=63T3Y 1363T3/.03Y | & 31 ATa0

= 3| oy Y. S ‘o . =]

Ez 5 3 =2 HBACYY»AC, EU»AC ~ 13¢xfiC, CYadme Y3 e AVL30nVA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|3 |4 5 6 7 8 9

1. 2Y13U31640AI3Y ix3AY»f 31,325.0 31,325.0 -
- UTCA=T TasAlasyY»i 3l s=flasld al>r=ay1a 4819 31,325.0 31,325.0 -
T3UUST»AA40AIA0YY»ACY

2900(09|0 | O ToAasAlaU 28,235,694.5 26,965,694.5 1,270,000.0
31 ATa0

2910(09 | 1 | 0 |UBE3147A46313Y T3AA3I3Y AYIN3YE0A 14,920,419.7 14,750,419.7 170,000.0
TAA&0AIAsY
&RCo

2911|109 | 1 | 1 |USE=314/463T3Y TAAaoAlasY 7,893,142.7 7,723,142.7 170,000.0
31 ATa0
1. USE318A46313Y 406406460 7,714,614.8 7,714,614.8 -
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 1,600.0 1,600.0 -
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 7,713,014.8 7,713,014.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY
2. UBE=315/46313Y 406406U3Y A 170,000.0 - 170,000.0
I3BU3T»>A803Y N3U3A SYNAZ3A»BT - 46/0C
O»éu u»Adol
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 170,000.0 - 170,000.0
3. USE3147146313Y 1nAadAlacy 8,527.9 8,527.9 -
(B3TICAZTT3 EC334AA0AIA0Y V> )
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 8,527.9 8,527.9 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2912|109 | 1 | 2 |T3AAST3Y AYLIN3VYaoA TRA&SAIASY 7,027,277.0 7,027,277.0 -
31 ATa0
1. D3YASTAASI3Y 466460400 6,230,956.6 6,230,956.6 -
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 6,230,956.6 6,230,956.6 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY
2. D371 461 1544040467 160,021.8 160,021.8 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 160,021.8 160,021.8 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY
3. U»A36313Y 1hA4cAla6Y 636,298.6 636,298.6 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 636,298.6 636,298.6 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2920|109 | 2 | O |@CeY3T3A- AYIN3YAdA TAAEAIAGY 9,291,700.2 9,291,700.2 -
&RCo

2921|109 | 2 | 1 |BCUY=T3Y AYAN=Yadn ThAASAlAGY 9,032,054.5 9,032,054.5 -

=t ATai0
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“lade»r3ICY I2EE»AC -aAT3¢3T3Y 1363T3/-03Y | T 31 ATa0

= 3| oy Y. S ‘o . =]

Ez 5 3 =2 HSAGYY»AC, EUI»AC ~ 238xfiC, CYadne Y3 3 > AV12UsTA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

1. D3YASTAASI3Y 406406460 8,083,390.9 8,083,390.9 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 8,083,390.9 8,083,390.9 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. D37 461 17A46AIa6Y 210,957.1 210,957.1 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 210,957.1 210,957.1 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
3. U»A=36313Y 1AdiAlasy 727,785.8 727,785.8 -
- BAPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 727,785.8 727,785.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGYY»ACY
4. CA»T4/=3Y 1HAdcAlasy 9,920.7 9,920.7 -
- @40PECIC3Y»A 48 YCY3YE3T3Y &» w313y 4511 9,920.7 9,920.7 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY

2922109 | 2 | 2 |@CeY=3T=3d- (FACT) AVIN=Vasn TrA&sAIASY 259,645.7 259,645.7 -
31 ATa0
1. D3YASTAAST3Y 406406460 195,771.4 195,771.4 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 195,771.4 195,771.4 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. D37 461 17Ad6AIa6Y 41,597.2 41,597.2 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 41,597.2 41,597.2 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
3. U»A=36313Y 1AdiAlasy 616.8 616.8 -
- @40PECIC3Y»A 48 YCY3YE3T3Y &» w313y 4511 616.8 616.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. CA»T4/=3Y 17AdcAlasY 21,660.3 21,660.3 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 21,660.3 21,660.3 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

295009 | 5 | 0 |A6T USISA13TYoA( 41363130 - 140 3,433,772.2 2,883,772.2 550,000.0
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 |2AW31ARA6ST3Y 136 WC3A3TaoAl40Y 3,433,772.2 2,883,772.2 550,000.0
31 ATa0
1. 2ZAT318A46313Y 1367 C3A3140AI46Y 2,673,083.0 2,673,083.0 -
- AY2R=V45n pYa&slAC 3 1=363(40A146YY»h 4239 56,677.8 56,677.8 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 2,616,405.2 2,616,405.2 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. 2ZAT318A46313Y 13303 1»A840AI406YY»AC 500,000.0 - 500,000.0
NCUY3Y4i4 - 460 = i»A3Yaha - 46U
- P»YU»AC ~ RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 500,000.0 - 500,000.0
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

o2 3| E Eﬂ piade» W CY TSEE»AC WY T »E3-CH3T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

3. §D314u Tacal=3Y} 1AA3N=U3kch da=>T- 7,980.2 7,980.2 -
400 BAT318A46313Y 1360 C3A3140AI3Y
I3yU3I»Adail (A3 TICASIT31
EQ 3%&’/7&74@(7??»[72
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 7,980.2 7,980.2 -
(N=3U3YU=ICY) T3UUST»AA4A0AIAGY Y »ACY
4. OABART3I3Y ~ SAI»EWC LAA40Y»Adil 162,709.0 162,709.0 -
3Y.- 3oy F3A3CY ~ =403UcY Vi3 - 3A3YY»AC
- [47 406406460
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 162,709.0 162,709.0 -
5. 2ZAT3187046313Y 13403 1»A840AI40YY»AC 90,000.0 40,000.0 50,000.0
N3U3A SYNA3BA»BT - 40l0C O»éu u»idol
- UTCA=T TasAlasyY»i 3l s=flasld al>r=ay1a 4819 40,000.0 40,000.0 -
T3UUST»AA40AIA0YY»ACY
- 2[f U»U»Y3Y»ii ~ 63A03 TanaUY»h 5129 50,000.0 - 50,000.0

2960|09 | 6 | 0 | TAA4GAIZYA TASUS17T40 0A=Y13T 589,802.4 39,802.4 550,000.0
T36340AI46Y Y»i
&RCo

2961|09 | 6 | 1 | TAA&AISYA TASU=31AT40 0A=Y13T 1=363{40Ala0Y Y»h 589,802.4 39,802.4 550,000.0
31 ATa0
1. UBE318A46313Y N36 w31 40AI46YY»AC 552,000.3 2,000.3 550,000.0
NCUY3Y4i4 - 460~ i»A3Yaha - 46U
- b»YU»AC  T3640l6Y»AC AYAS36CT Yana-asU 4251 2,000.3 2,000.3 -
a=N&=vail
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 550,000.0 - 550,000.0
2. . BA46313YY»AC GECUBC313Y»AC ~ 3 21,200.0 21,200.0 -
UCcd636840UY»AC 13%U31»A846U
- AY2R=Vas pYa&slAC 3 1=363(40A146YY»h 4239 21,200.0 21,200.0 -
3. E40C3H38»8 BYSE3NAT SB3I»ATY»ACY 729.7 729.7 -
3Yix3fi 1363 flu»Adl S&3Narail
(BT ICAZTT3I EC34%3R40AI40YY»1)
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 729.7 729.7 -
4. 2U»ET3T4AU3Y UCcddai an313ianasy 15,872.4 15,872.4 -
EW 3031 406406CAY»ACY N3 I»E3 Tx3AY»AC
TA30327400 (A3 TICAZIT=1
EQ 3%&’/7&74@(7??»[72
- AYA=6CT 1A=U3RYAANY»A 8»n313Y 4637 15,872.4 15,872.4 -
N=2U=VaY»AC 4d 3é wiAzicY
T34 T»AAA&0AIAYY»ACY

3000(10| 0 | O €a0k=2E2T20 a2pT1a=20a0Alacy 1,905,087.4 1,905,087.4 -
31 ATa0

3070(10| 7 | O | 846C3E313Y N3 1461 SATAYA0AI40YY»i (SIF 686,590.5 686,590.5 -
13»ACY 4831T3Y40)
&RCo
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o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

3071|10| 7 | 1 |@40C3E3T3Y N=wasT SAwAaYaiAlasyY»h (3 686,590.5 686,590.5
13¢»ACY 83T T3Y40)
31 ATa0
1. 46C3#38»6 3YSE3NAT AYT3YCUY»iAC 6,507.0 6,507.0
»A»E3Y»AC N3Y - 81 C IBBU31»A8400
- aluC  e3AUSB TaRaUY»AC TSAOST3ta0Al40Y 4216 3,477.0 3,477.0
- AY1R=Va5 pYa&slAC 3 1=363(40A146YY»h 4239 2,180.0 2,180.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 850.0 850.0
2. D3A3Y37 440Y»640 3Y03Y6 29,973.5 29,973.5
E40C3E386 SYSE3NAT AYH3YCOY»AcC
N3U3A Na603AT3T4A40AI3Y 13403 1»A8400
- AY2{=Vasn pYa&slAc 3 1=363(40Al46YY»h 4239 29,973.5 29,9735
3. 840C3£38»6 3Y3E3NAT AYT3YCuY»icy 392,715.0 392,715.0
VAYSI3Y " NCBSWSIC Of»ACY S¢31640Ala6Y
- aliC  e3AUSB TaRaUY»AC TSAO0ST3ta0Al40Y 4216 4,500.0 4,500.0
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 12,400.0 12,400.0
-D3WAT YAS21=3(CY 3 YidsA»h 4269 102,184.5 102,184.5
- 2t AYA=6CT 1A3U=3/YaANY»A 4639 186,915.5 186,915.5
- 2t Y= Y»h pliadc»Co 4729 20,115.0 20,115.0
- UTCA=T TasAlasyy»i 3 =flasld al>r=ay1a 4819 66,600.0 66,600.0
T3UUST»AA40AIA0YY»ACY
4. 40C3E38»6 SY3E3NAT 3Y03Y6 226,195.0 226,195.0
Sc31640Alasy
- aluC  e3AUSB TaRaUY»AC TSA0ST3ta0Al40Y 4216 4,820.0 4,820.0
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 21,800.0 21,800.0
- D3 AT YA W21=(CY 3 YidsA»h 4269 1,720.0 1,720.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 21,600.0 21,600.0
- 2t YA Y»h pliadc»Co 4729 43,410.0 43,410.0
- UTCA=T TasAlasyy»i 3l s=flasld al>r=ay1a 4819 132,845.0 132,845.0
T3UUST»AA40AIA0YY»ACY
5. D3E3AZIZ13Y 1340318404140V Y»ACY 31,200.0 31,200.0
Sc31640Al46Y
- UTCA=T TasAlasyY»i 3l =flasld al>r=ay1a 4819 31,200.0 31,200.0
T3UUST»AA40AIA0YY»ACY

3090(10| 9 | 0 | 846C3E3T3Y &3BUA3YAdAl46Y (3IF 1,218,496.9 1,218,496.9
13»ACY 4831T3Y40)
&RCo

3091|10| 9 | 1 |@40C3E3T3Y A3RWASYAAIAIY (S 136»ACY 365,216.9 365,216.9
4A3T1=2Y40)
31 ATa0
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c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9
1. 840C3E313Y (- YAGAIZY [=363JaAIaYY»AC 365,216.9 365,216.9 -
- A 140Y»a6AI3Y 13303108400

(BT ICAZTT3I EC34%3740AI40YY»1i)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 349,695.7 349,695.7 -
N3 T»E3 Tx3AY»A
- %WY»A-»WCT 1263[a0AIa6YY»f 4212 5,635.3 5,635.3 -
- Tal&sY3t 1=363{a0Alasy Y 4213 170.2 170.2 -
- T2AC 1363{a0AlasYY»h 4214 1,870.6 1,870.6 -
- aluC T e3AUS TaRaUY»AC TSAOST3ta0Al40Y 4216 810.0 810.0 -
- U»AUCY - &fT450460Y»f 4221 48.0 48.0 -
- @HU»YRY»AC 6303 TaRaiUY»A¢ AYA=6CT 4252 1,100.2 1,100.2 -
Yafia- &l ~ a=N&=vail
- TASE»YIST2ICY VidsA»A -~ N=- 456w 4261 4,196.1 4,196.1 -
- TASYEAANT3ICY YiaoA»A 4264 1,062.6 1,062.6 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 579.0 579.0 -
- A3AT31CA Tx3AY»f 4823 49.2 49.2 -

3092| 10| 9 | 2 |@4OC3E3T3Y 3R W ASYAAISYA TASU=31AT40 853,280.0 853,280.0 -
0A3Y13T 1=363(40Al40YY»h (S 13é»ACY
4A3T1=2Y40)
31 ATa0
1. &a»1313Y NCUYSATY»iA¢ 692,496.0 692,496.0 -
I'33U31»A840AI80Y V»AC SRE3 T A0V»AC
E40C3E313Y +3A»A4T SE3NAT40U
(BT ICAZTT3I £FC3%4740AI40YY»1)
- 2t Y= Y»h pliadc»Co 4729 692,496.0 692,496.0 -
2. 2640cdiAI3Y 2&3N4T= - AdoAl46Y 160,784.0 160,784.0 -
- 283413 -A3T3Y I3Eé»A 4215 160,784.0 160,784.0 -

3100|110 | O PA@U=2T20 ~“2AEUU°840U 4 _2é7a0 4,280,256.0 5,014,800.2 20,000.0

a2padéT=2U£U nal _ ©s

31 ATa0

3110\ 11| 1 | O | PP I363T7ZA4iAI3Y ~ N3UZYaY»Ag¢ 4,280,256.0 5,014,800.2 20,000.0
a3Naoe T3y yayr
&RCo

3112| 11| 1 | 2 |bb NS3USYUY»AC &=Nasen=3ICY yayr 4,280,256.0 5,014,800.2 20,000.0
31 ATa0
- a=Nasew3(CY UCcaoY»h 4891 4,280,256.0 4,260,256.0 20,000.0
-D3UWT=640U &3N66 W=ICY yAY1Co yaY1r3(CY plddc» X - 754,544.2 -
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= = % = u?ACYY»ﬁQ, EUp»fic = 13exfiC, CYiare Y3 3 = AVISUnVA
o2 3| E Eﬂ piade» T =UCY TSEE»AC WY T »E3-Cr313Y 2= T3A8313Y pladc» | yayr3(cyY ulase»
a| = 12E313. U3V NALT2TY»AC 3V TVAUT»AA =
1 (2|3 |4 5 6 7 8 9
AU _2@g°UA 12Eé&°5 58,805,489.8 59,930,444.6 (370,410.6)
2100|010 | O AU _p2Ua0d 'UapUA/E p2082UEU 3,541,976.5 3,340,433.9 201,542.6
T12&20asAlas00°s

31 ATa0

2110|101 | 1 | O |dA»YEICA = -4AT31CA USBAUCYY»A, 3,287,926.5 3,234,383.9 53,542.6
E»T313Y 13637301400, yCY=3Ves3Isy
N3[T3ulase» 13ICY N3A31u»a6Alacy VA,
BAT30CY N3ASBu»AaoAlasy Y»n
&RCo

211101 | 1 | 1 |GA»Y81CA ™~ -aRT31CA USAUCYY»A, a»r3T3Y 3,273,926.5 3,220,383.9 53,542.6
136313400
31 ATa0
1. T36373AU3Y U3A0Y¢ §3NE3Y4iU 3,269,926.5 3,219,183.9 50,742.6
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 1,547,863.9 1,547,863.9 -
NS T»E3Tx3AY»f
- &30 - T3 TRAUY»A, 1ABUST3Y ERASE&ieaiUY»i 4112 428,853.6 428,853.6 -
N3waT Tx3AY»A
- WY»A-»wCT 1263[a0AIa6YY»f 4212 80,461.7 80,461.7 -
- Tal&sY3t 1=3é3{a0Alasy Y 4213 5,676.9 5,676.9 -
- T3AC 1363(aAlasYY»fi 4214 102,894.6 102,894.6 -
- 283413 -A3T3Y I3Eé»A 4215 1,737.9 1,737.9 -
- aliC  e3AUSB TaRaUY»AC TSAO0ST3ta0Al40Y 4216 90,720.0 90,720.0 -
- 2iw=2e3(03Y(3Y - 4fT140400Y»AC - TAT T3Eéxf 4222 42,000.0 42,000.0 -
- 13AEST3Y 1363{a0Ala0Y Y»h 4231 1,500.0 1,500.0 -
- D3U3T3A-53UCY 1363(a0AlIa5YY» 4232 33,962.0 33,962.0 -
- 2RE3UWST3%UC UBEYS-CU3T3Y %36 - 3603Y 4233 12,430.0 12,430.0 -
1=3¢3{40AlasY Y»h
- DO T3 TT3T3Y 1363(40Ala5YY»fi 4234 36,043.3 36,043.3 -
- T2E3T3E2T3Y 1363{a0Ala0YY»h 4235 10,000.0 10,000.0 -
- U»AT3(30640083T3Y I3Eé»ii 4237 95,418.0 95,418.0 -
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I USACYY»AC, EUpsTIC =™ 136»AC, CYa8»E Y3 3 2| Avi=UsTA
o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 77,633.8 77,633.8 -
- @36Y=2-CU3T3Y 1363{a0AlasYY»h 4241 2,000.0 2,000.0 -
- @HU»YRY»AC 6303 TaRaiUY»AC AYA=6CT 4252 213,500.0 213,500.0 -
Yana-ail - a3Na=val
- TASE»YIST3ICY VidsA»A -~ N=- 456w 4261 29,224.6 29,224.6 -
- TASYEAAAT3ICY YiaoA»f 4264 66,868.8 66,868.8 -
- T»Y6303(CY ~ NS3YASICY eYY1G YidoA» 4267 4,420.0 4,420.0 -
- D3V YASW21=3(CY 3 YidsA»h 4269 7,400.0 7,400.0 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 279,718.5 279,718.5 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
- 2t Y&=3ewY»h pliadc»Co 4729 42,900.0 42,900.0 -
- A3A31CA Tx3AY»h 4823 956.3 956.3 -
- 2[f I=Eé»h 4861 5,000.0 5,000.0 -
- TABYEAAAT3(CY e3fu=TanaiUuy»h 5121 10,000.0 - 10,000.0
- I3EST3Y 6303 1anaUY»h 5122 38,442.6 - 38,442.6
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 2,300.0 - 2,300.0
2. 1 3A4313Y GQui» T1Y»AC NCUY3Yafa - 46U 4,000.0 1,200.0 2,800.0
- P»YU»AC " T2640l6Y»AC AYAS36CT Yana- a0 4251 1,200.0 1,200.0 -
azla=val
- b»YU»AC " BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-aU | 5113 2,800.0 - 2,800.0

2113|01| 1 | 3 |2AW3UCY NSASu»AaoAlasYY»h 14,000.0 14,000.0 -
3t Ara0
1. O[3y 43030¢Y UCc=Y- 3icY I3Al=3YCR 14,000.0 14,000.0 -
BYanN»£ad [S€3J4sAIaoYY»AC 1CU36
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 14,000.0 14,000.0 -

2150|101 | 5 | 0 |AYIN3YaoA uYasAc N3YA3icy 148,000.0 - 148,000.0
T1363J40AI40YY»AC - TAT N» 13441313y =
YSEZ.[3gY 3BE3T3Y0Y»A
ance’

2151|101 | 5 | 1 |AYLIN=3YadA uYadlAC N=YASICY T=é63(40Al40YY»AC 148,000.0 - 148,000.0
-TAT > 03BAT3T3Y ~ V3E=- [3(CY
SRE3T3YUY»i
3t Ara0
1. USE3-[3cY SE3T13Y0Y»i 100,000.0 - 100,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 100,000.0 - 100,000.0

18,000.0 - 18,000.0

2. °i 3y u303a¢ -EE3l"ﬁ N37T313-I¢

CASI3Y36U3Y i»htailacAlasy
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c = % = u?'ACYY»nQ, EUI»AC " 2=€xfiC, CYad»e Y= 3 = AV130»YA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 |23 |4 5 6 7 8 9

- USES- 13 3% r3T3Y I3Eé»f 5134 18,000.0 - 18,000.0
3. Y47 C3idAU3Y ~ 1364063831U3Y 20,000.0 - 20,000.0
Y3E3. [»AC UB3T146U
- USES- 13 r3%ar3T3Y I3Eé»f 5134 20,000.0 - 20,000.0
4. 303038CY3I3Y A3 - A»AC UBST40U 10,000.0 - 10,000.0
- USES- 13 r3%ar3T3Y I3Eé»f 5134 10,000.0 - 10,000.0

2160|01| 6 | O |AY2N3YddA uYadAc N=Yasicy 106,050.0 106,050.0 -
T36340AI46YY»i (3IF 136»ACY 4831 T13Y40)
&RCo

2161|01| 6 | 1 |AYIN=YadA uYadlAC N=YASICY 1=é63(40Al46YY»h (S 106,050.0 106,050.0 -
13¢»ACY 383 T3Y40)
31 ATa0
1. _ CUEbUY»A, N3631cU460Y»hA, 13 13A3YC 35,000.0 35,000.0 -
4A4BRA0UY»AC ~~ IxCEY»AC 1))0 I»A30YYCa
Tx63u» I ud040Y»A VoAl 3I36Y»ECé
E3NU3BYI3I Ix3A460Y»i
- A3AT31CA Tx3AY»f 4823 35,000.0 35,000.0 -
2. 4dlo¢ YIS ¥ U30u CASTA0YuY»AC 71,050.0 71,050.0 -
-ASYEU3Y, -YIN3TU3Y
T0» I3 7 T40A13Y TA3U31A03Y N» T
I3&T31 ix3(460Y»0
- @3eY3-C3T3Y 1363(asAlasy Vi 4241 21,050.0 21,050.0 -
- A3AT31CA Tx3AY»f 4823 50,000.0 50,000.0 -

2200/02|0 | 0 a=2pta=0asAlacy 38,490.0 38,490.0 -
31 ATa0

2220/02| 2 | 0 |8303036C313Y 8381 a3Ya0AlaoY 15,000.0 15,000.0 -
&RCo

2221|102 2 | 1 |2=0=30=26C3T3Y 3R W A3YaoAlasY 15,000.0 15,000.0 -
31 ATa0
1. g303036C313Y 43R0 43VA0AI3YY 15,000.0 15,000.0 -
Sc31640Al46Y
- P»YU»AC " T2840l6Y»AC AYAS6CT Yana- a0 4251 15,000.0 15,000.0 -
a=N&=vail

2250| 02| 5 | O |&3BUA3YA6AI46Y (3IF 136»ACY 4831 T3Y40) 23,490.0 23,490.0 -
&RCo

2251|102 | 5 | 1 |43k waA3VaoAlasY (3 1=2e»ACY 4831 13Y40) 23,490.0 23,490.0 -
31 ATa0
2. ZFAYTA3SYG3UcY SRE313Ya3IcY 23,490.0 23,490.0 -

[363aAI3Y CAZT3Y=3640U
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a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

- @AIPECLIC3Y»Ai YCYSYEST3Y &» 313y 4512 23,490.0 23,490.0 -
(N=3U3YU=ICY) T3UUST»AAA0AIAGY Y»ACY

2400(04|0 | 0 TUTee2120 252" 25a0A0a000°8 14,651,994.9 17,815,948.1 (3,163,953.2)
3t Ata0

2420|104 | 2 | O | Mas03w YT »e40Alasy, 3Y1363icy 70,000.0 - 70,000.0
TYU»éd0Aldoy, OTYanéasAlasy
anéaniaAlacy
ance’

2424|104 | 2 | 4 |aé4-al 70,000.0 - 70,000.0
3 Ata0
1. aéd-U3Y 63Y6( 136406400 " 70,000.0 - 70,000.0
I»A3YAahi4 - 46U
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 70,000.0 - 70,000.0

2450|104 | 5 | 0 | TA=YEéA4AT 17,886,196.0 17,049,396.0 836,800.0
anco

2451|104 | 5 | 1 |O=Y=2&3AN3ICY wA=YeQan T 10,402,737.4 9,565,937.4 836,800.0
3t Ata0
1. 2ey3{u-u»TaY/3 I311¢ i»=3Yana-aiUu 3,334,000.0 3,334,000.0 -
"~ 83NE3YAiU
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 3,334,000.0 3,334,000.0 -
as3la=val
2. 2ey3a-u» T aYIZ I311¢C NCUY3YAAE - 46U 70,000.0 - 70,000.0
- b»YU»AC " BCYASAIAGYY»AC TSACT3E I»Ai=Vafa-4U | 5113 70,000.0 - 70,000.0
3. CYAS03f»AC T»A3YAaN4 - 46U 25,000.0 25,000.0 -
- P»YU»AC " T2640l6Y»AC AYAS36CT Yana- a0 4251 25,000.0 25,000.0 -
azla=val
4. D»Y3E3U»AC I»A3Y4hA4- 460 90,000.0 90,000.0 -
- P»YU»AG " T36406Y»AC AYA=6CT Yafia- aiU 4251 90,000.0 90,000.0 -
azla=val
5. D»WCATY 3Y6A0UY»AC 136406400 " 405,000.0 - 405,000.0
I»A3YAai4 - 46U
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 405,000.0 - 405,000.0
6. T3UAc3ICY 136406 I=I0Y»AC 90,000.0 90,000.0 -
I»A3T3Y- Y460~ 83NE3Y460
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
8. P3IA460CY»AC ~~ =A046Y»Ag 50,000.0 - 50,000.0
I»A313640640U0 " NCUY3Yéarid - 46U
- b»YU»AC " BCYASAIAGYY»AC TSACT3E I»Ai=Vana-4U | 5113 50,000.0 - 50,000.0
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a| =2 1363137.U3Y NALTSIY»AC Y T3VaiUY»hA =
1 (2|3 |4 5 6 7 8 9

9. 64046 Y»AC A3NE3YA6U » i B3N3 - 4AT46U 60,000.0 60,000.0 -
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yana-asl 4251 20,000.0 20,000.0 -
a3fasval
- 2t AYA=6CT 1A3U=3/YaANY»A 4639 40,000.0 40,000.0 -
10. ZiwalI3[3Y30»0¢ IS4U31>1803Y 817,000.0 817,000.0 -
I363/a0Ala6Y
- 2[f I=Eé»i 4861 817,000.0 817,000.0 -
11. A»u3N3AA3TY»AC 136406460 47,000.0 - 47,000.0
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 47,000.0 - 47,000.0
12. 2 7audiéy»aail A»u3N3AA3T1Y»AC 20,000.0 - 20,000.0
383N4i&oU
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 20,000.0 - 20,000.0
13. 64046Y»AC, NABA3A3IY»AC =~ 3-CY»AC 274,800.0 30,000.0 244,800.0
I'3N3iahRaoy
- b»YU»AC  T3640l6Y»AC AYAS36CT Yana-asl 4251 30,000.0 30,000.0 -
a3fasval
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 220,000.0 - 220,000.0
- UlasA»f =~ A3A= - 3Y»f 5221 24,800.0 - 24,800.0
14. 26C313Y u3YIC S¢31040A130u 1,575,000.0 1,575,000.0 -
CA3TI3Y36i40 u=303u3icy A
»YAZIZ6400 1=Z1uY»AC ~ 13030¢ 13asyY
B30 - 30U3Y Y»A1A46U3ICY TA=-AC CAS6U3Y
UCcd63640UY»i
- 2t Y= Y»h pliadc»Co 4729 1,575,000.0 1,575,000.0 -
15, 26C313Y u3YIC S¢31046A130u 3,544,937.4 3,544,937.4 -
CA3TI3Y36i40 u=303u3icy A
»YAZIZ6400 1=Z1uY»AC ~ 13030¢ 13asy
%30 - 30U3Y Y»AtAasu=3icy 1A3-cii
(B3TICAZTT31 EC334AA0AIA0Y V> )
- 2[f [=Eé»h 4861 3,544,937.4 3,544,937.4 -

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY ~* 3 wA3YeA4A T 7,483,458.6 7,483,458.6 -
3 ATasu
2. O "3YC U» TAAAAFCT»YC SBE3T3YUY»AC 2,703,543.3 2,703,543.3 -
I3yU3»Adail (A3 TICASIT3T
EQ 3%&’/7&74@(7??»[72
- BAIPECIC3Y»A 43 YCY3YE3T3Y &»r3T3Y 4511 2,703,543.3 2,703,543.3 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
3. I»A-»TYI3 (> TTASTASYESANTAT 611,146.6 611,146.6 -
400" 4A3=4E31AU3Y [363/40Ala6Y
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 611,146.6 611,146.6 -
(N=3U3{YU=ICY) T3UUST»AAA0AIAGY Y »ACY
4. I»A3136406U3Y " 43 - 36U3Y 336,426.9 336,426.9 -

» A& 313Y u3YIC 3¢c31640A130u
CA3T3Y36i40 @A~ 3YC U» TAEEEFCT»YC
I»A3136400U3Y »AlAdA IA=3-CA

(BT TCABIT31 EC334AE0AI40YY»A)
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= il L N o~ D a pemen

c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

,:g Z 3| E EB" plase»w3IcY I:?Eé»ﬁ(; WY T»E3-CI3T3Y Eﬁ = T3A8313Y pladc» | yayr=(CyY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

- 2t [3Eé»i 4861 336,426.9 336,426.9 -
5. CINA&313Y Y»A1aaou3icy u3vI¢ 1,841,539.4 1,841,539.4 -
3c3[640AI30u CA3T3Y36i40 Ch~3Y(¢
U» TAEREECT»YC Ir»A3136466U03Y »ﬁ'l'ﬁéﬁl
[A3-CA (A3 T TCASTT31 FC3%EAA0AIA6Y Y1)
- 2[f [=Eé»h 4861 1,841,539.4 1,841,539.4 -
6. CTAAAZ13Y UCA0AIZY N3["3YaiAI3Y 1,560,923.1 1,560,923.1 -
Y»ALAZ6U3ICY [A= - AC Sc31640A130u
CABI3Y36140 O "3YC U» WAAASECT»YC.
I»>AZ13640003Y »AlRaAT 1AZU=RYAANZICY
[A3-CA (A3 T TCASTT31 FC3%EAA0AIA6Y Y1)
- 2t [3Eé»i 4861 1,560,923.1 1,560,923.1 -
7. [ »H3Y OTAAA3IC ; Vo1l - SEY34040A13Y 315,953.7 315,953.7 -
T uYS&3NE3Y3I3Y - AATAYI»[40AI3Y
Vavyie 3c31640AI130u CA3I3Y36i40
Of3YC U» TﬁéééEC'l'){ YC I»A3136406U3Y
»AA4AT LASU3RYAANSICY 173 - il
(B3TICAZTT31I EC334AA0AIA0Y Y» )
- 2t [3Eé»i 4861 315,953.7 315,953.7 -
8. I»A3136400U3Y ~ 430 - 36U3Y 56,962.8 56,962.8 -
» A& 313Y u3YIC 3¢c31640A130u
CA3T3Y36i40 CA 3YC U» TAAAEECT»YC
I»>AZ13646003Y »Afant IA3-¢i
(B3TICAZTT31 EC334AA0AIA0Y YV» )
- 2t [3Eé»i 4861 56,962.8 56,962.8 -
9. CINA&313Y Y»A1aaoU3icy u3vYI¢ 56,962.8 56,962.8 -
3c3[640AI30u CA3T3Y36740 ©A~3Y¢
U» TAEREECT»YC I»A3136466U03Y »AAAT
[A3-CA (A3 T TCASTT31 FC3%EAA0AIA6Y Y1)
- 2t [3Eé»i 4861 56,962.8 56,962.8 -

247004 | 7 | O | 2 puy=-3i36Y»A 25,000.0 25,000.0 -
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2473| 04| 7 | 3 |vipde3phicanAlasy 25,000.0 25,000.0 -
3 ATasu
1. %udE3BAcAGAIZY %31 - 36400 25,000.0 25,000.0 -
- 2t [3Eé»i 4861 25,000.0 25,000.0 -

2490|104 | 9 | O | TYT»E3T13Y N3A3u»idoAlasYY»a (3lE (3,329,201.1) 741,552.1 (4,070,753.2)
13»ACY 483T1T3Y40)
Eli[el)
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1. _ AaBY»AC 1 »031A46U 45,000.0 45,000.0 -
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1 (2|3 |4 5 6 7 8 9

- AY1(3VasA uYaslAC 3k 1363(aAlasYY»fi 4239 45,000.0 45,000.0 -
2. 2¢31o46Alacy N=U=jyo=icy 23,591.0 23,591.0 -
'1-3%03'13)ﬁ§é(7/4ﬂé(7)7)7»ﬁ0)7
NasOZ3A13 FanasAlasyY»Aac N»a” IS8 =31
BYix3f [36340AI46YY»AC USTE66U3Y ~~
-»A»BUSYS T Y»AC G3NE3YU3Y N3U3iA
- AYA=6CT 1A=U3RYAANY»A &»n313Y 4637 23,591.0 23,591.0 -
N=2U=VaY»AC 43 3é wiAzicY
T34 T»A&40AIA0YY»ACY
3. T36373A03Y " 1> I3TT31I3Y 134,656.8 134,656.8 -
TI»EYata - C3Y»AC %3A- 36460
- BAINECIC3Y»A 43 YCY3YE3T3Y &»r3T3Y 4511 134,656.8 134,656.8 -
(N=3U3{YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
4. 2¢c31640Alasy N=U3Ya3icy 44 262,534.3 262,534.3 -
N3U3IYu3ICY 13303 I»A840AI40Y Y»AC
IA3- A»AC y
- UTCA=T TasAlasyy»i 3l s=flasld al>r=ay1a 4819 262,534.3 262,534.3 -
T3UUST»AA40AIAYY»ACY
5. 44 yCY3YE3I3Y 3T aCiV»AC 41 3A46UC6 (4,075,753.2) - (4,075,753.2)
vasmu»i
20p=25A TaoUek £520200£0 BaTEOd 8111 (650,000.0) - (650,000.0)
PaOK £520a00/£0 BATEOS 8411 (3,425,753.2) - (3,425,753.2)
6. TAY313Y 0"3i4A&oU 40,000.0 40,000.0 -
- UTCA=T TasAlasyy»i 3l =flasld al>r=av1a 4819 20,000.0 20,000.0 -
T3UUST»AA40AIA0YY»ACY
- 2k I=Eé»i 4861 20,000.0 20,000.0 -
7. D3E6»3T4AU3Y SRE3T3Y0Y»A 100,000.0 100,000.0 -
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 100,000.0 100,000.0 -
8. U»A1Aasu3IcY I3 - A»AC CABT3Y36460 118,200.0 118,200.0 -
- DO T3 TT3T3Y 1363(40AIa5YY»fi 4234 8,200.0 8,200.0 -
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 110,000.0 110,000.0 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
9. A3AT31CH Tx3AY»AC - 3YOU3Y 15,570.0 15,570.0 -
1363146Al46YY»iA
- DO T3 TT3IT3Y 1363(40Ala5YY»fi 4234 15,570.0 15,570.0 -
10. 263Y0Y3N3401 A3U3YV»AC I3hcCu 7,000.0 2,000.0 5,000.0
46Y»0640 3Y03Y6 N3U3i U3 T a»ECadAI3BY
343Na iU
- A3A31Ch Tx3AY»h 4823 2,000.0 2,000.0 -
- 2 U»U»Y3Y»A " 83A0= TaRaUY»A 5129 5,000.0 - 5,000.0

2500/05| 0 | O pdx2T2 GA==212084 a42pTa=20asAlacy 5,499,828.8 5,399,828.8 100,000.0
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20u=N=YasU

4,954,645.8

4,934,645.8

20,000.0
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2511

05| 1

20p={=Ya5U

4,954,645.8

4,934,645.8

20,000.0

=t ATai0

1. 20u3N3Ya6Ala6y = é3YCT3A313Y
U30A460

40,000.0

20,000.0

20,000.0

- Talasy=t 1=é=la0AlaoYY»h

4213

20,000.0

20,000.0

- P»YU»AC " RCYABAIAGYY»AC TSACT 3t T»A3YaR4 - 40U

5113

20,000.0

20,000.0

2. 20u30460»A¢ 68363ATU3Y ~
BCYZAZAZT3Y 30uC 103+4E03Y
1363464146 Y»hA

352,136.5

352,136.5

- Talasy=t 1=é=la0AlaoYY»h

4213

352,136.5

352,136.5

3. I»A3136406U3Y ~ %3 - 36U3Y

» TAd&313Y u3YI1C 3¢c31646A130u
CA3T3Y36i40 §9h 3YC 1480 A3=4YY»AiC
I'36373A03Y}! 1A303RY4AN3ICY A3 -CA
(B3TTCA3IT31 £C334AE0AI40Y Y»A)

371,587.2

371,587.2

- 2[f [=Eé»h

4861

371,587.2

371,587.2

4. CTAZE3T3Y Y»AZAaiU3IcY u=3YI¢
3316404130 CABT3Y36740 §9A3YC
14870 A3=4YY»AcC I36373/03Y! IA3-CA
(B3TTICA3IT31 £C334AE0AI40Y Y»A)

227,851.2

227,851.2

- 2[f [=Eé»h

4861

227,851.2

227,851.2

5. OTAAE3I13Y UC40AI3Y N3A""3Y46AI3Y
Y»A1Adéu3Icy -aAalcuC 3¢c31646A130u
CA3T3Y36740 §9h 3YC 1480 A3=4YY»iC
13637303y} 1A303RY4AN3ICY A3 -CA
(B3TTICA3IT31 EC334AE0AI40Y Y»A)

2,955,419.9

2,955,419.9

- 2[f [=Eé»h

4861

2,955,419.9

2,955,419.9

6. 2A»H3Y CTAEA3IC ; Y»hi- SEY34040A13Y
CuY383NE3Y3I3Y -4ATAY I»A46AI3Y
vavyig 3¢c31646A130u CAZT3Y36740
§OA3YC 1480 A3+4YY»AC 13637 3AU3Y!
1A3U3RYEAN3ICY TA3-CA (A3 T ICAZTT3I

£ BUAAE0AIAGYY»F)

779,820.6

779,820.6

- 2[f [=Eé»h

4861

779,820.6

779,820.6

7. I»A313640603Y ~ %3 - 3603y
»TAd&313Y u3YI1C 3¢c31646A130u
CA3T3Y36i40 §9h 3YC 1480 A3=4YY»AiC
I'36373AU3Y IA3-CAl (A3TTCA3IT31

£ BUAAE0AIAGYY»F)

227,830.4

227,830.4

- 2[f [=Eé»h

4861

227,830.4

227,830.4

2530

05| 3

PACST= UCe=T3IA¢ SOTETU3Y 150 §3030

38,683.0

38,683.0
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“ T 3ICY TPESHC - AnT=63T3Y 1363130 U3Y

=t ATai0

-
= % 3 o HBACYY»fiC, EUp»AiC ™ 136»AC, CYaare Y= E = AvisumvA
23 g2 WASC» WSICY TSEHC WY 8= -CrSTSY ES= > T3EST3Y pase» | yavr3icy plase»
a| =2 136313 U3Y NALTSIV»AC 3YT3VaiUY»hA =
1 |23 |4 5 6 7 8 9

2531 05 1 |G1¢ BOTawU3Y 1»U &30=3f 38,683.0 38,683.0 -
=1 A4
1. I»U»AC NAGY»AC U=0A4cU 38,683.0 38,683.0 -
- TaU&sY3t 1=263{40Al46Y Y »fi 4213 38,683.0 38,683.0 -

2560| 05| 6 | 0 | PAig=31= UCc3T3in¢ 43R0 &3YaiAlaoy (3 506,500.0 426,500.0 80,000.0
13»ACY 483 TT3Y40)
afigo

2561| 05| 6 | 1 |Pc=T= UCe=T3IAC A3RWASYaiAlasY (SE 13e»figY 506,500.0 426,500.0 80,000.0
4&37T3Y40)
=1 A4
1. T3Y34 w3A=[0Y»i¢ NeUYadU 80,000.0 80,000.0 -
33N83va0U
- TaU&sY3t 1=263{40Ala6Y Y »fi 4213 20,000.0 20,000.0 -
- D3l YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
- AYAS6CT 1A3USpYaAY»i & wsTsy - 4638 40,000.0 40,000.0 -
N=USIVUSICY 36 TA3ICY T3%UST»A&40AIa5YY»ACY
4. ECH3U3-»AC EW»0140U0 ~~ [S01383 740U 311,500.0 231,500.0 80,000.0
-P3TA YAST3T3(CY 3 ViasA»h 4269 28,000.0 28,000.0 -
- UTCA3T T40Ala0YY»fi 3k B=4dlA all» 134140 4819 203,500.0 203,500.0 -
I3%U=T»NAA0AIA0Y Y»ACY
- UlatA»fi —~ &3A= - 3V»f 5221 80,000.0 - 80,000.0
5. A3+3640 I»Y13YCY»AC 1Y363y»Aldil 115,000.0 115,000.0 -
- 2 I3Eé»h 4861 115,000.0 115,000.0 -

2600/06| 0 | O ~U=2T262020£0 pEU282620A0a0U ©1 8,243,462.9 8,063,462.9 180,000.0

TagacU2t 12e20a0A0as00°8

=1 A4

2610|106 | 1 | O | “YSI3A3Y3(cy BCY2AZA40AIAGY 50,000.0 20,000.0 30,000.0
afigo

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCY2A=hanAlasy 50,000.0 20,000.0 30,000.0
=1 A4
1. EYOQY3T3U I'364006Y»AC G3Y2460 20,000.0 20,000.0 -
- 2 I3Eé»h 4861 20,000.0 20,000.0 -
2. aannant 3ewcx3Ye TASAZICY B»Yari¢ 30,000.0 - 30,000.0
03Y1460
- b»YU»fiG * RGYABAIAGYY»AC TSé45640U 5112 30,000.0 - 30,000.0

2630|106 | 3 | 0 |@A3U3T313A3A400 3,997,269.6 3,997,269.6 -
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=t ATai0

1. UA3YEC3IC D3YAZ{» T 40AIBY
I'363T73A40A13Y 3¢c31640AI130u
CA3TI3Y36i40 @A "3YC
CASUBT3I3A3AU3Y " ci3N»é36U3Y
IA3-ACY TA3U31AT40 I»EYCI313Y
3c31640AI3Y TA3-CA (A3 ICAZTT3I

£ BUAAE0AIAGYY»F)

487,459.1

487,459.1

- 2[f [=Eé»h

4861

487,459.1

487,459.1

2. I»A3136400U3Y ~ %3A-36U3Y

» A& 313Y u3YIC 3¢c31640A130u
CA3TI3Y36i40 ©A3Y¢
cABUBT3I3BABAU3Y u3irt3i03Y IA3-Ci
(B3TICAZTT31 EC334AA0AIA0Y V> )

969,127.1

969,127.1

- 2[f [=Eé»h

4861

969,127.1

969,127.1

3. CTAAE3I3Y UC40AI3Y N3A""3Y46AI3Y
Y»A1A4603ICY TA3-AC 3¢c31640A130u
CA3TI3Y36i40 @A "3YC
cA3UBT3I3A3AU3Y u3Art3iU3Y
1A3U3RYEAN3ICY TAZ3-CA (A3 T ICAZTT3I
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4861
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206,205.4
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438,613.6

438,613.6

- 2[f [=Eé»h

4861

438,613.6

438,613.6

5. 2A " »HBY CTAEE3IC ; Y»hi- SEY34040AI3Y
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(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
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2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYa0Al4Y (S 13é»Acy 97,000.0 97,000.0 -
4A3T1=2Y40)
31 ATa0
1. T3Y34 73A310Y»A¢ NeUYasu 97,000.0 97,000.0 -
a3Na3vaou
- Tal&sy=t 13¢3(a0Alaoy Y»ii 4213 97,000.0 97,000.0 -

2600(06|0 | O “U2126202U£U PEU252820AUa0U ©1 137,000.0 55,000.0 82,000.0

TagaoU=t 12e20a6Alaslues

31 ATa0

2660|06 | 6 | O | “YSI=AZY3CY BCYSASAAGAIBY * TaU40YE 137,000.0 55,000.0 82,000.0
36340446y Y»i (3lF 136»ACY 443 11T3Y4a0)
&RCo

2661|06| 6 | 1 |~ YST3ASY3(CY RCYSAZAAIAIBY ™ TaUasY3¢ 137,000.0 55,000.0 82,000.0
1=3¢3a0AlasYY»A (Sl 13é»ACY a&3TT3Y40)
31 ATa0
1. “3BU3BuYSI3A3Y B»YOorAC N3AA 10,000.0 10,000.0 -
T3YCUY»AC I»A3YAi4 - 46U
- P»YU»AC " T2640l6Y»AC AYAS36CT Yana- a0 4251 10,000.0 10,000.0 -
a=N&=vail
2. “3BU3BuYSI3A3Y B»YO»Ac A»a 10,000.0 4,000.0 6,000.0
T3YCUY»AC I»A3YAi4 - 460
- DA YA 21=3(CY 3 YidsA»h 4269 4,000.0 4,000.0 -
- b»YU»AC ~ BCYASAIAGYY»AC TSACT3E I»Ai=Vana-aU | 5113 6,000.0 - 6,000.0
3. “3I3cy TSA3I0Y»Ac 87,000.0 11,000.0 76,000.0
E303NA383A31Y»AC NCUY3Yan4 - 40U &0
a3Na3vaoU
- AECIC3Y»A 43 &»W3T3Y (i N3USIVU=3ICY) 4d 4521 11,000.0 11,000.0 -
YCY3Ye3T3Y T3%U3T»AA40AIA0YY»ACY
- b»YU»AC " BCYASAIAGYY»AC TSACT3E I»Ai=Vana-4U | 5113 73,000.0 - 73,000.0
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [aill L N o~ D a pemen

c = % = u?'ACYY»nQ,,E'Up»nC 380G, CYdare Y= 3 = AV130»YA

,:g Z 3| E EB" plase»w3IcY I:?Eé»ﬁ(; WY T»E3-CI3T3Y Eﬁ = T3A8313Y pladc» | yayr=(CyY ulase»

a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 |23 |4 5 6 7 8

- 2[E U»U»Y3Y»h " 63AUS TaRasUY»h 5129 3,000.0 - 3,000.0
4. “3BUBuYSI3A3Y BrYarAC u3i» 134 - U3Y 30,000.0 30,000.0 -
3 BRE3T3YY»i
- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yara- U 4251 20,000.0 20,000.0 -
a=N&=vail
- AECIC3Y»A 43 &> W3T3Y (4a N3USIVU=3ICY) 4d 4521 10,000.0 10,000.0 -
YCY3Ye3T3Y T3%U3T»AA40AIA0YY»ACY

2800/08| 0 | O P20 £eT, @p2TaolA i Taal 61,971.3 61,971.3 -
31 ATa0

2810|108 | 1 | 0 |P3Y-67C " EA4NTC [363aiAlacyy»r 3,635.0 3,635.0 -
&RCo

2811/08| 1 | 1 |[D3Y-&WC ~ eAaNWC I363(40Al40YY»h 3,635.0 3,635.0 -
31 ATa0
1. 634013y UCca636460Y»AC 3,635.0 3,635.0 -
13503 1»A&a00
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 3,635.0 3,635.0 -

2820|108 | 2 | O |@B3T46A3ICY I36346AI46Y Y1 58,336.3 58,336.3 -
&RCo

2821/08| 2 | 1 |AZ13AZYY»A 26,248.1 26,248.1 -
31 ATa0
1. TASI3[3Y3(cY [363a0AlaoYY»i 26,248.1 26,248.1 -
- BABPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 26,248.1 26,248.1 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2823/ 08| 2 | 3 |@R2TAIAC WY»A, 3TAUUY»A, T»YTRAYY»A 17,541.2 17,541.2 -
31 ATa0
1. D3U3)You3IeY UBZTANAC = 3331 A3U3Y6C 17,541.2 17,541.2 -
13503 1»A&a0U
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 17,541.2 17,541.2 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAAAIATYY» 14,547.0 14,547.0 -
31 ATa0
1. OB3TA6A3ICY UCcAd3640UY»AC 14,547.0 14,547.0 -
CASTI3Y3646U
- AY1R=V45 pYa&slAc 3 1=363(40A146YY»h 4239 14,547.0 14,547.0 -

2900/09| 0 | O ToAabAlaU 786,206.5 786,206.5 -
31 ATa0

2910/09 | 1 | 0 |USE314A40313Y = w3An=13Y AYINSYaih 540,828.0 540,828.0 -
TAA&oAl46Y
&RCo
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % = u?ACYY»ﬁQ, Epp»ﬁ(; T 13ExfC, CYiare Y3 3 = AV130»YA
o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|3 |4 5 6 7 8 9

2911|109 | 1 | 1 |U=E314A46=T3Y TAA&AIATY 540,828.0 540,828.0
31 ATa0
1. USE318A46313Y 406406460 540,828.0 540,828.0
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 540,828.0 540,828.0
(N=3U3{YU=ICY) T3YUST»AAA0AIAGY Y»ACY

295009 | 5 | 0 |AéT UBT3A13Y»AC 41363130 iad 245,378.5 245,378.5
TAA&oAl46Y
&RCo

295109 | 5 | 1 |2AT31A/403T3Y 136 WC3A3TasAlasY 245,378.5 245,378.5
31 ATa0
1. 2AT318A46313Y 138 7 C3A3140AI46Y 245,378.5 245,378.5
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 245,378.5 245,378.5
(N=3U3{YU=ICY) T3YUST»AA4A0AIAGY Y»ACY

3000(10|0 | O €a0k=2E2T20 a2pT1a=20a0Alacy 70,075.8 70,075.8
31 ATa0

307010 | 7 | O | 46C3E3T13Y N3 1401 SATEYE0AI40YY»FA (SIF 31,765.0 31,765.0
13»ACY 483T1T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3 Tail SAwaYasAlasyY»i (S 31,765.0 31,765.0
12E»fCY 4831 T3Y40)
31 ATa0
1. 46C3#38»6 3Y3SE3NAT AYT3YCUY»iAC 1,900.0 1,900.0
»A»E3Y»AC N3Y - 81 C IBBU3T»A8400
- AY2R=Vasn pYa&slAC 3 1=363(40A146YY»h 4239 1,900.0 1,900.0
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 1,200.0 1,200.0
E40C3E386 SYSE3NAT AYU3YCOY»AcC
N3U3A Na603A1314A46AI3Y 13403 1»A&400
- AY2R=V45 pYa&slAC 3 1=63(40A146YY»h 4239 1,200.0 1,200.0
3. 840C3t38»6 3Y3E3NAT AYT3YCuY»icy 16,055.0 16,055.0
VAYSI3Y " NCBSWSIC Of»ACY S¢31640Ala6Y
- aluC T e3AUS TaRaUY»AC TSA0ZT3ta0Al40Y 4216 1,500.0 1,500.0
- D3TAT YAST3T3ICY 3 ViasA»f 4269 2,000.0 2,000.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 10,630.0 10,630.0
- 2t Y= Y»h pliadc»Co 4729 1,925.0 1,925.0
4. 640C3£3476 3YSE3NAT 3Y03Y6 5,710.0 5,710.0
Sc31640Alasy
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 1,800.0 1,800.0
- 2t Ya&=3ewY»h pliadc»Co 4729 3,910.0 3,910.0
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.;,.F;. Sl 3| E EB" plade» I SICY TSEE»AC TYI»E=-Cu3T3Y Z5 T3E3T3Y pladc» | yayr3(cY ulasc»
a| = 1363137 U3Y NATT3IV»AC SYT3YAUY»AA =
1 (2|34 5 6 7 8 9
5. D3E3AZIZ13Y 1340318404140 Y»ACY 6,900.0 6,900.0
Sc31640Alacy
- UTCAS W Ta0AlaoYY»n 3l g=RNadld al»=&4Y140 4819 6,900.0 6,900.0
T3S T»A&A0AIA5YY»ACY
3090|110 | 9 | O | 40C3£E3I3Y 43R T A3VaiAlacY (S 38,310.8 38,310.8
13E»ACY 4831 T3Y40)
&RCo
3091(10| 9 | 1 |€A6C3EZT3Y AR W ASVAAlAY (3l 13e»AcY 30,250.8 30,250.8
4A3T1=2Y40)
31 ATa0
1. 840C3£313Y (- YaGAI3Y [363ldoAlasyy»i¢ 30,250.8 30,250.8
- i l40Y»d0AI3Y 1330=1»A840U
(BT ICAZTT3I EC34%4R40AI40YY»1i)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 28,921.7 28,921.7
N3 T»E3 Tx3AY»A
- WY»A-»wCT 1263[a0AIa6YY»f 4212 557.9 557.9
- T2AC 13é3{a0AlasYY»h 4214 390.6 390.6
- TASE»YIST3ICY VidsA»A -~ N=- 456w 4261 380.6 380.6
3092/ 10| 9 | 2 |€46C3E3T3Y A3 W ASYAAISYA TH3U31AT40 8,060.0 8,060.0
0A=Y13T [=3é63]a0AlaoYY»i (Sl 136»ACY
4A3T1=2Y40)
31 ATa0
2. 2640cacAI3Y 283N4T= - AdoAl46Y 8,060.0 8,060.0
- 233Mar=-A3T3Y I2E6»h 4215 8,060.0 8,060.0
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vuu |

Eplwup punupwybnh qbYnygp 2017 pwwuuh Gplwt punwph
qupqugdwt hhduwlwu nipnnyeyniuubph
dwuht

<hdp punnuubind  Gplwu  pwnwph qwpqwugdwu 2014-2017 pywlwuubph
pwnwdjw Sdpwgpny twluwwnbujwd gbipwlwnigniuubip nu wnlw ntunipuubpp, 2016
pYwlywuh pupwgpnu hpwlwuwgywd dpwapbph hhduwwu ninnnyentutlpu nL npwug
Ywwwpdwu  wpryniwwwybnmngeniup,  hwodh  wnubind  gfuwynp  hwunwlwadh
wwhwugubiph hwdwwbpuwnnid Gplwu pwnwph uywpwaghpp wwhbnt
wnwouwhbippnieintuutipp, huswtu twl punnwbingd 2017 pywlwup npwbu pwnwdjw
opwgpny bwfuwuaywd hhduwlwu dpwapbiph wdthnithhs Nt wjwpuwlwu wwph, Gplwu
pwnwph qwpgwgdwt hhduwlwu nnnieginiuutipnid  wnwouwhbpe UL gbpwlw bu
hwdwpybint  wwpwdpwiht  hwdwswth b Yuntt  qupgwgndp,  dwjpwpwnwph
pwpbiytghy nt hwpdwpwybin dhowwipp Guwynpnudp, pwnwpwjhu
Gupwywnnigqwdputiph  wpnhwlwuwgnudp,  puwlyshypjwu  YGuuwywu  pwhbph
wuwwhnynudp, << wqqujht wuynwugnigjuu nwqiwyjwpnyjuu hhduwnpnyputiphg W
«Gplwt  pwnwpnd  wnbnwlywu huptwywnwlwpdwu Jwupu» << opbkuphg plunn’
Gplwuh puwysnipjwtu wywoanwwuniejwu b wuywnwugnipjwu, hwuwpwlwywu Yupgh b
hwdwytignipjwu Ywunuubph wwhwwunipjwu wwwhnynidp:

Npwbiu Gplwu pwnwph qupgugdwu 2014-2017 pYwlwuubph pwnwdjw dpwagnph
Ggpwihwyhs wwph, Gpuwu pwnwph qupgugnwip 2017 pwywuptu hp hGupnid
niubuwint £ pwpblwpgldwt, Yuwuwswwwndwl, unghwwlwu, dowyniypwiht, huswbu
twlb pwnwph Yuwnitt n bywwwlwht wnwopupwgl  wwwhnynn wy Ywplnp
ninniejniuutiph ppwywuwgdwup dhndwd pwjph twywwwlwhu b hGnunnuywu
hpwgnpddwu ulygpniupp, npnug wwwhnydwu twywunwyny wnwotuwhbpe b gbpwyw Gu
hwdwpybnt'

1. Gplwup nmwpwdpwihu hwdwswih W Ywyntu qupgugdwu wwwhnynidp,



10.

Gpuwuh  YGuwmpnuph  pbnUwpwdwu L pwnwpp  2powugnn
dwuwwwphubph  Swuwwwphwohtwpwpywu Jwjuwdwyw| Spwanptiph
ownpniwywlwuntejwu wwwhnynidp,

. obupbph L pwlwjhu wwpwdputph pwpblwpgndp L puwlysniejw

wuywnwug nbinwowndh wwwhnynidp,

. Eubpqwpiuwynn  hwdwlwpgbpp  ubpnpdwu  uywwwynyg  thnnnguwpt

[nLuwynpnijwu wpnhwwuwgdwu dpwgph dYuwpyh wwwhnyndp,

. gnpdwpwpnyejwtu W ubpnpnwubph hwdwp  pwpbuwywun  dhowywinph

wwwhnynudp, hwdwjuph b gnpéwpwp dhowdwiph dhol thnfupwhwybin
hwdwgnpdwygnigjwup  Jdpnwd  wlwunnypubph  duwynpnudp UL
fupwuntdp,

uwudwppdwtu b wnpph nbnwihnfudwtu dwdwuwlwyhg dbfuwuhqiubph
ubpnpdwup hwdwhntus unp wnpwywiph Ywnnigdwtu b hhu wnpwywiph
dynwwgdwu gnpduwywu Spwagpph  wofuwwnmwupubph  hpwlywuwgdwu
wuwwhnyntdp,

uywuwwlwpht  nunbuwlywu b unghwjwlwu  pwnwpwlwuniypjwu
quwpdwu  dhongny wunbuwlwu U pwnwpwghwlwu  Ywuphu
puwysnipjwu wudhowlwu Jwutwygnipjw fupwuntdp,
wnwudtwhwuwnnty wwjdwuubph Yupphp niubignn pwnwpwghutiph hwdwnp
pwnwpwjhu  wnopwu wybih dJdwuwskh nwpdubint  dwpnwuhpwywu
opwagph htnbnnwywu hpwagnpdnidp,

ywnwjwpdwtu  hwdwlwpgh  pwpbthnfjunwdubph b nbnuywu
huptwywnwywpdwu  wpnynibwybunnigjwu  wwwhnynwdp, hpwywywu
nwownh YJwuwpbjwagnpdnwip, unpwgnyu wbfuuninghwubiph ubpnpnudp,
hwnnpnwygnipjwu dwdwuwywyhg dhongutiph Yhpwnnidp b puwysh htwn
htiunwnwnpd Yuwh wyunhywgnidp,

dwjpwpwnwph wpwwpht duwynpdwtu b gGuptph wpunwpht wnbuph
Ywpgwpbpdwu ownniuwwywu opwanbph hpwlwuwgdwu
wuwwhnyntdp,



11, bwjuwyppwlwu, Yppwywu, dowynipwihu b uwynpunwihu opjtiywnubipp
hphduwunpnquwu wotuwwnwupubiph 2wpnitwywlywunypjuwu wwwhnynidp,

12. ubpnwouwy YEuuwwnwpwéph duwynpnwip b puwysnipjwu nmwpwdpwjhu
hwdwswih pwofujwdnypjwup bwwuwnidp,

13. hwugquwnh gnunphubiph untindnuwp, Ywuws nwpwdpubiph wwhwwunu nt
wybjwgnudp,

14. Jpwynipwihu dwnwugnipjwu wwhwwunteiniup, wnnng wwnbjwybpwp
fupwfuntunwdp, wjn bwwunwyny vwywuwnwynp ywydwuubiph unbindnidp,
15. pGfuwubph hpwynwupubiph ywownwwunieiniup b wuswhwhwuubph hGn

wmwnynn wofuwwnwupubph pwpbjwyndp,

16. wnnnowwwhnipjwtu  hwdwlywpgh Ywnwwpdwu  wpryniuwybunniyejwu
pwpdpwgntdp, puwlsnypjwun dwuwnigynn wnnnowwwhwlywu
swnuwjnipntuutinh npwlwlwu pwpbijwydwu uywwnwyny'
pwnwpwwbGwnwnpwuh Gupwlw)niejwu wnnnowwwhwlywu
Ywaqdwybpwnipiniutbpp dwdwuwywyhg pniduwppwynpnidubipny
hwdwpbnt gnpdpupwght wowlygnidp,

17. puwlsnipjwu wuyunwugnipjwu, hwuwpwywywu Ywnpgh L
hwdwytignipjwu Ywunuubiph wwhwwunipjwu wwwhnynidp,

18. dwjpwpwnwph  puwyblh  $nunh  Jpwpwjunpuwiu  hGunwgnundwu
w2luwwnwupubiph owpniuwwywuniejwu wwwhnynidp,

19. hwuwpwlwlwu wmpwluwnpwnh wnrnyntuwybwn gnpéntutinyejwu
Ywunuwlywpgdwup dhndwd dpwgptiph Jowydwu wwwhnynidp,

20.dwjpwpwnwph  puwwwhwywuwlwu  ppwypbwyph pwqdwynnd nt
hwdwlwpgywd pwpbjwynwdp,

21. gnwuqnuunbtintuwunjwlwu hwdwwpgh Ywwwpbjugnpddwu dhongny
gpnuwononLERjwl qupguwgdwup fupwunn pwnwpwlwuntpjwu
hpwywuwgnudp,

22. puwyhsubiph unghwjwywu wwonmwywujwoénigjwu wwwhnynwip b wn
uywwnwyny hwodwunwdubph, dunnugnipy Gpbluwubph, pwqdwquywy



L wlwwwhny punwuhpubph YGuvwwu wwwhnddwiu ninnywé
unghwjwlwu dpwagnpbph hpwgnpdntdp,

23.6puwup  pwnwpwwbwmwpwuh UL  Jwpswlwu opowuubiph  Ynndhg
puwysnigjwup  dwwnigynn  dwnwjnieniuutph wwpgbgnuwp bW
uywuwpydwu npwyh pwpbjwynidp,

24.dhowqqwiht  hwdwgnpdwlygnigjwu punjwjunwip, pnyp U gnpdpulybp
pwnuwpubph htwn wprynitwybin  hwdwgnpdwygnypjwu  wlunhywgnidp,
dhowqquiht jwwagnyt thnpdh nwuntduwuhpnypinut nt Yppwnndp:



vuu i
Pwgwwpwghp-<hduwynpnid
Eplwu pwnwph 2017 pulwup pjnigth
twjuwqéh

Gpuwu  pwnwph 2017 pJwlywuh pnebh  bwpiwghdp  Ywqdybp L
«lwjwunnwuh  Lwupwwbwnpjwt  pngbnwiht hwdwlwpgh  Jdwupu» L «Gplwu
pwnwpnd nbnuwywu huptwywnwywpdwtu dwuhu» << optiupubph  wwhwugubphu
hwdwwwuwwuluwu, nph  duwynpdwtu  hpdpnud  puywd Lu  futwnnulwunyeniup,
hwaoytlyonjwdnypiniup, wpnynibwybwnnieiniup, hwywuwnmhnieiniup, hunwynieniup W
pwthwughynipjniup:

Gplwu pwnwph 2017 pwlwup pjnwbu uwufuwwnbuynid £

Ghwdnupbibph gény' 84,344,931.5 hwq. npuwd,
Sdwiuubph qény' 84,412,931.5 hwq. npwd,

ntbhghip (wwlwunipnp) 68,000.0 hwq. npwd:

1. Ghwdnunubpph juwiujuwwnmbunid.
Gplwu pwnwph 2017 pwywuph pjnebh twfuwgdnd (wunthbn' Uwluwghd)

GUwdnunubph punhwunyp gndwpp Spwagpyby £ 84,344,931.5 hwq. npwdh swihny
Gpuwu pwnwph 2016 pywlwuh pnwting h uyqpwut hwunwwnywsd 78,221,077.3 hwq.
npwdh nhdwg' 6,123,854.2 hwq. npwdny Ywd 2nipg 8%-ny wybi, husu wyby £ uwl 2016
pYwlywuh GYwdnunubiph G6onwd gnigwuhphg 8,623,709.6 hwq. npwdny Ywd 2nipg
11.4%-nY: Opwgpywé GlUwdnunubpp gbipwqwugnd Gu 2015 pwlwuh thwuwnwgh
hwjwpwanpywsd punhwunip GYwdnunubppu 7,783,311.1 hwq. npwdny Ywd 10.2%-ny:
Lwhuwagoény Uwjuwwnbuwd  GUwdnunubiph  punhwunyp  Sdwywind  ubthwlwu
Gywdnunubpp Yugdnd Gu 20,543,170.5 hwq. npwd' 2016 pwlwuh twuwwnbujwdhg



496,148.4 hwq. npwdny wybih, huy 2015 pYwlwuh ubhwlywu GYwdnwnubph
thwuwnwgh Ywwnwpnnulwuhg 1,486,017.6 hwq. npwdny Ywd onipg 8%-ny wytifh:

Lwhuwgdény twjuwwnbujwsd LYwdnunubph hpduwynpndp b hwdGdwnwlywu
ytpnwnientup wnwyb| hunwy Yiphup npwup wnwudht Glwdnwwmbuwlubph nbupny
ubplyuwjwgdwu ywpwaqunid: Uwutwynpwwbu.

1.1)  Qwplybp b winppbip.

Lwpywihu  GYwdnuntbpp b wnippbpp 2017 pwlwuh  pnwwbh  twluwgdny
dpwagnyby bu 14,839,087.5 hwg. npwd' pupwghly wwpdw Gondwd 14,463,119.1 hwq.
npwdh hwdtdww Yuwd onipg 375,968.4 hwq. npwdny wybih, husp gbipwquugnid £ uwl
2015 pwywup thwuwmwgh hwwpwagpywsd gnigwuhop 1,140,409.9 hwqg. npwdny Yuwd
8.3%-nu:

w. <wplywipu GYwdnunutipp dpwagnpyb| Gu 11,008,415.0 hwq. npwdp swihny Yuwd
2016 pwywup hwdwp hwunmwunywsd gnigwuhohg 327,162.6 hwq. npwdny Ywd 3.1%-ny
wybh: 2017 pwywupt twjuwwnbujwd hwpluwihu  GYwdnunubpp wyb Gu 2015
pYwlywuh thwunwgh hwywpwagpywd gnigwuhohg 755,527.9 hwq. npwdny Ywd 7.4%-
ny, nphg.

- gnhypwhwnpyp twjuwgdny twfuwwmbuyb k 10,344,663.2 hwqg. npwd Yuwd 2016
pYwlywuh hwdwp hwunwwnywd gnigwuhohg 314,767.9 hwq. npwdny wybh,
huy 2015 pywlwuh thwuwmwgh gnigwuhohg 715,720.9 hwq. npwdny Ywd
oning 7.4%-ny wybih,

- hnnh hwpyp dpwgnpyby £ 663,751.8 hwg. npwd' 2016 pwlwupu Spwgpwd
gnigwuhohg 12,394.7 hwgqg. npwdn Ywd 1.9%-n wyb: 2017 pwywupu
Uwluwwnbuywd hnnh hwpyp gbipwquugnid £ twlb 2015 pwywupt thwuwnwgh
hwywpwagpywé gnigwuhop 39,807.0 hwq. npwdny Ywd 6.4%-ny:

2017 pywlywuh hwplwiptu GYwdnunubipp dpwagpyb| Gu hpdpnid nwbuwiny 2016
pYwlwuh hwjwpwagpdwu uwywuynn  Ywuwpnnulywup, Jwpswpwpwywu
dhongwnnwiubph  hGwnbunnuywu W wpryniwwygbin  ppwlwuwgnwdhg  wyulywynn
[pwgnighs dnwnpbipp: <wplywjhu GYwdnwnubph gnigwuhop  hwedwnybijhu hweyh Gu
wnuyt] Uwb wnw wwwnpubph L 2017 pYwlwuptu wnwowgnn hwrdwnlwihu



gnigwuhoutipp: <wpYwjpu GYwdnunubph Ywujuwwnbuynn wép wywjdwuwynpjws k
pupwghy wwpnu dbnuwpywséd dEdwowdw| Jwpswpwpnipjwu wpryntupnd 2017
pYwlywuhu wyulwiynn dnunpbipnyd, huswbu uwl gnypwjht hwpybph hwogwndwu
ombdwpwuh  Gonnwubiph wpryntupnd  npwund  |pwgnighs  hwpyynn  opjtiywnubipp
pungpydwdp, ptl wjuntin ntnbu wnw Gu thnfuwnpwdhongutiph gnypwhwpyh gény
wpwwgnwd wuwwnpubtin, npnup optuunpnigjwdp uwhdwujwd Ywpgn quuddwu
Gupwyw ¢bu: Wnnthwunbps, 2017 pwywupu dpwapyb) b hwplwihu GYwdnunubph
gony hpwwnbuwlwu b hpduwynpywé wwwnpubphg wnwybjwagnyu quuddwu gnigwuhy:

p. SEnwywu wnippbiph gény 2017 pwlwuhu dpwagpyt) Gu 3,443,672.5 hwg.
npwdh dninptip 2016 pYwlwupt bwfuwwnbuwsd 3,394,866.7 hwq. npwdh nhdwg Yuwd
48,805.8 hwq. npwdny wyb|, husu wyb| £ 2015 pwywup thwuwnwgh gnigwuhohg
376,297.8 hwq. npwdny Ywd onipg 12.3%-ny: Sbnwlwu wnippbiph Ywgdnd Jdbté
wbuwlwpwp Yopn Gu Ywgdnud wpwwpht gndwgn wnbnunpbint pnyunynypjuu W
wyunnyuwjwuwwnbnh hwdwp twjuwwnbujwd nnippbipp, hwdwwywwnwufuwuwpwp, 41.6%
U 26.7% :

(Gl wbnwlwu wnpptiph gény 2017 pwywupu Spwagpybti £ punhwunip
gnigwuhoh wé 2016 pwlwiuh tywwdwdp, uwlwju wnwudhtu wnbuwyubph gqdény
uwfuwwbuynd £ npnawyp  ujwgbgnud, dJwutwynpwwbu' ujwugbgnd  Spwapydtp k
hwdwjuph Jwpswlwt wwpwdpnd gtuptph W ghunyeyniutbph  YGpwlwnnigdwu,
nidtinugdwu, YbGpwlwuqudwu, wpnhwwiwgdwt woluwwnwupubiph hpwlywuwgdwu,
dwpnwuwwnp wwpunt dwnwjnieintu hpwlwuwgubiny, wpunwphtu gnwqn nbnunpbnt
pnyunynyejwu hwdwp wnipptph gény, husp wwjdwuwynpywd L 2016 pqwlwuh
Ywuluwwnbuynn Ywwwpnnulwuny, huswbiu twlb pupwghy wwpnd hpwywuwgywsd
thwuwnwgh gnypwgpdwu wpryntupubipny:

Stinwywu wnippbiph YuaqinWd  hwdwjuph  wnwpwdpnid  wpwwpht  gnjwgn
wnbinunptint pnyjwnyniejwu hwdwp 2017 pwlwup pnwbh twiuwgdny Ywujuwwnbuyb) L
1,432,906.8 hwq. npwd' 2016 pwlwupt twfuwwnbujws 1,504,400.0 hwg. npwdh
nhdwg, husp uwlwju wyb) £ 2015 pquwywuptu hwunwgh hwywpwagpywd gnigwuhohg
17.4%-nd: Cun npnw bwfuwwmbuwsd wnnipph gnigwuhpp ubipwnnd £ Gpuwt pwnwph
wywgwunt 2012 pywlwuh dwpwnh 16-h N 404-U npnpdwdp hwyjwuniyeniu wpjwé



uygpniupny ybpgbnujw  wugnwdubiph Yunnigdwtu nphdwg twfuwwnbuynn  Glwdwnh
gnudwpp' 240,000.0 hwg. npwdh swihny:

2016 pYwlywuh hwunmwunydwsd (Gondwd) gnigwuhoh ujwundwdp npnpwyh wé k
opwagpyb] nmbnwywu wnipptiph dp 2wpp wnbuwyutiph goény, husp wwjdwuwynpwsd k
2016 pywlywuhu hpwywuwgwd dwupwdwul gnypwagpdwl, Jwpswpwpwiwu W
Ywunuwlwpgnn wofuwwnwupny, npu k| hp htipphu hpwagnpdbih £ nwpét| optuunpwywu
thnthnfunieyniuutipny  hwdwjuph  nbGlwywphu  YGpwwwhywsd  |hwagnpnieiniuutiph
wnryntupntd:

g. <wdwjuph pnwt Yéwpynn wbunwlwu wnnippbipp 2017 pwywup hwdwp
uwfuwgdny Spwagpyby Gu 387,000.0 hwg. npwd' 2016 pwlwup hwunwndws
gniguiupgh swthny, nphg.

- pwnwpwghwlwu  Ywgnigywu  wywbp  gpwugbint  hbn Yuwwd

hwdwwwwnwufuwlu gnpdwppubphg' 77,000.0 hwq. npwd,

- Ununwpwlwu gpwubywyubph Ynndhg unnwpwywu dwnwjnieiniuutiph htiwn

Yuwwywsd hwdwwywwnwufuwu gnpdwppubiphg’ 310,000.0 hwgq. npwd:

Snigwupgutiph  Spwgpdwu  hwdwp hhdp £ punniugt; 2016 pqwywup

Ywufuwwnbuynn Ywwmwpnnulwunp:

1.2)  Muwounnuwlwu npwdwunphubp.
<hdp  punnuubiny << 2017 pwlwup  wbunwlwu pnwbh twluwgdny
twfuwwnbujwsd gnigwupoubpp' twfuwgdny Spwapyty Gu 21,772,637.5 hwqg. npwdh
swihny wwonnuwlwu npwdwounphubp' 2016 pYwlwup 6ondwd pnigtihg 2,509,783.9
hwgq. npwdny Yud 13.0%-ny wybi: Cun npnid.
- &L whwwlwu pjngbihg Phtwtuvwywt  hwdwhwpebtigdwu  uygpniupny
wnpwdwnpynn nnunwghwubpp twuwwbuyb) Bu 13,430,355.1 hwg. npwd'
2016 pywlwuh 6onywd gnigwuhoh swihny, husu wyb| £ 2015 pwywup
thwuwnwgh unwgywsd gnigwuhohg 1,162,591.8 hwgq. npwdny Ywd 2nipg
9.5%-ny:
- Mbunwlywu pnwthg pupwghy dwuubph $huwtvwynpdw Uwwwnwwjhu
hwwywgnudubiph  (unipdtughwutiph) qén Uwjuwwnbudb) £ 8,342,282.4



hwq. npwd' 2016 pYwlwuh hulygpwut hwuwnwndwsdhg 123,053.3 hwg.
npwdny ywlwu, huy doinydwé gnigwuhohg 2,509,783.9 hwq. npwdny wyb|
(guuyp Ygynd £):

1.3) Uy GYwdnunubp.
W Gywdnunubipp 2017 pwywuh twfuwagdny Spwanyb) Gu 47,733,206.5 hwg.

npwd' 2016 pJwlwup Gondwsd pngbng twjuwwnbuwd 41,995,249.2 hwq. npwdh
nhdwg Ywd 13.7%-n wybih, husp twb gbipwqwugnd £ 2015 pwywup thwuwnwgh

gnigwuhop 19.9%-ny, nphg.

owhwpwdhuubph gény 2017 pYwlywupu dpwgpyb) £ 124,000.0 hwg. npwd'
2016 pwywupht twjuwwnbujwsd gnigwuhohg 9,892.0 hwg. npwdny wyb:
Lwojwpyp Ywwnwnyb N hhdp punnwubiiny hwdwjupwjhu
Ywaqdwybtipwnieyniuutipp dhuwtuuvwywu hwaytunynyejniuutipnh
ytpnwnyeniuupp bW Ywujuwwnbunwdubpp, huswbu twlb Gpuwu pwnwph
wywgwunt 2010 pwywuh dwpunh 18-h N 69-U npnadwdp hwuwnwunywsd
Yuwngh npnyRutinp,

hwdwjuph  ubthwlwunejntt hwdwpynn  hnntph  Jwpdwybwpubpp
Spwanyby Gu 596,597.2 hwqg. npwd' 2016 pJwlwuht wuwwnbuwd
524,101.0 hwq. npwdh npdwg Ywd 72,496.2 hwq. npwdnd wyb] hhdp
punniubiiny Jupdwwinyejwu hwoqwndwu pwquwih Gogpnnwdp, ubipwnjuw)
wywgwunt  npndwdp  uwhdwujwd Ywpgny U npnypwswihtpny
qupdwwinyejwt  ywjdwuwagnptph Jbpwuwjdwu  huwpwynpniegyniuutipp,
huswbu uwl  wwwnplbph qwuddwt ninnnupjwdp  dEnuwpyywsd
dhongunnidubpt nL nwwmwywu gnpdpupwgh wlnnniejnup,

hwdwjuph Jwpswlywu wwpwoépnd guuynn wbwnyejwu W hwdwjuph
ubthwwunipjwup wwwlwunn  hnnwdwubph YJwnnigwwwwndwu
hpwyntuph nhdwg quudynn Jupdwybwpubpp dpwanyti| Gu 75,000.0 hwg.
npwd' 2016 pwlwup hwunwwndwsd gnigwuhohg 20,000.0 hwg. npwdny
wyb|, husp unyuwbu hpduwynpynwd £ hnnh Jwpdwwinyguu pwquih
dogpundwt uyuwd gnpdpupwgny,
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wj| gnhyph Ywpdwlwnientuhg dnunptipp bGpwnnd Gu hwdwjupwihu
ubthwlwunipiniu hwunhuwgnn wuowpd gnyph, pwgwnnyzjwdp hnnbiph,
qupdwwinyejwt wnpwdwnpdwu nhdwg qwudynn Jwpdwybwpubipp W
dpwapytp Gu 362,898.1 hwq. npwd' 2016 pwlywuh vwjuwwnbudwd
367,984.1 hwq. npwdh nhdwg, husp uwlwju 2015 pwlwup thwuwnwgh
hwwpwagpywsd gnigwuhohg wyb| £ 95.9%-ny: Lwjuwwnbujwd gnigwuhop
ubipwnnw £ Gplwu pwnwph wjwqwunt 2012 pwywuh dwpwh 16-h N
404-U npnpdwdp hwywunypniu wmpjwé uygpniupny pUYny 5 Ybpgbinnujw
wugnuwiubph Yunngdwtu nhdwg uwfuwwnbudwd Jupdwddwph gnudwpp'
160,000.0 hwgq. npwdp swihny, husp ubpwndwsd £ twl pupwghy nwpyw
hwdwwwunwuluwu gnigwuhonid,

whwnpjwu Ynndhg Ypenipjwi, spwdwwnmwywpwpdwlu, dGnpnwnihnbup
Ywnwywpdwu, unghwwlwu U pwnwpwghwlwu Ywgniypjwu wywnbph
gpwugdwu  Swnwjnyeynitutbph  gnpénwubinypjwu Ywqdwybpwdwu,
whwmwywu  Ywqdwybpwniginiuubph  woluwwnnnubpht unghwjwywu
thwpebtipny wwwhndwu, huswybu twl Gpuwuh Ynpnn  pwthnuubph
Ywnwywpdwu, Gplwuh pwnwpwht [MwynpniRjwlU  pwnwpwjhu
Gupwywnngwdputiph L pwnwph Yuwniu qupgugdwtu ubpnpnudwiphu
ninpunutipnud Gplwup pwnwpwwtinht ywwunyhpwyywsd |hwgnpnipiniututiph
hpwlwuwgdwu dwfuutiph dpuwtuwynpdwtu hwdwp whwwlwu pjnythg
uinwgynn dhongubipp twjuwgény 2017 pwlwuh hwdwp dpwgpyb| Gu
42,029,123.5 hwqg. npwd' 2016 pqwlwuh Gonjwd 36,411,346.2 hwgq.
npwdh L 2015 pwlwuh 34,445,607.1 hwq. npwdh nhdwg Hwd
hwdwwwwnwufuwuwpwp 15.4%-ny b 22%-nd wybh' hpdp punnwubing <<
2017  pwywup wbwwlwu pnebth uwfuwgény  Uwjuwnbudwd
gnigwuhutipp (guiyp Ygynud b),

optiupny uwhdwujwé nbwpbpnd hwdwjupwihu  hphduwnpyutph Ynndhg
wnwug wnbnwlwu wnnipph quuddwu dwwnnigynn dwnwjnieniuubph Yuwd
Ywwwnynn gnpdnnnipntuttiph nhdwg uinwgynn (qwudynn) wy| yéwpubiph
gdny uwfuwwbuyb) Gu 100,000.0 hwq. npwd' 2016 pYwlwuh pnwbng
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twfuwwnbujws 116,000.0 hwg. npwdh nhdwg' hhdp punnibing uwwuynn
Jwunwpnnulwup,

wnbnwywu Jéwpubph gény Spwapyt]  3,508,761.6 hwqg. npwd’ 2016
pywlywuhg 14,701.7 hwq. npwdh hwdbdww, husu wybh £ uwlb 2015
pYwlywuh hwunwgh hwjwpwagpdwu gnigwuhohg 452,132.4 hwq. npwdny
Jwd 14.8%-nY: Sbnwlwu Ybwpubph goény Lwjuwwnbuwd gnigwuhop
ubipwnnw £ Gplwu pwnwph wjwquwunt 2011 pywywuph nblywnbdptph 9-h
«Gplwt pwnwpnd wnpwhwunieiniup Yugdwybipwbine hwdwp nbnuywu
Jéwph npnypwswihtipp  uwhdwubint  dwuhu» N 347-UL  npnpdwdp
uwhdwuywsd b 2012 pdwlwuhg Yphpwnynn wnpwhwunipjwu éwpp, npp
opwapyb) £ 3,309,559.9 hwgq. npwdh swihny, huswbu twl hwdwjuph
wmwpwdpnd 2huwpwpnijwt Ywd shunyejut wpunwphtu wnbupp thnthnfunn
tpwywnnigdwu w2fuwwnwupubip Yuwnwpbint htiun Yuwywsd
wbfuuhywwuntunbuwlywu wywjdwuubp dowybnt b hwunwwnting, wjwpunydwsd
ohuwpwpnyejwtu  swhwgnpdnudp  wunwgpbint hwdwp'  nbnuywu
huptwywnwywpdwtu dwpdup  dwuwnnigwd Swnwjnyeniuubph  nhdwg
thnfuhwwinigdwtu Jéwpp, npp dpwagnyb £ 195,201.7 hwq. npwd, huswbu
uwl hwdwjuph Ynndhg dpgnyputiph W wénipnutiph Yuwqdwybpwydwu hbwn
Ywwywd Swfuubph thnfuhwwnnigdwu hwdwp dwuuwyhgubphg Yéwpubiph
gony 4,000.0 hwqg. npwd: <wpy £ Uk, np 2012 pwlwuhu
wnpwhwunipjwu Ydwpp wnwoht wugqwd Yhpwnbijhu ny YEugwnwihu wnph
dwuny wywjubpp  hwpdwpyyt; Ehu dwybpbuubph  Jbpwpbpjw)
Ywnwuwmpwiht  ndjwiutph hpdwt Jpw, husp Yppwndwu pupwgpntd
dogpunynud £ thwuwnmwgh ogunwgnnpdynn dwytiptiuubpny (wnp wpunwnpbnt
wnpwdwpwuntjwdp), b htuswybiu Ywujuwwnbuwd gnigwupubipp, wjuwbu k)
pwqwjhu wnyjwjutipp d2gpnynwd Gu gnypwagpdw wpnyniuputipny,
huptwywd Ywnngywsé obuptiph L 2hunieyniuubiph  ophuwlwuwgdwu
Jéwpubph gény Spwagpyt; £ 240,000.0 hwg. npwd’ 2016 pYwlwuhu
Uwpuwwnbujwd 250,000.0 hwg. npwdh nhdwg, husp hhduwynpynd L
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gnpdpupwgh pwiuwlwlwu gnigwupoutiph ujwqdwdp W Spwagpyb &
pupwghy nmwpyw Ywufuwwnbuynn gnigwupputiph hhdwu pw,

qupswywu  ppwywjuwfunnudubph hwdwp  ywwnwuuwtwwnyniejwu
dhongubiph Yppwnnuwdhg GYwdnunubiph qdény uwfuwwbuyb) L 461,048.4
hwg. npwd' 2016 pYwywuh twfuwwnbujwsd gnigwuhohg 63,048.4 hwg.
npwdny Ywd 15.8%-ny wyb;: Wu GHwdunwwmbuwyh qénd Ltwywu wbp
wwjdwuwynpwd L opGuunpwlwu  thnihnfunyeyniuttpny  pudtinudwé
huwpwynpnipiniuutiph wpryntupnid Yhpwnynn wnryntbwy biin
Jupgwpwnnipjwdp,

uhpwunynypjw, dwnwugnipjuu hpwyniupny bhghljwlywu wudwughg L
Ywaqdwybtipynieyniuutiphg hwdwjuphu, ybpohthu Gupwlw pnwbnwihu
hpduwpyutiph wuophtdwut wugwd gnyph (hhduwlwu dhong Ywd ny
Ujnipwlwt wywnpy shwunhuwgnn) hpwgndhg b npwdwlwu dhongutiphg
Ywwhww| dwiuutiph $huwtvwynpdwtu hwdwp hwdwjuph pjniet unwgywsd
dninptiph”  wpwdwnpwd  wpunwpht - wnpnipubphg  GYwdnp gény
Sdpwapyby £ 10,000.0 hwg. npwd' 2016 pwywuhu dpwgpjwd gnigwuhoh
swthny,

optiupny U ppwywlwt wj wywnbpny uvwhdwujwd hwdwjuph pnk
dninpwgpdwt upwlw w)] Gywdnwnubph gény dpwapyby b 225,777.7
hwq. npwd' 2016 pwlwuh pnobnd Uwluwwnbujws 254,650.0 huwg.
npwdh nhdwg: Opwgpwd GUwdnunubipp bpwnb| Gu Yunnigwwwunynn
wmwpwopubpnd hwpYwjunigjwu jnipupwusinip pwnwynwuh dGwnph hwdwnp
Ywnnigwwwwnnn  Yuwqdwybpwnyeniuubph  Ynndhg JYbéwpdwtu Gupwyw
wwjdwuwgpwiht  wwpwwynpnyeniuubpp,  npnup hwywpwgpdwup
gnigwhtn nwbu tquqdwu dhwnd, huswbu twlb wquun Shuwtuwlywu
dhongubiph Ywnwywpnwihg wyuywynn GYwdnunubipp,

Jwpswywu pjnwbh wwhnwuwmwihu pnunhg Inunwihu pjngt Ywwmwpynn
hwwywgnidutiphg dnunptipp 2017 pywywuhu épwapyb) tu 754,544.2 hwgq.
npwdh  swhnd' pngbh  Bywdnwhu b dwjuuwihu  Jwubph
hwjwuwpwyrndwu bwywwnwyny:
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2. Owfuubph wuliwwnbunid.

Gpuwu pwnwph 2017 pYwlwuh pnwth twfuwgdny dwluubph dwywip dpwagpyb)
E 84,412,931.5 hwq. npwdh swihny: Owfuubiph wdpnne dwywih onipg 95.0%-p Ywd
80,259,178.3 hwq. npwdp pwdhu £ puyunud pupwghly dwjuubphtu (Jupswlwu pjnigk),
832,544.2 hwq. npwdp' ng $huwtuwlywu wywnhyubph gény gnun dwluubphu ($nunwjhu
pnobi), huly ny puwtuwlywu wynhyutiph gény dnwnpbiph b Gpbipp gnidwpp Yugind L
4,075,753.2 hwqg. npwd: Lwhiwgdh oSwfuuwjht dwup wybih £ 2016 pywlwuh
hwuwnwwnywsd pjnigtin twiuwwnbujwd dwiuuwiht dwuhg 6,043,401.1 hwq. npwdny, huy
2015 pqwlywuh thwunwgh Swluubphg 7,334,494.0 hwqg. npwdny L Ywqddb L
wnwudtwgywd dnuintignidubiph hhdwu pw:

Lwhuwagdény wnwowpyynn pjngbivnwiht dwfuubiph dwywjutipnid unghwjwywu
puwqwywnh  (Yppnipjntu,  wnnnowwwhnyeiniu, unghwjwlwl  wwwhnynie)nil)
owfuubiph wbuwlwpwnp Yohnp Ywgdnd L 36.1%, wpwuuwynpnh puwgwywnht (wn
pYnt' Gwuwwwphwiht  wpwuuwynpnhp) Jbepwpbpnn  dwiuubphup' 21.7%, opowlw
dhowduwiph wwonwwunigjwut ninnywsd dwiuubphup' 14.4%:

Lwhuwagoény uwfuwwbiudbp b wwhnwwwiht $nun 4,280,256.0 hwq. npwdh
swiihny, nphg ywpswywu dwuh wwhnwunwiht $nunp Yuqdnw £ 4,260,256.0 hwq. npwd
(Juwpswlwu GYwdnunubph  5.1%-p), huy $nunwiht dwuph  wwhnwwwhu  $nunp’
20,000.0 hwg. npwd: Ywpswlywu dwuh ywhnwwnwiht $nunhg 754,544.2 hwq. npwdp
uwfuwgdny twfuwwbuynd £ hwnlwgub] $nunwihtu dwu, 4,220,991.0 hwg. npwdp’
hpdp punniutiny << 2017 pwywuh wbunwlwu pjngbh twfuwgdny twfuwnbugwsé
gnigwuhyp, npwbtiu wywwndphpwyywsd hwgnpnieiniu Uuhwlwu pwulyh wowlgnipjwdp
hpwlwuwgynn pwnwpwjht Gupwlwnnigwéputiph W pwnwph Yuwniu qupgugdwu
utipnpnuwhu Bplpnpn dpwgph:

Lowd Spwaghpp twfuwwbudby b wwhnwwmwihu $nunhg hwwnwugdwu éuny,
pwuh np wju Swfuuwjht Jwuny ubpwnbint nbwpnud skp wwwhnyyh «Pjnigbinwihu
hwdwlwpgh  dwupu» <L opbupny UL «Gpuwu  pwnupnd  wnbnulwu
huptwywnwywpdwtu dwuhu» << opbupny wwhnwuwnwiht dnunh hwdwp twjuwnbugwsd
ujwqugnyu 5%-wung 9otdp: Ldwu opGuunpwlwu 9o6du puwn Enigjwu  fuunhp &
wnwowguntd hwdwjupubinhg dhwju Gplwu hwdwjupnid, hwoyh wnubiiny Gywdniinubph
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Ywaqunwd wwwdhpwyywsd [hwgnpniejniuubph ppwywiwgdwt hwdwp uwfuwnbuywé
dhuwtuwynpdwu dwywip:

Uwnnpl ubipywjwgynd Gu Gpuwu pwnwph 2017 pwlwuh pngbh bwjuwgdny
dpwagpynn dwiuubiph uygpniupubpu nu hhduwynpnuubipp' pun dpwagpbiph.

1. Uwnwywpdwtu Jwpduh ywhywiumd Spwagpnd dwfuubipp twfuwagdnud

opwagpyb] Gu hhduwywund hwyyh wnubind gnpdnn  optiuunpnigjwu  (UGpwnwy
thnthnfunieyniuutipp) wwhwugubipp, funphpnwwnywlwu punye Ypnn unpdwwnhyubipp,
huswbu uwl Gplwuph pwnwpwwbwwpwup (wn pYnd' Gplwu pwnwph pjnth
dhongubph  hwoyp  wwhwwuynn dhwy pnwbnwhu  hpduwpyp'  «Gplwup
pwnwpwwbunwpwup  woluwnwlywaqd»  hwdwjupwht  Yunwywpswywu  hhduwpyh)
Ywnnigywépwiht b wnwuduwgwd unnpwpwdwundubipht  (ubpwnw| Jwpswywu
opowuubiphu)  Ybpwwwhywsd  |hwagnpnieyniuubph pwpdip U wpryniuwybin
hpwwiuwgdwu hwdwp npwug gnpdnitbingjwu  wnwuduwhwunynyeniuubpp:  Wu
opwgpny Uwpuwgdnd Swfuubp LU Uwliwwnbuyb; 7,960,099.8 hwqg. npwd Ywd
punhwunip Swfuubiph 2nipg 9.4%—n, husp 2016 pPYwlwuh hwunwnwd (Grnywd)
hwldwwwuwnwuluwu gnigwupohg ywywu k£ 149,697.3 hwq. npwdny: Lajwd Spwapny
twhiwwnbujwd Swiuubpnw twlwu wnbuwwpwp Yohn £ Juqdnd wouwwnmwywpdh

dnunp' 5,211,863.9 hwq. npwd, husp 2016 pYwlwuh hwdwwwwnwufuwu gnigwuhohg
wwywu £ 162.0 hwqg. npwdny: Upfuwwnwydwpdh $nunh hwodwpyp phpwlywuwgyb) L
Gpuwu pwnwph wjwqwunt 2013 pwywuph hniupuh 15-p N 10-U npn2dwdp
hwunwwnywd hwunppwgnigwyh hphdwtu Ypw: Lwunwnywd hwunhpwgniguyny
Uwhuwwnbuywd 1998 hwuwnhphg upwd dwhuuwihu hnnywsdht pwdhu £ pulund pyny
1783 hwuwnhpubip (wnwug wwwyhpwywd [hwgnpnypniutbph hwdwnp uwfuwnbuywé
hwuwnhpubiph), nphg dhoht lwpblywu gnigwywjhu punhwunip pqwpwuwyp Yuqdnw L
1775: UWpluwwnmwywndh dnunp htuswbiu bwfunpn wnwphubiphu, wjuwbu £ 2017 pwywuhu
opwagpyt £ 13 wdujw  wouwwnwywpsh  swihny, npp Gwhiwwnbujwd |
wpdwynipnwyhuubph b ybpguwhwodwplubph Jéwpdwu hwdwp: ULnyu ulygpniupny’
hwoywpyywséd U twpuwwnbuwd hwumppubpnd  wofuwnnn  wudwug  jupwfuniudwu
hwdwp, woluwwnwywnéh dnunh 14.5%—h swihny twuwwmbuybi b ywpgbwwnpdwu dnun:
Eubpgbiwhy Swnwjniginiuutipp  ubpwnnid  Gu  LGywnpwtubpghwh W 9bnnigdwu
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owfuubtipp, npnup hwoqwpyyb] Gu bwfunpn wwpphubph thwunwgh b 2016 pYwlwuhu
uywuynn dwfuubiph dwywiubph dhohu gnigwuhoubipny, huswbu twl hwodh L wnuyby
2016 pqwlwuph ognuwnuh 1-hg LGYupwtubpghwh  uwlwquh  ujwqbignudp:
Uwutwynpwwbu, wju hnnwdny 2017 pwywupt twluwwnbuyb) £ 275,344.2 hwaq.
npwd' 2016 pYwlwuh 301,263.5 hwg. npwdh nhdwg Ywd 25,919.3 hwqwp npwdny
wwlwu:  Yndniuw)  Swnwniginiuubipp  ubpwnnd U gpwdwuwnwlwpwpdwtu W

opwhbnwgdwu, huswybu uwl Jupswlwu sGuptiph dhowwnwgbipddwu htn Yuwywd
Sdwiuubpp U dpwapytp Gu 16,344.8 hwq. npwdh swipny' 2016 pYwlwuh pnwbng
Uwhiwwnbujwd gnigwuhohg 260.7 hwq. npwdny wwlwu: Ywwh Swnwinipniuutipp

ubpwnnd  Gu  thnunwht U uniphwunwwihtu - dwnwynyeintuttipp, pwnwpwhu
hGnwfunuwlywwh, poowjht  Ywwh, hunbpubunwhu L owwplwlwu Yuwninnt
swnuwjnypntuttipp, npnup hwoqwpyyt) tu 2015 pywlwuph nbyunbdptiph 25-h «3nipnu»
UNC-h Ynndhg dwwnigynn Swnwjnipiniubph uwlwqubph vwhdwudwu dwuptu <L
hwupwjhu  Swnwjnigyniuutipp  Ywpgwynpnn  hwuduwdnnnyp N 340-U  npnpdwl
(pwnwpwjht gwugh dwuny), pYny 17 Ytwbpnd owuwnmpjwywu Yww wwwhnybijnt
wuhpwdbionnipjwu, huswbu twl thwuwmwgh dwwwihu gnigwuppubiph hhdwu Ypw:
Finwbwnwihu dwfuubiph wnunbuwghnwwt nwuwlwpgiwu wju hnnwdp ubipwnnn
pninp dwnwjnieiniuutiph hwdwp punhwuniyp bwhuwwmbuyb| £ 207,666.4 hwq. npwd, husp
wwlwu £ 2016 pywlwuh doindwd gnigwuhohg 34,691.2 hwq. npwdny: 2016 pwywupu
Gpuwuh pwnwpwwbwnwpwup pwnwpwjht htnwfunuwlwwh dwnw)nientuubpp &bnp
pbpbg wy owbpwwinphg' wwwhndbind wju  dwnwjniyniuubph  gdénd  onipg  40%

futwynnnieiniu: Uwwhnjwgpwlwt dwhuubipp twfuwwbiuybi tu 4,684.3 hwq. npwdh
swihny' hphdp punniubind 2010 pqwywup  Jdwjhuph 18-h  «Udwnnunpwuuwynpunwhu
dhongubiph ogwnwgnndntdhg pfunn wwwnwufuwuwwnynipjwu wwnpuwnhnp
wwwhnjwagpniejwu dwuhtu» <L optiuph wywhwugubpp, uwhdwuywd qutipp LW Gplwuh
pwnwpwwbunwpwund  hwpwnwd dbptuwubph pwuwyp: Opwgpywd gnuwpp
wwlwu k£ 2016 pwywupt twluwwmbujwd gnigwuhohg 636.1 hwqg. npwdny: Snyph U
uwppwynpnudubiph  Jwpdwywiniejniup  dpwgpytp £ 91,325.0 hwg. npwd’ 2016

pYwlywuht twjuwwnbuwd gnigwupoh swihny, npp bpwnnu £ pwnwpwwbimwpwup
npn2 dwnwjnnulwu dbptuwubiph Juwpdwlwniejniup, npu hp htipehtu ubpwnnud £ uwl
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npwug pupwghy unpngnudp, Jwnbihph Swfuup, qwpnpnh wpwdwnpnwp b wyu:
Upnwuwhdwujwu gnpdninnuubph gény dwiuubpp wwuwdnpyb) Gu' hphdp punniubing
L Yuwnwywpnipjwt 2005 pywlwuh ntlwbdpbph 29-h «Cwnwjnnwywu gnpdnindw

dyuwséd  wotuwwnnnubph  gnpénindwu  dwfuubiph  hwwinigdwt  hwdwp  Ywwnwpynn
Jéwpnuwiubph ujwqugnyt b wnwybjwgnyu swihbptu nu yéwpdwtu Yupgp uwhdwubine
dwuhu» N 235-U npnpdwdp uwhdwujwsd unpdbipp, Uwfunpn wwphubph thwuwnwgh,
2017 pwywuptu Spwagpywd pwuwlwlwu gnigwupoutipp b dpwanyt| £ 64,750.0 hwg.
npwd' 2016 pywlwuph gnigwupohg 3,750.0 hwq. npwdn wwlwu: Uju hnndwény
twfuwwnbujws Swiuubpp Ybpwpbpnd Gu Gplwuph pwnwpwwbwwpwuh' ubpwnw
Gplwu pwnwph wywaqwunt wunwdubiph, Ywnnigywdpwjhu pninp
unnpwpwdwunwubph b Jwpswywu opowtubph ntywdwpubph  wofuwnwlwqdtiph
gnpéninnudubipht: Ywpswlwu dwnwnipniuutiph qény twfuwwmbudb| L 4,247.9 hwgq.

npwd’ pwnuwpwwbnwpwup ] Ywnnigwédpwjhu unnpwpwdwuntdubipp
wofuwwnwlwgdbpnud gppbiph  (hwuwnwpenpetph) Ywpdwu dwnwjniyejniututph  hwdwp'
2016 pYwywuph Gownjwd 3,185.1 hwqg. npwdh nhdwg: <wdwlwpgswihu

Swnwjnipgniuubph  génd  Spwagpdtp £ 37,742.0 hwg. npwd' pwnwpwwbnwpwuh

gnypwhwpyh, hnnh hwpyh, nbnwywu nnippbiph, wnpwhwuniejwu yéwpubph W hnnp
qupdwywinigjwu  hwypjwndwu  (pwquwyh), Yéwpnuubph  punniudwtu  wngwug
hwdwlywpgh U qwudwwbwnwlwu hwdwwpgswihu wnlw Spwapbiph, Jwpswywu
opowuubtph <0 hwdwlwpgh uwwuwpydwu hwdwp, husp wybp £ 2016 pqwywup
tonjwd gnigwuhohg 401.0 hwqg. npwdny: Uoluwwwlwgdh dJwutwghunwlywu

qupqwgdwu  dwnwinipyniuubph hwdwp twjuwwnbudb] £ 12,430.0 hwg. npwd' <L
optiuunpnipjwdp  twhiwwnbujwd hwdwjupwht  Swnwjnnubiph  Ybpwwwunpwunmdwu
gnndpupwgl wwwhnybint twywwnwyny, huly 2016 pwlwuh pjngbih Uwwndwdp 7,920.0
hwq. npwdp wybjugnudp  wwpdwuwynpwsd £ opbuunpnigjudp  twfuwwunbujwéd
ypwwywwpwuwnnd wugunn hwdwjupwihtu dwnwjnnubph pYwpwuwyh wybjwgdwdp.
2017 pwywupt bGpwwywwmpwuwnnd Gu wugubint pyny 565 hwdwjupwihtu Sdwnwjnn:
StinGywwnjwywu dwnwinieniuutiph gény dwfuubpp uwfuwwbuyt tu 47,187.9 hwq.
npwdh swipny' 2016 pwlwuht hwunwnwsd gnigwuhohg 6,855.8 hwg. npwdny

wyblh' wwonnuwywu b gbpwwbuswlwu  unpdwwnhy  whnbph  wbntlwagpbph,
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ppngjnipubiph lwwapnuejwl, phpptph W wduwagpbiph, nwywgpwlwu wofuwwnwupubph
(Ubpwnyw| pjwuyubtiph) ppwywuwgdwu, [pwunyjwlwu b gnugnwiht Sdwnwjnientutbph
GGnpptipdwt hwdwp: Ywnwywpswywu dwnwinipintuutiph qény dwfuutinp bwiuwwnbuyb)
Gu 10,000.0 hwgq. npwd' 2016 pYwlwuh hwunwndwd gnigwuhoh swihnd b ubpwnnid

GU  wninhnnpuwywu  Jwutwghunwgywé Ywqlwybipwnieniuubph  dwnwjniegyniuutpp,
dwutwynpwwbu «Gpuwt pwnwpnud nbnwywu huptwywnwywpdwt dwupht» <L
optiuph 82-pn hnnwédh 4-pn Jdwupht  hwdwwwwwuluwu  Gplwu pwnwph 2016
pYwlywuh pnwbh  Yuwwpdwu hwoybnniguwt  JbGpwpbpw]  wulwju  wninhn
wuglwgubint hwdwp: LEpYwjwgnigswywt dwhuubiph gény dpwanyb £ 125,081.9 hwg.

npwd, husp wywlwu k2016 pywlwup 6oanwsd gnigwuhohg 7,100.0 hwq. npwdny, W
Uwfuwwnbudb] £ wwonnuwlwu  wwwdhpwynipyniuubph  punnwibnuegyniuutpp W
wpwpnnwywnpquwjhtu punyph dhongwnnidutiph htin Yuwywsd dwluubph, huswbiu twl
w2luwwnwywgdbpnid wnopjw ubpywjwgnigswlywu Sdwhuubipu hpwywuwgubiint hwdwn:
Cunhwunip punyph wj dwnwinieinwutpp dpwanyt| Gu 86,662.5 hwg. npwdh swihndy,

husp bpwnnw £ Gplwup pwnwpwwbinmwpwuh Jupswlwu 26upbph wwhwwuniejwu
swnwjinypntup, gnyph  Yybpwqlwhwwndwu, pusybu  twb  pwnwpwwbinwnpwup
woluwwmwlwgdh UL Jwpswlwu  opowutbph  woluwwnwlwaqdtiph  gnpdwnnyputipny
wwjdwuwynpwsd owbpwwnhy hwnnpnuygnigjwt wwywhndwu hwdwnp wuhpwdtion
swnwnypniutbpp bW wjju: Uwutwghunwlwt dwnwinyeniuttiph gény uwfuwwbuyby k
10,227.9 hwq. npwdh swihnd dwfuu' hpduwlwund wunwpnebph wpfupjugdwu

hwdwp, huswybu twb qwgph U wywnndwwn  hGnwhunuwlywjwuh  uwwuwplydwu,
hungwwwhh Swnwjnypjuwu hwdwp L dpwapyt) L 2016 pYwlwuh Gonwd pjniwthg

665.5 hwq. npwdny wwywu: Ukptuwubiph b uwppwynpnidubiph pupwghy tnpngdwt b
wwhwwudwu gény dpwanpyb £ 265,936.6 hwg. npwd' 2016 pwlwuh hwunwnywsd
pinbin bwjuwwnbujwéd gnigwuhohg 10,216.8 hwq. npwdny wwlwu, npp ubpwnnd L
pwnwpwwbwnwpwuph b Jwpswywu  gpowutbph  wywmndbpbuwubph,  qnyph,
hwdwlwpgswjhu  wbuuphywh b w) uvwppwynpnwubph pupwghy unpngnwip W
wwhwwunwip: <wpqwplutiph hhdpnud npygt) Gu 2016 pwywup qudwu gnpdpupwgh
wpryniupnd duwynpwd qubipp b pwnwpwwbitmwpwuh hwoytyonnd hwodwndws W
thwuwnwgh 2whwagnpdynn gnyph pwuwlwlwu gnigwuhoubpp, huswytiu twl hwoyh Gu
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wnuyt| 2016 pJwlwupu whwgnpdnuihg hwuwséd U owwpdwt ubplujwgywsd
wywndbipbuwubph gdény OSwjuubph ujwqgbignwiubpp:  Spwubjwywiht - Unyebp U

hwagniun hnnjwédny dwfuubipp dpwagpyb) Gu 75,991.9 hwq. npwd, husp ywywu k 2016
pYwlywuh hwunwwndwd pjngthg 8,630.0 hwg. npwdny, UL hwrqwplyyb Gu hhdp
punniubin  wpfuwwnnutiph pqwpwuwyp L gnpdniubtingjwu  hwdwp  wuhpwdtion
gpwubbjwywihu Ynyebtipp: Spwuuwnpuwihu unebpp dpwapyby tu 214,458.5 hwg.
npwdh swihny 2016 pYwlwuhu 6onjwd gnigwuhohg 30,431.6 hwg. npwiny wwywu W
hwodwpyyty 6Gu  Jupswlwu  opowtubphu uwwuwpynn  wywmndbpbuwubph

pYwpwuwyny, puswybu vwlb  npnp2  Ywnngwdpwhu  unnpwpwdwunwiubph
wnwudtwhwwynipyniuubpny wwjdwuwynpywséd  wuduwlywu  wywmndbpbuwubph
swnwinnwlwu  uwwwwlubpny oguwagnpddwt  hwuqwdwupny: YGugwnwihu UL
hwupwjhu uuunh uniebph gqény dpwagpyb) b 22,277.3 hwg. npwd' 2016 pqwlwup

hwunwwnywd gnigwuhohg 548.6 hwqg. npwdny wwwu: <wwnnly bwwunwlwiht wy
unyebiph qény dpwanyby £ 7,850.0 hwg. npwd' uwfunpn tnwpdw gnigwuhoh swihiny,
nph opowuwlubtipnud dowynipwihtu dhongwnnidubtiph, wninuwlwu W hhpwwnwyh opbiph W
wj| nbwptph hwdwp twhuwwbudb| £ dwnybwuwyubph b dwnywjhtu Yndwnghghwutbiph
GGnp  pbpnud:  Unipupnhwtbp  ny  Shtwbuwywt  wbunwlwu  (hwdwjupwiht)
ywqdwybpwnipiniuutiphu hnnwény dpwapyb) £ 279,718.5 hwg. npwd, husp ubpwnnid

E Gpuwup pwnwpwwbwwpwuh YJwpswlwu sGuph L 2-pn Jwpswlwu  gGuph
wwhwwudwu dwfuubipp, win pYnw' dwppdwu dwnwyniginiutbipp, unyebpp L pupwghy
w)| wotuwwnwupubipp: Uy bwwuwnubip pinigbihg hnnwdény uwfuwwnbiuyti £ 43,100.0 hwq.
npwd, nphg 200.0 hwg. npwdp hwwnlwgynid £ npwtiu fubindwu twywuw, huly 42,900.0

hwq. npwdp' npwbu npwdwlwu  pnfuhwnngnd  Gplwt  pwnwph  wjwgwunt
wunwdutiphu, W épwagpyt| £ 2016 pYwywupt Uwfuwwmbujwd gnigwuhoh swihny:
Mwpwnwnhp yéwnubipp gdny’ Ywnnigwédpwjhu L wnwuduwgywsd
unnpwpwdwunwubph  hwoytiypnnd  hwodwnwd wywmndtiptuwubph  wnbjuuhlwywu
quudwu dwfuutiph L winippbiph Jéwpdwu hwdwp dpwapyby £ 3,127.3 hwg. npwd' 2016
pwlywuh pnigtihg 30.2 hwq. npwdny wwYwu: Uy dwuubp hnnwény dpwanyby L
21,500.0 hwq. npwd' 2016 pwlwup hwunwunyws gnigwuhohg 500.0 hwg. npwdny

wwlwu' 2017 pwlwup pupwgpnd Ywnwlwpswlwu dwpdup wwhwwudwu hbwn
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wwywd wy| sywujuwwnbuywsd Swiuubph Ywd npwug thnihnfunyeyniutubph  hwdwp:
Spwuuwnpuwihu  uwppwydnpnudubph  génd’ hhu L UGS Swnwjnnulwu Sdwfuubp
wwhwuonn wywndbipbuwubtph thnfuwpphtdwtu twywwnwyny dbY wynndbpbuwh atinp
ptipdwu hwdwp, bwfuwwnbuynw £ 10,000.0 hwq. npwd: Ywpswlywu uwppwynpnidutiph

qdny dpwapyti £ 49,442.6 hwq. npwd' 2016 pwywuht twfuwwnbujwsd 107,644.0 hwgq.
npwdh nhdwg Ywd 58,201.4 hwq. npwdny (54.1%-nY) wwlwu: Opwgpywd gniwph
opowuwlubpnud  twpiwwbudtp £ pwnwpwwbwnwpwuh  Ywnnigjwdpwihu L
wnwudtwgywd unnpwpwdwunidubphu wnpwdwnpt| dhwju fupuin wuhpwdtiogun gnyp W
nbfuthyw' wwywhnybind wnwybugnyu futwjnnnie)niu:

2. dwpswlwt opjthwnutph hpduwunpngnid Spwagpny uwfuwwmbuyby §
13,000.0 hwg. npwd’ 2016 pywlwuh pnobing dpwagpywd 184,794.3 hwgq. npwdh nhdwg

ywd 171,794.3 hwqg. npwidny wwlwu: Opwagpwd gnudwph  2powtwyubipnd
Uwhiwwnbuynwd £ dwutwyph nwupph b fGYunpwlwunygjwu unpngdwt wotuwwnwupubip
hpwlwuwgub|] Gpuwuh pwnwpwwbtwnwpwuh 2-pn Jupswywu sGupnd (Rniquiunh 1/3
hwugtinud), huswbu twl npnawyh unp pupwghy unpngdwtu wpfuwwmwuputin Lnp Lnpp
U Ctuqwyphe ywpswlwu opowtutiph yupswywu stuptipnid:

3. Gphwt pwnwphtu dhowqgquihu Jupywuhy sunphbjnt Swnwnipiniuutph
nhiwg Jéwpdwu Swhuubp dpwapn uwpuwagdny dpwagpyb) £ 14,000.0 hwg. npwd:

2016 pwlwuhu Gpuwuh pwnwpwwbnwpwup Juwplwuhy sunphbint dwnwjniegintuutiph
GGnpptipdwt  hwdwp  wwjdwuwghp Yupbkg Fitch  dhowgqwiht  JwpYwupwjhu
gnpéwywinyejwu hbw, hul Swnwynipniuutiph Jéwpdwu Swhuubpp twluwwnbuybghu
Gpuwu pwnwph wywqgwunt 2016 pYwlwuh hnwuhuph 24-h N 553-U npnpdwdp Gpliw
pwnuwph 2016 pywlwuh pjnwbih wwhnwwnwihu $nunhg: <woyh wnubing, np dpwghpp
ownpniuwywywu £, 2017 pwywuht dSpwgpywd gnidwpu ninnybint £ unyu wywjdwuwgnphp
opowuwlubipnud ydwpnwubp hpwlywuwgubniu:

4. Lwnwpwghwliwu Lwgnipjwu wliwnbph gqpwugdwt  Swnwinipjwu

gnpéntubinipjwu Yuqdwlbpynd  (wwwyhpwyywéd jhwqnpnipyniuitip) dpwgpny

dpwapdbp £ 92,931.3 hwg. npwd npwbu  wwwndppwldwsd  hwgnpnipniu’  hhdp
punniubing << 2017 pwlywup  wbuwlwu pnwbh  twhuwgdn  uwfuwwnbuywé

gnigwuhppubipp:
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5. Lwhiwgéwihtt woluwwmwupubp dpwagpny twfuwwmbuytbi £ 126,750.0 hwg.
npwd' 2016 pYwlwuh hwunwundwsd pjngbng twuwwnbujwsd 149,700.0 hwq. npwdh
nhdwg Ywd 22,950.0 hwg. npwdn wwlwu' 2018 pqwlwuh pnwbu dpwgpbihu

Ywwhww| Spwagptipp  twhwgdwuwuwhwowiht  thwunwpenpetpny  wwwhnybijnt
hwdwp:

6. Gpluwtu pwnwph gqjuwynp hwwnwlwqdh hpwhwtwgdw Ybpnidnipiniu
dpwagpny twjuwwnbuyb) £ 18,000.0 hwg. npwd' 2016 pdwywup Gondwd pngbing
uwhdwujwéd 21,000.0 hwg. npwdh nhdwg, nph 2powuwyutipnid twfuwwmbuynwd £ uwl

Gpuwu pwnwph 2005-2020 pr. gjfuwynp hwwnwlwagsh Gogpundwu b [pwdowydwu
Uwuwwywwnpwunwlwu woluwwnmwupubin:
7. Snunpwynpiwt b Ywnnigwwywwndwt twjuiwgdtph dwynmd dpwgpny

twfuwwnbuy; £ 20,000.0 hwq. npwd' Rwuwpbn-2Gpeniu  Jwpswlwlu opowup
gnunhwynpdwt uwfuwqgdtiph dowldwt woluwwnwupubin wjwpunphtu hwugubiint hwdwn:
8. Lwnwpwohttwywt  Spwqptph  dwynmd  Spwgpny  Uwjuwwnbudb) |

10,000.0 hwq. npwd' bGpuwup pnyp pwnwpubph hbwn  hwdwgnpdwygniejwu
opowuwlubpnud ubpnpnudwiht dpwanpbph dowlydwu hwdwp:

9. TYhdnuwiubp, hwygwnhdnuubp, nuuwpwuh npngnudutph b yéhnubph
ntd ybpwptuhs b Jénwpbly pnnnpubp ubpluwjwugubihu vwhdwtujwéd Jbwpnidubp

dpwagpny uwfuwwbudb] £ 48,740.0 hwq. npwd' nwuwpwu nhdbhu whnwlwu
wnipptiph éwpdwu hwdwp, husp 3,800.0 hwg. npwdny wybj £ 2016 pywlwuh
toinjwd gnigwuhohg:

10.  SQnyph ujwwdwdp ppwynpubph qpuugiwt, quwhwwndwt L

wnbnbywwynipjwu nmpwdwnpdwt htn juyywsd Jewpnudubp Spwapny bwjuwwnbuyb)

£ 87,372.0 hwqg. npwd' 2016 pwlwuh hwunwwndwsd pjnigbh 90,430.0 hwq. npwdh
nhdwg, husp ubipwnnw £ huswbu Gplwu hwdwjupht ubthwlwuniygjwu hpwyniupny
thnfuwugywd gnypph, wjuwbu L puptwlwd Ywnnygubph ophtwlywuwgdwu
gnpépupwgnd  hwdwjuph  ubthwywunyentt  6wuwsynn  gnyph  gpwugdwt UL
quwhwwdwu Swluubpp, << YU wupwnd gnyph Ywnwuwnph whwwlwu Yndhunbiphg
wbintywwynyentt unwuw|nt yéwpubipp:
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11. Lwnuwpwghwljwu wwonwwunip{wul wowlgnipiniu 1]

Rhutwwywpnutiph hwodwndwu, gnpulynsh, gnpwhwywph b Jupdwljwu hwjwpubiph

Juqgdwlybpwdwut wowlgnipiniLu dpwagnpbipny Uwfuwwnbuyb| Gu

hwlwwwuwnwuluwuwpwp 16,000.0 hwg. npwd L 17,500.0 hwq. npwd, huyp
wwjdwuwynpjwsd £ gnpdnn optiunpnypjwdp twiuwwnbujwd tjuquanyu b wuhpwdtion
wowlgnieintut wwwhnybiiny: 2016 pwlwuh dandwsd pngbth ulwwndwdp gnidwpp
opwagpyb | 8,500.0 hwg. npwiny ywlwu:

12.  Uypuwmpwupwihtt  wyluwwnwtpwiht  dSwnwjniyejuu  hpwlwuwgnid
dpwagpny Uwluwwbuyb) £ 23,490.0 hwg. npwd' hhdp punniubing << 2017 pywlwup

whwmwywu pjnbh twfuwgdény twjuwwnbujwsd hwdwwwwnwufuwt dpwahpp:
13. Nnngiwt gwugh Ywnnignd b yGpwunpngnid Spwagpny twfuwwmbuybi &

73,581.5 hwgq. npwd' Ugwihujwy Jwpswywu opowup Upjpljwu pwnwdwuh nnngdwu
gwugh (Jwjpninnt) unbinddwu, huswbu twl Gplwu pwnwph Jupswywu o2powutbpnud
wnyw upqudwpgbpnud nnngdwt wwwhnydwu hwdwp' hpdp punniubing uwhdwudwd
Ywpgny Ywaqiwsd twuwhwogwiht thwunmwpenebpp:

14.  Wudwjn-pbnntujw dwéyh ypwunpngnid b wwhywund nt wudpwjn-
pwnntuyw édwsyh hhduwunpngnd dpwgpbipny twuwwbuyb £ 3,706,000.0 hwg. npwd’
2016 pywlwuh hwunwwnywsd pjngtih 3,865,600.0 hwq. npwdh nhdwg Ywd 159,600.0

hwq. npwdny wwlwu: VLVwpuwwbujws gnudwphg 3,284,000.0 hwq. npwdp
twpiwwnbujwsd £ << 2017 pwlwup  wbuowlwu pnbh  bwjuwgdny  npwbiu
Uywwnwywiht hwnwgnud (unipytughw): Lowsd punhwunip gnidwph opowtwlubpnud
Uwhuwwnbuynd £ hpwlwuwgub onipg 810 hwq. pd wudpwin-ptnntyw dwdlyh pupwghy
yGpwunpngdwtu  woluwwmwupubtip, nph 60-70%-p Uwfjuwwnbuynid L hpwlwuwgub)
pwywihtu wnwpwdpubpnd® winwhuny pun Enppjwu wwpwnptu hwugubind  pwywjhu
wmwpwopubiph unpnqdwu  wotuwwnwupubiph dpwahpp, huswbu twl gonipg 5,000 pd
gpniunwihu dwuwwwphubph hhduwunpnglwu wfuwwnwupubp:

15.  Ggqpwpwpbph yGpwunpngnid dpwagpny twjuwwnbuyb) £ 46,250.0 hwag.

npwd' Jpwnpjwd tgpupwpbph Yyepwunpngdwu b hnfuwphudwtu hwdwp, huswbu utwl
pwjpwjywé ptnnub Ggpwpwnpbiph yipwywugqudwu hwdwn, husu wyb| £ 2016 pywlwup
doindwd gnigwuhohg 3,289.6 hwg. npwdny:
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16. <Lhuwwwwbph yGpwunpngnid dpwgpny twluwwnbuyb) £ 92,000.0 hwg.

npwd' 2016 pqwlwup ondws pngbh swipny' hwdwwwunwufuwyu twiuwhwowihu
wndbputipny: Unlw pwpwjht hGuwwwwnbphg puwnpdb| Gu wnweuwjhuubipp:
17. <bwpnntu  wugnidubph  Yunmgmud b gyGpwunpngmid  dpwgpny

Uwfuwwnbuybk) £ 412,000.0 hwqg. npwd, nphg 7,000.0 hwg. npwdp' hGnpnnu
wugnwdutiph ybpwunpngdwt wyluwwnwupubp hpwlwuwgubint hwdwp, huy 405,000.0
hwq. npwdp' pYny 5 Ybpgbunujw wugnwiubph Yunnigdwu hwdwp: Cun npnd pYny 5
ytpgbintyw wugnuubph  Ywnnigdwtu Spwghpp uwfuwwbuybp £ Gplwu pwnwph
wywguwunt 16.03.2012p. N 404-U npnadwdp hwjwuniypjwu wpdwuwgwd dpwagpny W
hwoywnpyyt| £ 2huwpwpnipjuu wpdtpp' 400,000.0 hwq. npwd, nph Jéwpdwu nhdwg
Uwluwwnbuyb) Bu 260,000.0 hwg. npwd’ wpnwpht gndwgn wbnunpbint enyunyniejwu
wnipph L 140,000.0 hwg. npwd' gnugnwiht  wnwpwdph Jwpdwydbwph gdny
GUwdnunubip: Unwnptiph W Gjptiph hunwy wpdtpubpp Yéauwynpybu qudwu dpgnipwjhu
gnpdpupwgh wpryntupnud: Uugnudubiph Yunnigdwt  inbjuuhlwlwu b hGnhuwywihu
huynnnipjwu dwnwyniyniuutiph wpdtpp' 5,000.0 hwq. npwdh swihny twiuwwnbudby §
Gpuwu pwnwph pnwth dhongubiph hwoyhu: Opwagpny uwfuwwnbujwsd gniguwuhop
wwlwu £ 2016 pYwywuph hwunmwinydwsd pjniwtihg 47,000.0 hwg. npwdny:

18.  UYwdpowjht yunnigjwépubph ybpwlhwugqunid b ywhwywiund dpwgpny
uwfuwwnbuyb) £ 90,000.0 hwg. npwd' 2016 pYwlwuh 6oandwd pniwbing twluwwnbuwd

gnigwuhoh swihny W ninnybnt £ Gplwt pwnwph Yuwdnipgubinh, ytipgbnuyw wugnudutiph
U ninbwugbiph uwywuwpydwu wofuwnmwupubiph hpwywuwgdwup:
19.  Spwgnuup Yhpéh pwpblwpgnid dpwagpny twjuwwnbiugtb) £ 2,000.0 hwg.

npwd' pupwghy wwpjw hwdwwwunwufuwu gnigwuhoh swhnd' Upwpyhp Jupswywu
opowuh dwuny pupwghy pwptwpgdwu b dwppdwt wotuwwnwupubph hwdwp:

20. Uwjpninpubph U ihnnngutph  JbGpwywnnignid b hphduwtunpngnid
dpwagpny wfuwwnbuyb) £ 50,000.0 hwg. npwd' 2016 pwlywuph Gondws pjnigtihg

50,000.0 hwg. npwdny wwlywu: Opwgph 2powtwlyubpnd  vwjuwwnbuynd L
hpwywuwgub]  YGunmpnuwywu L dwpnwowwn hwwndwdubpnd  dwyebiph
uwhjwwwwndwu wotuwnwupubp:
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21. ®nnngubiph wwhwywund b whwgnpémd Spwagpny Lwjuwwnbuyb) &
60,000.0 hwgq. npwd' 2016 pwlwuh Gandwd pnobh swihny, nphg 20,000.0 hwg.

npwdp'  pwnwph  wwppbp hwndwdubpnd dbnwnwywu  gwulwwwwnbph
btpwunpngdwu b ubpydwu, puy 40,000.0 hwg. npwdp' Gplwup wwppbp hnnngubiph
dpouwwwuwnbph b wy hwwndwdubiph pupwghy pwpbwpgdwt  wofuwwnwupubpp
hwdwjupwiht Yugdwybpwnipynwuubph dhongny hpwlwuwgubint hwdwn:

22.  UWjwnjuwjwuwwnbinh Yuqiwlbpwydwt SwnwjnipinLl opwagpny

Uwfuwwnbuyb) £ 817,000.0 hwqg. npwd' 2016 pwlywup pnigbh dondwd gnigwuhoh
swihnd, husp hwodwpyyt] £ «Udunnunpwuuwnpunwihu dhongubph  Yuwjwuwwnbintph
wmbnulwu wnnipph dJwuphu» << optiupny bwfuwwnbiujwé nnipptinhg W syéwpdwu hwdwn
uwhdwuywd wnnwqwuputiphg wyuywynn dnwnpbiphg wyunnlwjwuwwntinh
Ywaqdwybpwshu dwnwnyeniuubph nhdwg wwjdwuwagpwihu wpdtipny:

23. f(ehpwhwppwlyubph Yunnignid b wywnnpniuttpnid ptpwhwppwlyutph
wwwhndnud  Spwapbipny’ wbnwowndybint nddwpnigyniu niubignn wudwug  Ynndhg
ubpyujwgwsd  wnwouwhbppnipjwdp'  wbnwowpddwu  dwwnskihniyenitu - wwwhnybnt

tywuwwyny twhuwwbuyb] £ hwdwwywwnwujuwuwpwp 47,000.0 hwg. npwd' 2016
pYwlwuh Gondwd pnigbhg 7,000.0 hwq. npwdny wdb) dinnngubpnud bW Jwypbpnud
onipg 400 phpwhwppwlubph Ywnnigdwtu hwdwp U 20,000.0 hwqg. npwd’ Gplwup
Gupwywjniggwu  pYny 5 wywnpnwubpnd  pbpwhwppwyutpph  Jwd  hwwnnty
ytpGiwywjhtu hwpdwpwuputiph dtinp ppdwu W nbnunpdwu hwdwp:

24.  ®Pnnngubiph, hpwwwpwlyubph b wyghubph Ywhwynpmd Spwgpny

Uwfuwwnbuyb| £ 274,800.0 hwqg. npwd, nph 2powtwyubtipnid vwfuwwbuynwd L &binp
ptip; W Jwpswywu opowutbph thnnngubpnwd  wnbinunpb] unpwné  buwnwpwuubn,
wnpwdwutbp, thnnngubiph  nunbupotip, Swnwpubph JdGwnwnwywu Swdéynypubn,
hwjwnwpwpnieiniuubph gnigwwnwfuwmwlubp, inbinwnpb| pwnwpwjhu unp
huunmwywghwubp, wyghubipnd  wybjugul] Uunwpwuubph  pwuwlyp, pwybpnd
wmbnwnpt| gpnigwpwuubp, huswybu twb  JGpwunpngb]  bwfunpn wwphubphu
wnbnunpywé bunwpwuubpu nt wnpwdwuubpp:

25. Uupwlwiu pwulh wowlygnipjuwdp hpwlwiiwgynn  pwnwpwihu

Gupwwnnigywdépubiph b pwnuwph Jwintt qupgqugdwu ubpnpnudwihtu dpwagph
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hpwgdwu dhongwnniudubip dpwgpny twjuwwnbiugt) £ 1,575,000.0 hwq. npwd: Gplwu

pwnwph 2pswughly Gwuwwwphh Ywnnigdwtu Spwagph ppwlwiwgdwu Uwywwmwyny
Gpuwu pwnwph Jwpswlywu uvwhdwuubpnd pwgwnhy qbpwlw hwupwht 2wh
dwuwswd  wwpwdpubpnd  quuynn  owwpynn  ubithwlwunyewu (hnnh) nhdwg
thnfuhwwnnignid wnpwdwnnbint hwdwp’ npwtiu ubpnpnudwihu opwagph
hwdwbhuwuuwynpnd:  Loywsd  Spwagpny 2016  pwywup  Gonmjwd  pngbkng
Uwhuwwnbuywd Ep 866,973.6 hwq. npwd: 2017 pywlwuhtu hpwgdwu wofuwwnmwuputinh
wywpwuiny wwjdwuwynpywd Gpuwu hwdwjuph pjnobhg hwdwbhuwuuwynpdwt dwup
unyuwbu Yuwywpwnyh:

26. Uupwlwtu pwtyh wowlgnipjudp hpwlwtiwgynn pwnwpwihu

Gupwlwnnigywéputph U pwnwph Yunt qupqugdwu ubpnpnidwiht  dpwghp
(wwyphpwlywsd jpwgnpnipniuitp) dpwgpny uwfuwwnmbuywé £ 3,544,937.4 hwq.
npwd <L 2017 pwlywuph wbwwlwu pngbh twuwgdn twhuwwnbujwd gnigwuhoh
swihn, nph  opowuwlyubpnd  Gwjuwwnbudnd £ wlwpwhu  hwugubp  2powughyy

dwuwwwphh Yunnigdwu hhtu wnpwuony twfuwwnbujwsd Upawynitujwg wynnnuinw-Chpwyh
thnnng-Upunwpwwnh fubninh 6wuwwwphwhwwnywdh 2huwpwpnieiniup b wwywhnybip win
dwuny yéwpnudubpp, huswybiu bwl unyu wnpwuh 2powtuwlubpnid hpwywuwgut) Gpluwu
pwnuwph unp tippninwjhu gwugh, dhwutwywu b fEYunpnuwht nnduwjht hwdwywngh
dJowydwu wofuwwnwupubipp:

27. Jdbpbjwyubph hhduwunpngnud dpwgpny twjuwwnbuyb) £ 103,523.3 hwq
npwd' 2016 pwywup  hwunwndws pngkhg 5,132 hwg. npwdnd  wyby’

pwqlwptwwpwu gGuptiph ybpGwyubph hwdwp uwppwynpnudubph dbnp pbipdwu W
nbnunpdwt bwywwnwyny:

28. bpuwuhp dbwnpnynjhnbuhp w2fuwwnwupubiph Juqiwlbpwynid
(wwyhpwlyws jhwgnpnipyniiitp) Spwapny twjuwwnbuygb) £ 2,703,543.3 huwaq.

npwd'  dGwmpnwynipwbup  untpupnuygnpdwu ywwnwynd' npwbu - wwndppwldwd
lhwgnpnieyntt’ hpdp punniubingd << 2017 pwlwuph wbwnwlwu pngbh twuwgdny
Uwfuwwnbuywd gnigwuhan:

29. Jdbkpqgbunujw Eltywmpwwnmpwuuynpunny ninunpwithnfjuwnpdwi

Swnwjnipynit Spwagpny twjuwwnbudb| £ 611,146.6 hwq. npwd npwbiu unipupnhw
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«Gplwup LGYyunpwwnpwuuwynpun» PRL—hu, nph dpwapdwu hhdpnw pulwsd £ <L 2017
pYwlywuh whwwlwu pjnobh twjuwgdny twjuwnbujwsd twwwnmwlwihtu hwnlwgnidp

(unipdiughw):
30. Jdbpwlwnnigdwtu b qupqugiwiu EYypnyuwlwtu pwuyh, Gdpnwywlwu

uipnpnudwiht pwulp, Gdpnyuwlwu  dhnipjwt hwplwuniypquu  ubpnpnuidwihu

spwaph U Upubpjwtu Gdpnwywih Eubpgquhitwinnnipquwtu b patwwwhwwuwljwi

qnpépultipnipiwu $nunh wowlgnipjudp hpwlwuwgynn Gplwuh dEnmpnynihnbtuhp

YyGpwywnnigdwt dpwgptpny (ywwyppwljwéd jhwgnpnipnibubtp) twhuwwnbuyb| Gu

punhwunip 4,168,768.7 hwq. npwdh dpwapbp npwbu wwwndppwldwsd hwgnpniginiy’
hpdp punniutiny << 2017 pwywuph wbunwlwu pjngbh twfuwgdény twfuwnbuwsd
hwdwwwunwuluwu dpwagpbtipp (qwuyp Ygynud k):

31.  Rpnuwponipjutt  qupgqugnud  Spwgpny  Uwfuwwbuybp £ 25,000.0
hwg.npwd' 2016 pwlwuh hwunwwnywsd gnigwuhohg 5,000.0 hwg. npwdnyd wybp’

Gplwu pwnwph (wn pYnd' wbuwpdwu Jwipbph) JGpwpbpw] wnbnbluwndwywu
pniyGwnubph wwywgpdwtu UL wnwpwddwu, huswbu twlb Gpuwup gpnuwpohlubiph
hwdwp dwuwskih nwpaubntu ninnwé dhongwnnwdubph hpwwuwgdwu hwdwn:

32.  Tpnyubiph wbnwnpmd dpwgpny twjuwwmbuyb) £ 45,000.0 hwqg. npwd,

husp UGpwnnud £ puswbu  hwwnly  opbipht pwnwph  npnawlwqupndwu
woluwwmwupubtipp, wjuwbu L pwnwph wwppbp  hwndwdubpnud <L npngubiph
wmbnwnpndp, wwppbpwpwp hnfuwphunwp, uywuwpynup b bwfuwwnbuyb)] £ 2016
pYwlywuh hwuwnwunywd gnigwuhohg 4,000.0 hwq. npwdny wwlwu:

33. Ugwlgnipjniu hwdwjupwjhtu Yuqiwlybpynipyniuubkpht

hninwpywynpnipjntuutiph htin juwdwéd wudbwp dwnwinipintuutiph dwwnnigdwu b

gipiqiwtwwmutph wwhywudwt hwdwp dpwgpny vwfuwwmbuyb) £ 23,591.0 hwg.
npwd' 2016 pwlwuh hwunmwwndwsd gnigwuhoh swihny, husp Spwapwynpdty £ hhdp
punniubny << wnwywpnipjwu 2006 pwlwuh untidptiph 23-h h. 1910-L npn2dwl h.1
hwybjywédh 16-pn Ytwnp b vwhuwwmbuyb £ gbipiquuwuwwmubph ypw wudbwp nbnwnpynn
dunwnwlwu gnigwuwyubph hwdwp, huswybu twlb Yndhwnwuh wudwu wwupebtinuh

wwhwwunypjwu hwdwn:
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34. Ywnwwpdwu U wbnbjuwwnjwlwu wbluuninghwubph  qupqugnid

dpwagpny Uwjuwwbudby £ 134,656.8 hwqg. npwd' pwnwpwwbnwpwuh dpwgpwjhu
wwwhnynud b gwugwjhu nGlwywpnwd hpwlwuwgunn «Gplwt pwnwph Yuwnwywpdwu
wbfuuninghwubph YGuwnpnu» PPL-hu unpupnwynpbint hwdwp b épwagpyb| £ 2016
pYwlywuh hwuwnwunywd gnigwuhoh swihny:

35. Ugpwlgnipjniu hwdwjupw)jhts T} ny hwdwjupwjhta

Juqdwlbpynipiniuubph dpwqpbpht Spwgpny twjuwnbiuyb £ 262,534.3 hwq. npwd,
nphg 210,534.3 hwq. npwdp Yppwlwu, dowynipwht b wj Yuwqdwybpwnieginuubph
Gpuwu pwnwphu ybpwptipnn dpwagpbphu wowygbint twywwnwyny, huy 52,000.0 hwgq.
npwdp Jupswywu opowututiph hwuwpwlwywu Yugdwybpwnipniuubphu opowuutippu
ytpwpbpynn wwppbip dpwaptphtu dwutwygbnt hwdwn:

36. Ny  Ppuwtuwlwt  wlnhdubph  owmwpnudhg  dnunpkp  Sdpwgpny
Uwfuwwnbuyb] Gu dnunpbp 4,075,753.2 hwq. npwd' 2016 pYwlwuphu hwunwnwd

5,094,387.4 hwq. npwdh nhdwg, wjn ynd’

w) wupwpd gnyph hpwgnwihg dnuwnpbipp dpwagpyti tu 650,000.0 hwq. npwdh
swihny, nphg 400,000.0 hwq. npwdp << Yuwnwywpnipjwt 2006 pwywuh dwjhuh 18-h
h. 912-U npnpdwdp  Uwjuwwnbujwd hupuwlwd Ywnnygubph ophtwlywuwgdwu
gnpdpupwgnid Ywnnygubph onwpnuwhg b 250,000.0 hwg. npwdp' Gplwu hwdwjuphu
ubithwlwunypjwu hpwyniupny  hnfuwugwd U owhwagnpddwt hwdwp ny whwwuh
Ywpuwjwwnutiph W wy| gnyph ownwnnidhg,

p) hnnh owwnpnidhg dnwnpbipp dpwagpyty tu 3,425,753.2 hwq. npwdh swihny,
nphg 2,825,753.2 hwq. npwdp' hnnbph wénipnny W ninnuyh Jwdwnpny omwpnidubiphg,
hul} 600,000.0 hwg. npwdp' opnhtwywuwgywsd hupuwywd Ywnnygubph gpunbgpwd U
uywuwpydwu hwdwp wuhpwdtign hnntph onwpnudhg: <wowplyubpu hpwlywuwgyb)
Gu hhdp punniubind gnypwgpdwu  wpryniupubipp, pupwghy wwpyw ownmwpdwl
dhuinnwdutipp W gnpdpupwgh wyunhywgdwu huwpwynpniejniuubipp:

37.  Snuwlywu duwynpmd Spwagpny uwjuwwnbuyby £ 40,000.0 hwq. npwd'

nnuwywu opbipht Gplwu pwnwpp wWwwowéd duwydnpbint, win pYnd’ ninuwywu |nyubp
W uwppwynpnudubip dGnp pbptint hwdwp b dpwagpyb) £ 2016 pYwlwuh hwuwmwunywsd
gnigwuhoh swithny:
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38. <Qwugbwynpiwt wrluwwmwupubp Spwgpny twjuwwnbuygt) £ 100,000.0

hwq. npwd’ Gplwu pwnwph wjwgqwunt 2011 pYwlwup dwjhuh 6-h «Uuswnd gnyph
hwugbih npwdwnpdwu nhdwg Yyéwp uwhdwubiine dwuhtu» N 224-U npnadwt hwdwdédwju
hwugbwynpdwu Sdwnwnigyniuutip dbinp pbipGint bwwwnwyny b hwodwpyyby £ 2016
pYwlwuh Ywufjuwwnbuynn Ywunmwpnnwlwuhg Glubiny:

39. LUbpnpnuiwjphtt épwgpbiph  ppwywbwgnid dpwgpny vwfuwwmnbiuynd §

118,200.0 hwg. npwd' 2016 pwywup hwunwwndws pngthg 10,000.0 hwg. npwdny
wwlwu, nphg 8,200.0 hwq. npwdp twjuwwbuynd £ ubpnpnwdwihu dpwgptiph
yGpwpbpjw mwpwwnbuwly nbnGlwwndwlwu ppngynipubiph, pniyGunutiph, Yuwwwingubipp
L ubpnpnudwiht wnbnGlwwnywywu gppnylyubph nwwgpnipjwt hwdwnp, npp tywwnwy
ntup  hpwqblbint hutwpwynp UGpnpnnubiphtu, huswybu twlb hwuwpwynipjwl  (wju
otipnbtipht dwjpwpwnwpnd htwpwynp ubipnpnudubp  ppwywuwgubine hwdwp, huy
110,000.0 hwq. npwdp uwfuwwbuynd £ npwbu unipupnpw  hwwnlwgut) «Gplwuh
Ywnnigwwwwndwu ubpnpnidwihu dpwgpbph ppwywuwgdwu gpwubtjwy» <NUY-pu:

40. Muwpwunwnpp Jéwpubph qwuddwt  Swnwynipiniiutp  dpwgpny

uwfuwwnbuyb) £ 345,925.9 hwg. npwd, nphg 15,570.0 hwq. npwdp’ wnpwhwuniyejwu
Jéwpubiph Ywufupy qwuddwu wunnppwagpbph nwwagpniejwu hwdwp, 213,497.4 hwg.
npwdp'  wnpwhwunyejwu  Jéwpubph  qwudnup  owbpwuwnpubph  Jdhongny
hpwywuwgubint hwdwp, b 116,858.5 hwqg. npwdp' Unyu Swnwjnipjwu nhdwg
(ubpwnyw|'  hwdwwppnigyniuubpht)  Jéwpdwtu  hwdwp:  OSwnwjnyginiuubph nhdwg
Jéwpnuip bwfuwwnbiuyb| £ hwunwgh quudynn wnpwhwunyjwu yéwph 10%-h swhny:

41. Unwudutwhwwinly wwijdwuubph Ywphp niutignn wudwiug  hwdwp

dwuwstihnipjwu wwywhnynd dpwgpny twfuwwnbiuyt) £ 7,000.0 hwg. npwd, nphg
2,000.0 hwg. npwdp hwpdwunwdubppht  wywnnluwjwuwwmbnhh  wpwnunienlu
uwhdwubnt b 5,000.0 hwqg. npwdp' pYny 40 wywnnpnwubpnd ninunpubph W Ynyp
hwodwunwdutph hwdwp hwuwpwlwlwu npwuuwnpunhg ogwnybint dwwnskijhnypjwu W
hwpdwpwybwnipgjwu  wwwhndwu, Ywuqwnubpp  wydunndwun  hwjnwpwpdwu
hwdwlwpgny Yywhwynpdwt hwdwp:

42.  Unpwhwunipint b uwtuhnwwpwlwt Jwppnid dpwgpny twluwwnbuyb) &

5,128,670.3 hwq. npwd, nphg' 5,108,670.3 hwqg. npwdp bLpuwu pwnwpnd
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wnpwhwunyRjwu bW vwthnwpwywu dJwppdwu dwnwnyniutbp dtnp pbiptiint hwdwnp W
hwodwnpyyb| nu dpwagpyt) £ 2016 pwlwuh hwunmwindws gnigwuhoh swihny, huy
20,000.0 hwgq. npwdp dpwanpjwé b wnpwdwuubph hwdwp gpwywuhlyubph Yuwnnigdwu
Uwywwnwyny:

43.  Unpwdnintph uywuwpldwt b shtwpwpwyut wnph wnbnuihnfjudwi
dwnwynipymiuubip dpwagpny twjuwwbuyb £ 352,136.5 hwq. npwd' 2016 pYwlwup

hwunwwywd gnigwuhsh swihnd: Wu Spwagph 2powtwlubpnd  bwfuwwnbuynwd L
«Yunudubiph dwuhu» << optiuph hwdwwwwwufuwt punpwd owbtpwwnph dhongny
uywuwpybp Gpbwu pwnwph pwqiwptwlwpwu stupbph wnpwdnintpp (fugwudwu
dwppntd, wlunwhwuntd), hpwlwuwgut]  wnpwdnintipp wnppunniupsutipp
yGpwunpngnp, huswbu twb  wwwhnytp Jwpswwu opowutbpnd  hwjwpywd
ohtwpwpwywu wnph pwpdnudt ni nbinwihnfundp:

44. Jdbpwywnnigdwt b qupqugiwt Gypnywlwu pwuyh, GYypnwywlyw
ubpnpnudwyphtt~ pwiiyp,  Upbbpwt  Gypnyuwih  Eubpquputwinnnipjuwu L

ptwwywhywuwlwu  gnpépuybpnipjwa $nunh b Gdpnwwlwtu  Jhniypu

hwpbhwunipjwu utipnpnudwhu gnpdhph  wowlhgnipjwdp hpwwuwgynn «Gplwuh

Ynown pwihnuubph junwyjwpdwt» dpwqgptpny (wwnyhpwyywé jhwgnpnipiniuubp)
Uwfhuwwnbudb| £ 4,562,509.3 hwq. npwd << 2017 pjwlwuh wbunwlwu pjnipbh
Uwhuiwgdény twjuwwnbiujwd gnigwuhoh swihny, nph 2powtwyubpnd bwfuwwnbuynd k
2017 pwywuhu deluwpybp b ppwlwiwgut] Gpuwu pwnwpnd unp wnpwywjph

Ywnnigdwtu b gnpénn wnpwywjph dyniuwgdw woluwwmwupubipp:
45.  Qlwbph hniubiph Jwppnud dpwgpny bwfuwwnbuyby k 38,683.0 hwg. npwd’

pun  Jwpswywu  opowuubpny  wugunn  hwwndwdubph'  hwdwwywwnwufuwu
hwojwnpyutipny, 2016 pYwywuh hwunmwwnydwsd gnigwuhoh swihny:

46. Ywuws wwpwépubph hhdund b wwhwwund dpwgpny twfuwwnbiuybiy L
1,631,000.0 hwg. npwd' 2016 pYwlwupt twluwwnbujwsd gnigwuhoh swihny, nphg

1,571,000.0 hwg. npwdp Uubpwnnw £ Ywuws wwpwdpubph  wwhwywudwu
swnwjnypntutbpp, Ynyebpp W nnngdwu 9oph wpdtipp, dwnbiph flndwu Sdwnwjnieiniup,
20,000.0 hwq. npwdp' wuyhubpp abnppbpndp, 40,000.0 hwq. npwdp’ pwnwph
ubithwlwunipiniu hwunhuwgnn nujwpwup Yywhwwudwu dwfuubipp:
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47. Upwwhwtdwtu b Jdhowwnwgbpédwt  Swnwjnipyniiutp  dpwagpny

Uwfuwwnbudb) £ 40,671.0 hwg. npwd’ Gpuwu pwnwph wwppbp hwndwdubpnd
nbnwwnhqughnt  wfuwwmwupubph Ywqdwybpwydwu hwdwp L Sdpwgpdtp L 2016
pYwlwuh 62nywd gnigwuhohg 380.0 hwq. npwdny wwwu:

48. Qwuwpwlwlywtu gniqupwuutph wwhywumd b JEpwunpngnid

dpwagpny  twjuwwbudbp £ 2,420.0 hwq. npwd  wwhwywudwu U dwppdwu
w2luwwmwupubtipnp Yugdwybpwbiint hwdwp:
49. Uhqwdwpgbph unbtnénmd b dwnwwwwnd Spwapny twjuwwnbiugb) L

311,500.0 hwq. npwd' 2016 pwlwuh dondwsd pjnigbhg 1,400.0 hwg. npwdny wwlwu,
hush opowtwlutipnud vwfuwwbuynd £ qugnuwwwwb] b dwnyuwwwwnb| pwnwph
thnnngubiph, hpwwwpwlubph W pwnwph dnwnpbph 2powlwypp: Cun npnud’ updwd
gnudwph  opowtwlubpnd  wyblh  wpryniwwygbn Yugdwybpwbine - wpryniupnd
Uwpuwwnbuynid £ &bnp  pbptp  dwnwuwdhjutp, uhqwdwpgbph uwnbnddwu L
wwhwwudwtu hwdwp wuhpwdtion pniuwhnn b Yuwpdhp wywq, huswbiu twb wwwhnyb)
nbnwywu dunwnwiwnp wuypubph b uwdhjubph dbnppbpnudp’ npwuny puy bwwbu
wybjwgubiny  Gpuwu pwnwph upqwdwpgbph  Swnuwwww U Ywluwswwwn
dwytiptuutipp: Npn2 Ynyetiph dtinpptpdwdp U ogunwgnpddwdp Uwjuwwnbuynid £ uwl
uhqwdwpgbph ginwpytunwywu dLwynpnid:

50. fGwthwnnn YGunwuptubph Jowuwqbpémd oSpwgpn Uwjuwwnbudb) §
115,000.0 hwg. npwd' 2016 pwlwup hwunwndwsd pjngbhg 5,000.0 hwg. npwdny

wwlwu' Bplwu pwnwpn  pwiwnnn  Yeunwuphubph  Juwuwgbpddwu  fuunhpp
Ywunuwlwpgbnt hwdwn:

51. buptwywd Ywnniygubph pwunmd Spwgpny twfuwwbiuyt] £ 20,000.0
hwq. npwd’ wju huptwlywd Ywnnygubph pwundwu hwdwp, npnup huwpwynp sk
hpwlwuwgub)] Yunnigwwwwnnnutiph hwayhu:

52.  Qnppnpn  wuwmhbwiuh Jpwpwiht kupbph pwundwu Spwgpny 2017
pYwlywuht twjuwwnbuynd £ 30,000.0 hwq. npwd: Opwgpny Uwfjuwwnbuynid L

wuwwhnyb] hwdwwwuwnwuluwu dpwapph 2powuwyubipnud ybipwpuwytigywsd b wqunygwsd
ypwpwjhu 2tuph pwunntdp:
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53. Spwuupwih <Swupwybwnnipjwt  jwnwwpnipjut  wowlgnipjudp

hpwiwuwgynn Gpuwuh opwdwwmwlwpwpdwtu b opwhbnwgdwu  Spwqgphtu

wpwdwnpynn wnbjuuhywlwu wowlygnipjwu  épwgpny (wwyhpwlyws

thwgnpnipinibubp) b Jdbpwlwnnigdwtu b qupqugdwu  Gdpnwuwlwu  pwulyh,
Gdpnwuwlwu ubpnpnudwiht pwubh b Bdpnwwlwu  Jhnipjwu  hwplwunipiw

utipnpnidwihu Spwqnh wowlygnipudp hpwlwuwgynn Eplwuh

opwiwwnmwwpwpdwu pwpbjwyddw opwqpbtpny (ywunhpwlywsd
thwanpnipyniuitp) twiuwwnbuyb) £ 3,997,269.6 hwq. npwd' npubu wwundppwldwd
lhwgnpnipniuutp W Sdpwapyt] £ << 2017 pywlwuh wbwwywu pngbh bwfuwgdny
Uwfuwwnbuywd gnigwuhubiph hhdwu Ypwi:

54. GChuptph gbnupjbunwlywi jnuwynpnd  Spwagpny  utwfuwwmbudb) §
9,000.0 hwq. npwd' Chugwyhp Jwpswywu opowunid F. Ldnbhh hpwwwpwyh U

Pwagpwuwniujwg thnnngh tuptiph  ubnuwjht  |nwynpnieyniup  yGpwywuqubine L
wwwhnybnt tywwnwyny:

55. Upwnwpht nwwydnpnipijutu quugh swhwgnpddwt b ywhwywudwu

w2luwwnmwupubip dpwapny twluwwnbuyb) k 2,272,039.1 hwg. npwd ubpywynwu gnpdnn

[nLuwynpnigjwu ntidhdh ywhwywudwt wywpwaquwjnd woluwwnwupubph Yugdwybpwdwu
hwdwp: Opwghpp twjuwnbuwsd £ << 2017 pwywup wybwnwlwu pnigh bwfuwagdny
Uwhiwwnbujwsd uywwnwwiht hwnwgdwu (untpytiughwih) hwoypu:

56. Jbpwlywnnigdwt b qupqugiwt bGypnywlwiu pwuyh, GYypnwywlyw
ubpnpnudwyhtt~ pwiihp,  Upbbpwt  Gypnyuwih  Eubpquputwinnnipjuwu L

ptwwywhywuwlwu gnpédpuyipnipjwu $nunh  wowlygnipjwdp b Bypnwyuwlwi
dhnipjwt hwpbwunipjuu ubipnpnudwihu gnpdhph Jhonqubpnd $huwttuwynpdnn

«Gpliwtuh pwnwpuwihtu (nuwydnpnipjwi» Spwqptipny (wwwdphpwygwé
lhwgnpnipynitiutp) twjuwwnbudl) £ 1,328,372.6 hwg. npwd <K 2017 pywlwuh

whwwywu pnwtih twfuwgoény twjuwwnbujwsd gnigwuhoh swihny, nph 2powuwyubipnid
Uwhuwwnbuynud £ 2017 pqwywuptu duwpyt; b ppwlywuwgub) Gplwu pwnwph pyny 28
thnnngubiph (nwynpnipjwu gwugh wpnhwywuwgnd'  wnlw jwywagnyu
wbluuninghwubph  Yppwndwdp'  wwwhnybind  pwnuwpnd  Eubipguwpmyniuwybin
[ntuwynnniyniu:
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57. Ghupbtph L shunipynibubiph hbnwgnundwt wluwwmwupubp dpwagpny

uwfuwwnbuyb) | 15,000.0 hwq. npwd’ 2016 pwlywup hwuwnwndwsd piniobh gnigwuhahg
5,000.0 hwg. npwdny wwlwu, pusp ubpwnnd b pwqdwpuwlwpwtu buptpp
Jprwpwjuniejwu wuwnhbwup hGunwgnunwdp UL hupuwlwd Ywnnygubipp
ophuwywuwgdwtu  gnpdpupwgnid  Ywnnygubph  Jbpwpbpw;  wbluuhyuywu
Ggpwywgnieyniuutiph npwdwnpnidp:

58. Pwqiwptwywpwtu Guptph hwpp wwuhputph JGpwunpngmd L

pwqiwptwlwpwt  JGuptph  php wwuppubph JbEpwunpngmd  Spwapbipny

Uwluwwbudb) £ punhwunp 371,165.8 hwg. npwd' 2016 pwlwup Gondwsd pynigbh
392,233.5 hwg. npwdh nhdwg: Opwgph 2powuwlubtipnid wnwuhpubiph unpngdwu W
wwhwywudwt  wofluwwnwupubpp  Ywqdwybpwybint Gu  wwppbp  dninbignudubipny
(wotuwwnwupubiph wwwnytbip, ujniebiph npwdwnpnid hwdwwnhpnueyniuubpht W wyju):

59. Pwlwjhtt vwpwéputiph b juwnwhpwwywpwlubph hhduwtunpngnid b

wwhywund Spwgpny  twfuwwbudb £ 1,151,479.0 hwq. npwd' 12 Jwpswywu
2ngwuutiph  Ynndhg puwnpwd  pwlybph  pwpblupgdw, huswbu twl Jupswlwu
opowuubipnud pYny 5 unp dhup nnpnih nwownbph Yuwnnigdwt hwdwnp:

60. Pwqiwptwlwpwu sGupbph pwpbljupgiwt  wy)  woluwnwupubp

opwgpny Uwjuwwnbuyb) £ punhwunip 605,250.7 hwq. npwd, nphg 20,000.0 hwg.
npwdp bwfuwwmbuynud k otuptiph $wuwnubph pupwghy unpngdwtu b dwppdwu hwdwn,
5,000.0 hwg. npwdp' otuphg pwihynn uwibinhg wwownwwuhs dhongwnnidubiph hwdwp,
hulj 580,250.7 hwq. npwdp' pwqiwptwlwpwu s6upbph dnunpbph  wdpnnowywu
ytpwunpngdwu, oppwth funnnwyubiph thnfuwphudwu b w)| woluwwmwupubiph hwdwn:
Opwagnpywd gnigwuhop wyb) £ 2016 pwywuh hwunwunywsd pjngbin twuwwnbuywd
gnigwuhohg 51,001.7 hwq. npwdny:

61. Rpujht  Ywnnygubph Jwhwgnpénd b wwhwywind  Spwagpny

uwfuwwnbuyb)  364,000.0 hwg. npwd’ Gplwu pwnwph hwdwjupwihu ubthwlwuneginiu
hwunhuwgnn pninp 2wnpjwuubph swhwgnpddwu b pupwghy unpngdwu hwdwp' 2016
pywlywuh gnigwuhohg 38,500.0 hwq. npwdny wyb, husp  hhduwlwund
wwjdwuwynpjws £ <wupwwbwnnigjwu hpwwwpwyh swinpjwuutph hhduwunpngdw
wuhpwdtiunniejwdp:
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62. UYwpuwjwwubph ywhwywumd dpwgpny vwfuwwnmbiuyb) £ 26,871.6 hwg.
npwd, 2016 pywlwuh Grnwd pjnigh gnigwuhoh swihnd W UGpwnnd £ Gplw

pwnwpht  ubhwlwunypjuu  hpwyniupny  thnfuwugwd  Ywpuwjwwnubph  gnin
wwhwwudwu (whwlwjhu dwnwjnypjwu ujwquanyu wpdtipp) dwfuubipp:

63. Uwdwpwugnudubph U wy]  shunipynibutph  JGpwunpngmid L
gniuwqupnnd  Spwgpny  twjuwwnbuytp £ 35,000.0 hwg. npwd' 2016 pwlwup

hwunwwnywd gnigwuhohg 25,000.0 hwg. npwdny wywlwu, husp ubipwnnud £ otuptiph
ntynpwwnhy gniuwqupnnudp, pwnwph yuwujwsd Yuwdwpwugnuubph ybpwunpngnidp,
pwnwpwhu  dGwnwnw  hGuwunubph  dGpwunpngndp b hwwny  upneny
Gpuwwwunnidp:

64. Jpwpwiht  wwwqudpubph unpngmud  Spwgpny Uwjuwwnbuyb) k

53,000.0 hwgq. npwd' 2016 pYwlwuh dondwsd gnigwuhoh swihny, U dpwapybi £ unpngb

oning 154 Jpwpwjhu wwuwnpqudp:
65. Unnunugdtiph Ywnnignd b ybpwunpngnmd Spwgpny whuwwnbuydb) k

4,000.0 hwgq. npwd, 2016 pwlwuh Gonywd gnigwuhoh swihny, Gplwu pwnwph npng
otuptinh  ubpphtu  Jpwpwht Ynninuagdtiph L hbintnwwwputiph  hhduwunpngdwu
hwdwp:

66. Unnnpuwwwhwlwtu  Yuwqdwlbpynipjniuubph  hwdwp  pdrluyut

uwppwynpnidubiph  dknp  ppnud  Spwgpny  Gwjuwwnbudt; £ hwdwjupwjhu
Ywquwlbpwnipyniuubphu hwnlwguly 78,000.0 hwg. npwd' 2016 pywlwuh pngbing

twfuwwnbujws 71,500.0 hwqg. npwdh nhdwg' wnwoluwihtu onwlyh wnwyouwhtipe
hwdwpynn pd2jwywt uwppwynpnwdubiph dtinp ptipdwu hwdwn:

67. Unnnowwwhwlwu opjiywmubph hhduwunpngnid dpwagpny twhuwwmnbuybip
£ 194,000.0 hwq. npwd, hush 2powtwlubipnd vwfuwwnbuynd £ ppwlwuwgut 2016
pYwlywuhu obinnigdwu hwdwlwpgny wwwhnyqws pyny 7 wynihyhupywubipnh otuptph
wwwnthwuubiph thnfuwphuntd:

68. Mdwpwdwwskih hGunmwgnunipiniuubph  hpwwowgnd  dpwagpny

Uwluwwnbuyb) £ 12,000.0 hwq. npwd* 2016 pwlwuph hwunmwnwsd pntih swhny, npp
opowuwlubpnud  twfuwwbudt]p £ unghwjwwbu  wuwwwhny pwnwpwghubphtu
Yndwniintipwhtu nindngpwbhwih dwnwjnyywu npwdwnpdwu hwdwn:
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69. Unnnowwwhwlwu jugdwlybpwnipintuutiph hwdwp gnypph éknp ptipnd
dpwagpny  twfuwwbudbp £ 40,000.0 hwg. npwd'  Gpuwup  Gupwlwniyejwu

hpduwunpnqwd wnnnowwwhwlwu Ywqdwybpwnipjniuubppht wuhpwdtion  gnypny
wwwhnybnt tywwnwyny:
70.  Uwnpunwihtu dhongunnidubiph Yuqdwlybpynd dpwgpny twjuwunbuyb &

109,569.7 hwq. npwd' 2016 pwlwuh hwdtdwwn 330.2 hwg. npwdnd wwlywu' hhdp
punniubin uwfunpn  wnwpphubpht ppwywiuwgdwsd L 2017 pwywupt  uwwuynn
dhongunnwiubph pwuwyp:

71. Quwuquwnh gnwpubph b qpnuwjghtutph Jwnnignud nt wWwhwywtnd
dpwagpny Uwjuwwbuyt; £ 280,000.0 hwg. npwd, nphg 40,000.0 hwg. npwdp'

Uhpwhwpubiph gpnuwignt ywhwwudwu, 40,000.0 hwg. npwdp' hwuguwnh gninhubpph b
gpnuwjghubiph pupwghy U Ywwhww| Unpngiwu U wwhwwudwu hwdwp, huy
200,000.0 hwq. npwdp’ Gpuwuh pYny 2 qpnuwyghutiph yepwlwuqudwu hwdwn:

72.  ChSwujwhpwwwpwlyh swhwgnpénid dpwgpny twiuwwnbuyb) £ 62,000.0

hwq. npwd' 2016 pYwlwuh hwunwwndwd pnigbihg 10,000.0 hwq. npwdnd wybp’
htidwujwhpwwwpwyh gnpdniutiniejniut wwwhnybijnt hwdwp:
73.  Qpunwpwiwjht Swnwynipyniiutp dpwgpny twjuwwnbiugt) b 452,965.7

hwq. npwd'  Gpuwup  hwdwjupwihu  gpwnwpwuwhtu  Yugdwybpwnigniuubphu
untpuhnhw wnpwdwnpbnt hwdwn:

74. (wuqupuuwiht  Swnwinipiniuutp b gnigwhwunbkuubtip  épwqpny

uwfuwwnbuyb) £ 251,995.4 hwq. npwd’ Bplwup Bupwlwnipuu pwugwpwuutph
wwhwwudwu hwdwp << 2017 pwywup wyhtwwlwu pjnh twfuwgdny twfuwwnbiujwsd
Uywwnwwjhtu hwnwgnudubph hwayhu:

75.  Qwdwjupwihtu dwynyph b wquwn dwdwugh Yuqiwlybpwynd dpwagpny
twfuwwnbudb) £ 110,915.8 hwq. npwd' Gplwuph Gupwlywjnipjwu «Udwuph dowynyph
wnt»,  «Gpuwuph  «UbGpwunphw»  dowynyeh Ybuwnpnu», «Lnp ULnpph  dowynyph
ytunpnu», «<<L Gplwup Chuqwyhe hwdwjuph phy 5 dowynyph Yaunpnuy» b «2bjpniuy
dowynipwihu  Yunpnu» <NUY-UGph wwhwwudwu hwdwp: Opwgpwd gnigwuhyp
wwlwu £ 2016 pYwywuh hwdwwwwnwufuwu gnigwuhohg 329.2 hwq. npwdny:
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76.  Uwlynipwiht dhongunnifubiph hpwywtwgnid dpwgpny twhuwwnbuyt) §

736,805.7 hwq. npwd' 2016 pwlwuh pniwbhg 4,000.0 hwg. npwdny wwlwu, husp
ubpwnnuw £ nmwpyw pupwgpnid Gplwup punwpwwbunwpwuh b yupswywu opowuutipp
Ynndhg Gplwu pwnwpnd ppwywuwgynn pninp dhongwnnwiubpp b hwodwnpyyby L
hwdwudwu dhongwnnudubph Yugdwybpwydwu dwiuubphg Gjutiny:

77. Ukunwitwpwtwlywtu wignt gnigunpnipyniuitip dSpwagpny wjuwwnbuyb) £
252,071.4 hwg. npwd' «Gplwup Yeunwuwpwuwlwu wigh» <NUY-h unipupnwynpdwu
hwdwn' £< 2017 pwlwuh wtnwlwu pnigh twjuwgdny twfuwnbudwsd uwywnwlwhu
hwwnlwgnidubiph hwayhu:

78.  Ubkunwiuwpwtwlywtu wjgnt hhdtwunpngnid Spwgpny vwfuwwnbiuyb &

500,000.0 hwg. npwd' 2016 pywywuh dondwsd pjnigbihg 50,000.0 hwg. npwdny wyb:
Opwanph 2powuwyubipnud vwfuwwnbiuynwd £ wwpnpt hwugul] YGunwuwpwuwywu
wjgnt wdpnnowlwu Ybpwunpngdwtu U wpnhwywuwgdwu 2016 pwlywupht ulujwsd
w2fuwwnwupubipp:

79.  Gpwdrnmwpybump b wwpwpybunmp hwdbpqubp dpwapny twiuwwnbuyb) §

111,651.3 hwg. npwd' 2016 pYwlywup hwunmwwndwsd pjngbh 109,794.3 hwgq. npwdh
nhdwg' Gplwup Gupwlwinipjwu «3nt. Pwfugywuh wujwu Jwulwywu Shihwpdnupw»,
«Gplwuy»  thnnwyht  tjwqufunudpy, «lwjwuwnwuh thnpphYy  Gpghsubip»  dwulwywu
dhihwpdnupwy, «Uwpwpnily» dowynipwihtu  Yaunpnu»  <NUY-UGph b «Lwj-Upun»
dowynipwihu YEuinpnu PRL-h unipupnwynpdwt hwdwp:

80. (Fwwbpwlwtu ubpYwjwgndubp Spwgpny Uwjuwwnbuygl] L 362,056.4

hwq. npwd Gpuwuph Gupwlwinpjwu pYny 3 pwwpnuubiph unpuhnwynpdwu hwdwn
<L 2017 pywlwuh wbwwlwu pnebh Gwjuwgdny twhiwwnbujwd twywwnwywihu
hwwnlywgnidubiph hwayhu:

81l. <Lnpwpéwuubtiph yipwunpngnid b wwhwwund dpwagpny twfuwwmbuyb §

14,000.0 hwg. npwd' 2016 pYwlywup hwunwwndwsd pngbh 25,650.0 hwg. npwdh
nhdwg' hnpwpéwuubph |Jugdwu U wju hnpwpdwuubph unpngdwu b ywhwywudwu
hwdwp, npnup pungpywsd 6 wbnwlywu ywhwwuniyejwu Gupwlw hnywpdwuubph
gwuynd:
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82. Pwnwpwybwnwpwup woluwwmwupubph  nwpwunid  dpwgpny

Uwfuwwnbuyb| £ 56,000.0 hwqg. npwd, npu ninnyGint £ dwjpwpwnwpwhu  wnopjw
Ywuph, puwysnypjwup hngnn  fuunphpubiph, npwug |NWdwu ninpubiph, pwnwph
wwwaqwihtu dhinjwd uwfuwdbnunyeniutbph bW qupgugdwu uwwwmwlwihu dpwagpbph

htinnunwwnbuwjht (Nuwpwudwun:

83. Uunwdwlygnipjuwu Jéwpubp Spwagpny uwluwwnbudb) £ 31,325.0 hwg.
npwd'  dpwuuwfunu  pwnupubph  pwnwpwwbnbph  Jdhowqgqquiht  wunghwghwyh,
Gypnwywlwu pwnwpubph wunghwghwh (EUROCITIES), Uhowqqwjhtu pwnwpwjhu
hwdwjuputiph |nwwynpnwd wunghwghwjh (LUCI), UM< dwjpwpwnwputiph W funonp
pwnuwpubph dhowqquihtu wuwdptwh, <wdwoluwphwiht dwnwugnyjwu pwnwpubinh
Ywaqdwybpwniejwu, Stnwlywu hofuwunieniuutipp hwuntu Yuyniunygjwu wunghwghwyh,
Cwjwuwnwuh hwdwjuputiph dhnigywu b <wjwuwnwuh wywqwuhubph wunghwghwih
wunwdwygnipjwu Yyéwpubpp Jéwnbnt hwdwn:

84. Lwjuwnwpngulywt niunignd dpwgpny twjuwwnbuyb) b 7,714,614.8 hwq.

npwd 2016 pwywup hwunwwdwd pnigth 7,666,452.8 hwq. npwdh nhdwg Ywd
48,162.0 hwq. npwdny wyb: <woqwplutph hhdpnd npyt) £ 1 Gpbluwht wduwlywu
nnigdwu (Wwhwwudwu) dwluutph dhohtu hupuwpdtipp, npp dpwapyb| £ 22.5 hwg.
npwdh swihny (2016 pwywup swihny), huswybiu vwb  jnipupwugnip . <NUY-h
wwhwywudwtu oSwfuubph hwdwp wduwywu 650,0 hwqg. npwd, hul pnthg
hwwlywgnudubpp twjuwwnbudt) tu hwydh wnubind 2016 pYwlwuhu btpbGluwubph
thwuwnwgh dhoht rehyp’ npnawlh wéh huwnpwynpniejwdp:

85. Luwjuwnypnguwywtu nwunigdwtt juqiwlbpydwu hwdwp wuhpwdbn

gnyph &bknp plipnud dpwgpny twluwwnbuyb) § 170,000.0 hwg. npwd' 2016 pYwlwuh
doindwd pnwting 5,000.0 hwg. npwdny wwlwu, hush 2pswtwyubipnnid bwfuwwnbuynid
Gpuwuh pwnwpwwbwnwpwup Jwulwwwpnbqutph hwdwp dtinp pbipt; W pwpdwgub
dwhéwwutip, ubnwuubp, wpennutp, uwppwynpnwitutp (qwqoowlfu, uwnlwpwu,
duwnwg) U wyju: Spwghpp 2wpniwywlwu £ dhusk  fuunph wdpnnowlwu
Ywpgwynpnidp:
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86. Lwhiwnwpnguwlhwu Yppnipintt (wuundphpwlidwd  jhwgnpnipinituubp)

dpwagpny twpuwwnbuyby £ 8,527.9 hwg. npwd' npwbu wwwndhpwywsd |hwgnpnipniu’
€L 2017 pwlwuh wyhwmwlwu pjnybih bwfuwgsh hhdwu ypw:

87. <Quwupwyppwywt nwngnd, hwwnly Yppnypiniu,  ubpwnwlw
Ypenipjnit b GpEYnjwt nwunignud  dpwgptipn twhuwwnbuyb) £ 16,318,977.2 hwg.

npwd’ npwbu wwwndhpwlwsd jhwgnpnipni’ << 2017 pwlwup wbwnwlwu pnigh
Uwhiwgdény Uwjuwwnbuwd gnigwupgubipng U hwydwpydty £ opGuunpnypjwdp
uwhdwuywéd pupwgwlywngbnny:

88. Upunwnupnguiwt nwuwmpwpwlynipnit  Spwgpn  Uwjuwwnbudb) &

2,673,083.0 hwq. npwd, husp hhduwlwund ubpwnnd b Gplwup Gupwlwiniygjwu
Gpwdranwywu, uynpwnp, wpytiunh b owjudwnh nwpngubph untpupnwynpnidp: Loywéd
opwaghpp ubpwnnud £ bwlb pyny 2 uynpnn nupngubiph wwhwwudwu dwhuubipp, npnup
Uwfuwwnbuyb| tu << 2017 pjwlwuh wbwnwywu pnwbh twhuwagdn twfuwwnbujwd
uwwunwywihu hwinlwgndubph hwayhu' 56,677.8 hwq. npwdh swihny:

89. Upunwnupnguywtu  Ywqdwlbpynipjnibubph ~ hpduwtnpngnud L
yGpwunpngnud dpwagpny twjuwwnbiuyt) £ 500,000.0 hwq. npwd, nph 2powuwlyubpnid
Uwhiwwnbuynwd £ Uowihujwy, Eptpniuh, Unpp-Uwpwy U Cbuquhpe Ywpswlwu

opowuubpnid  wdpnnoniejwdp  hhduwunpngy pYndy 4 wpuwnwpngulwu

Ywqdwybpwnieyniuutiph otiuptipp:
90. «Lwlynp Ungnuwiu» Yppwhwdwihp MNNUY-—Nd wpnwnupnqulwi

nwuwmhwpwynpjut juqdwybpynd (uwwndphpwlyyjwéd jhwgnpnipyniiitp) dpwapny

Uwluwwbuyb) £ 7,980.2 hwq. npwd’ npwybu wwwndhpwlywsd hwgnpniegniu’ <L 2017
pYwlywuh wyhwwlwu pjnwbih bwfuwgsh hhdwu ypw:

9l. bpwdrnmwlywu b wpybunmh nypngubpnid wqgqujht, thnnwjht b jwpwhu
tjuwqupwuubph qény nwngnd dpwgpny twfuwwnbuyb) £ 162,709.0 hwg. npwd’

npwbu unipupnhw’ << 2017 pwlywup whwnwlwu pjnoh twfuwgdny twuwwnbuyws
Uywwnwwjhtu hwnwgnudubph hwayht:

92. Upwnwnupnguwywiu Juqiwlbpynieynuutph  hwdwp ~ wuhpwdbn
gnyph &bkinp plipnud Spwgpny Uwluwwbuyb) £ 90,000.0 hwg. npwd' 2016 pwlwupu
uwfuwwnbujwdhg 10,000.0 hwq. npwdny wyb|, nphg' 40,000.0 hwg. npwdp Gplwup
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Gupwyw)nigjwu Gpwdranwywu nupngubiph hwdwp gnyph b pwdonwlwu gnpdhpubiph
abinp pbpdwu hwdwp, 50,000.0 hwq. npwdp' 2wfudwwnh nwpngutiph hwdwp gnyph U
dwpqulwt Yuqdwybipynigyniuubiph hwdwp dwpqwanyph dtnp pipdwu hwdwn:

93. Lwjuwnwypngwlwu hwunmwwnipniuubph hhduwunpngnid L
yipwunpngnid  Spwgpny twjuwwnbudbp £ 552,000.3 hwqg. npwd’ 2016 pqwywuh

hwunwwywd gnigwuhoh swihny, nphg 550,000.0 hwg. npwdh 2powuwlyubpnid
Uwhiwwnbuynwd £ Jwpswywu  gpowtubtipnid  hpwlwuwgub]  Uwjuwnwpngwuywu
hwuwnwwnigniuubph  hpduwunpngnid, huy 2,000.3 hwq. npwdh 2powuwlyubipnid’
dwulwwwpunbqubph pupwghy unpngnud: Opwaghpp 2wpniwwywlwu £ dhusl fuunph
wdpnnowlwu |ndndp:

94. Twpngwlwt ojhdwhwnwubph b wy dhongwnnidubiph Yuqiwlbpwnid
dpwagpny twjuwwbuyb) £ 21,200.0 hwg. npwd’ 2016 pwlwuh Gondwd gnigwuhohg

3,636.0 hwq. npwdny wybih, nph 2powtwyubipnd vwfuwwmbuynid Gu dwpqulywu
fuwntph  Yuwquwybpwnuw, dwulwlwnpdubpph  fupwfunwdwu  dhongwnnidubiph
wuglwgnud, «Uqqwjhu  dnnndh  quywpeh»  Ywqdwybpwynw, wnwpluwjwlwu
olhdwyhwnuwutn, owfudwuwnp olhdwyhwnuw, hnpbjwuwlwu dhongwnnidubin,
wjgbinyeyniutup pnyp pwnuwpubp W hwdwgnpdwygnip it ubipwnwlwu Ypenieinlu
hpwlwuwgunn nupngubipht wowlgnn ehdtiph htwn:

95. Unghwjwwbtu wuwwwhny wowlybpwmubpht wudbwp nwuwgppbpny

wwwhnynd  (wwwydppwyjwé jpwgnpnipyniuubip) dpwgpn twpuwwnbudby b 729.7

hwq. npwd’ npwbu wwwndhpwldwsd [hwgnpngnit’ << 2017 pwlywup wyhunwywu

pjnobih uwfuwadh hhdwu Ypw:
96. Uwmbunwynpdwu dJdhongndy npwlwynpnid  umnmwqwé  nwunighsubtiphu

hwybjwybwpubph  wpwdwnpnd  (Ywundphpwljwsd [pwqnpnipyniuubp) Spwagpny
Uwluwwnbuyb) £ 15,872.4 hwq. npwd npwbu wwwndhpwljws |hwgnpniyeyniy’ << 2017
pYwlywuh wyhwwlwu pjnh twjuwgdny twiuwwnbuywd gnigwuhubiph hhdwu Ypw:

97. Unghwjwwbtu wtwwwhny punwuhpubph GpbGluwubph hwtgquunp
Juqdwybpynud dpwgpny twfuwwnbuyb)  6,507.0 hwg. npwd’ 2016 pwlwuh dondwsd

gniguupgh swihng b hwpdwpyyty b vwfunpn wwphubiph hwunwgh Gunwndws
udwuwwhy dwfuubiph hhdwu Yypw:
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98. <Lwpwquwwn  sniulignn wudwug b unghwjwwbu wuwwwhny

puwnwuppubiph hwdwp hninupywynpnipju Yuqiwlbpynid dpwgpny twiuwwnbuyb)

£ 29,973.5 hwq. npwd’ 2016 pywlwup 29,965.5 hwq. npwdh nhdwg U hwydwpydby §
Uwfunpn mwphutiph hwunwgh Yuunwpjwsé tdwuwnmhy dwiuubiph hhdwu Yypw:
99. Unghwjwwbu wtwwwhny punmwuhpubphtt wintwywu b hhywwnwyh

opkpht  wowlgnipinit, unghwjwwbu wltwwwhny wudwiug wowlygnipiniu, L

hwuwpwlwlwu Yugdwybpynipjniubpht wowlgnipynin dpwantipny twfuwwnbuybi &
650,110.0 hwg. npwd' 2016 pwlwuh hwunmwwnyjwsd gnigwuhohg 16,568.1 hwg. npwdny
wyblh W hwywpyjwd Lt hunwy Spwgpwihu  dnwnbignwiubiphg, puwysniejwu
wnwuduwgywd fudptiph wowygnipjwu dhongwnnidubiphg Giubny:

100. Unghwjwlwu oqunipjwi Swnwinipintuutiph qnpénLubinpiwi

Juqdwlybpynd  (uwwdppwlywd jhwgnpnipyniiutp) Spwagpny twfjuwwunbiuygb) L

365,216.9 hwq. npwd npwbtu wwwnyhpwlyywsd hwgnpnyeyniu:
101. Mbunwlwu hphduwplyutph b juwqdwlbpynipiniuutph  woluwwnnnubtiph

unghwjwlywt hwpbpny wwywhnynd (wwnyphpwlyjws jhwgnpnipyniuubp) dpwapny

Uwluwwnbuyb) £ 692,496.0 hwqg. npwd npwbu wwwndhpwlywsd |hwgnpnieynit’ ££ 2017
pYwlywuh whwwlwu pjnwbih twfuwgony twfuwwnbiujwé gnigwupoutiph hhdwu ypw:
102. Unnnonipjutt wywhnjwgpnipnit dpwapny twfuwwbuyt| L 160,784.0

hwq. npwd Gpuwuph pwnwpwwbwnwpwuh woluwnwlywqdh  woluwwnwyhgubiph,
«Gplwuwnpwuu» PPL-h Jwpnpnubiph, «3¥CMT» PPL-h uwywuwpynn wuduwlwqulh,
huswybu twl Gplwu pwnwph pwwpnuubph b pwugqwpwuubph, gpwnwpwuubph
woluwwmwyhgubph  wnnnonigjwtu wwwhnwgpnuyejwt  hwdwp:  Unnnoniypjwu
wwwhnjwagpniejwu thwpebeh uwhdwuwswihp (gnwwpp), jnupwpwusnip wofuwnwygh
hwdwp twiuwwnbuynud £ 52.0 hwg. npwd: Unnnontgjwt wwywhnjwapniejwu thwebeh
dtio dinunn dwnwjnieniuubpp Yhwdwwwwnwuuwutbu <wjwuwnwuh <wupwwbnniejwu
Ywnwywpnyywu 2012 pwywuph nbYnbdptph  27-h  «Unghwwlwu  thwebph
hwwnywgdwu Ywpgp b hwpbeh dby dununn dwnwjnyeniuubph pnwunwynyeiniup
hwuwnwwtin, <wjwuwnwuh Lwupwwbwnnipjwu  Jwnwywpnyuwu 2011 pwlwuh
nGlywbdptipp 29-h N 1917-L L N 1923-U, huswtiu twbl 2012 pywlwuh wwpphih 19-h N
594-U npnpnudubipt ndp Ynpgpwd Gwuwstint dwuphtu» N 1691-UL npnpdwu N 2
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hwybjywdh N 1.1 dund uwhdwuywd b hwunmwnywd wnnnonipjwu wwwhnywgpnyejwu
pwqujht thwpebieh swthnpnohsutinhu:

Gpuwu pwnwph 2017 pwywup pjnwth twfuwagdny twluwwnbuynd £ 68,000.0
hwa. npwdh swihnd wwhwunip, npp Yphuwtuwynpyh nwnpbubgpeh wqun duwgnpnh
hwoyhu: Swpbuygph wqwun duwgnpnp Jwufuwwbuynwd £ 200,000.0 hwq. npwdh
swihn, nphg 120,000.0 hwgqg. npwdp Yninnyp «Gpuwuh wywnpnw» PRL-h, huy
12,000.0 hwq. npwdp’ «Gplwuh pwnwpwhtu unp wnpwywip» PRPL-h Juwunuwnpwywu
Ywwhwwinud  pwdubnndubiph dbnp  pbpdwup:  Swpbuygph  wqww  duwgnpnp
Ywuluwwnbujwd gnigwuh2 £, npp Ybogpindh 2016 pywlwuh pnbinwihu wwpydw
wywpunhg htwnn:

Gplwu pwnwph 2017  pJwywup pnebh  uwjuwghdp'  hwunwnwsd
dwldwuwlwgnygh hwdwdéwju, 2016 pwywuh hnywnbdptph 28-hu ubpywjwgyb| &
Gpuwuh pwnwpwwbtwnphu Yhg gnpénn Gpuwtu hwdwjuph qupqugdwu pwnwdjw
opwgph UL wwpblwu pnwth Yuwnwljwpdwu funphpnh  wunwdubphu:  Gplwup
pwnwpwwbwnhtu Yhg gnpénn Gpuwu hwdwjuph qupqugdwu pwnwdjw dpwagpph L
wwpblwu  pnwth  Ywnwwpdwu  funphnipnp 2016 pwlwuh  untidpbph  3-pu
hpwyhpywsd uhunnd iyt £ pp npwywu Ggpwywgnieiniup 2016 pywlywuh untidptph
4-hg dhusk unjdpbph 21-p Gplwu pwnwph 2017 pYwywuh pnwbh twjuwgdh
Yybpwpbnw| hwupwjhtu putwpynwubp ppwywuwgubiint hwdwp: <wupwjhu putwnpydwu
hpwwwpwlwjuniyeyniup,  dwwskipnyggniup b pwidwughynyeniup wwwhnybijnt
uywwnwyny hwupwjht ptuwpydwu dwutwygnyewu  hpwydbpp  hpwwwpwyybp &
dwdnind b Gpbwu pwunwph wwonnuwlwu Yuwipnw: Uhwdwdwuwy Splwu pwnwph
wwownnuwlwu  Yuwjpnud  wnbnunpdtp £ Gpuwu pwnwph 2017 pwlywuh pnwbh
Uwhuwagsh LGYunpnuwhu  wwppbpwyp Yhg pwgwwnpwghp-hhduwynpdwdp: 2016
pYywlywuh undptph 21-pt Gplwup pwnwpwwbunwpwund Ywqdwybpwyb) £ Gplwu
pwnwph 2017 pqwlwup pnwbh twluwgdh hwupwihu puuwpynd’ hwupwihu puwg
junwutiph Gnwwuwyny, nph Yybpwpbipjw; Yuqiyb|  hwdwwwunwufuwu wdihnthwetpe:
Gpuwuh pwnwpwwbtwnphu Yhg gnpénn Gpuwtu hwdwjuph qupqugdwu pwnwdjw
opwgph W wwpblwu pnwtip yunwywpdwt funphpnh 2016 pYwlwuh untdptph 25-hu
Ywjwgwé uhunnd wdithnthyb Gu hwupwjht ptuwpydwu wpnyniuputipp: Lnyu uhuwnnd
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Gpuwu hwdwjuph qupqugdwu pwnwdjw Spwagph U wwpblwu pjnwbh Yunwywpdwu
funphnipnp wnyb) £ pp npwlwu Ggpwlwgniginiup Gpuwu pwnwph 2017 pYwlwup
pinbih bwfuwaghdp Gplwuh wywgquwuntu ubpYwjwgubiint hwdwp:

Wuwhuny, Gpuwu pwnwph 2017 pwlwuh pjnwbih twfuwghdp wnwowpyynid k

hwuwnwwnt.
1. Ghwdnuptbiph qény' 84,344,931.5 hwgq. npuwd,
2. Swfuulbinh gény' 84,412,931.5 hwq. npuwd,
3. ntphghyp (Wwlhwunipnp) 68,000.0 hwq. npwd:
6reduth LUNULUNES S. vureursuuv
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8ULu

2017 o4 U4yl uvhu MESNM3UL UNAUDLS GLEIU LD LUAULUMNGShL MUSIhAULYYUD

Lhua2nernre3nkuue/,rh
LCwun Gplaul hwdwjliph pynigbh opwignpbph
hwquip npudGbpm|]
N Onwqph wijwlnuip Qnudwpp
NUSIhLAUGJUD LhU2NLNMEF3NRLLER 42,029,123.5

1 |[Rwnupughwiwl jugnipjul wynmbph gpnulgdwt dwnwjnipjul qnponiGtnipjul Juqiwybpynid 92,931.3
Uuphwwil pwGlyh wowlgmpjwip hpuwywlwgynn punwpwjhl tGpulunngyuwopltinh U pwunwph

2 3,544,937.4
JuyniG qupqugdwl GipnpnidwjhG opwghp
Uuhwlwl pwllyh wowlgnpjwip hpwywlwgynn punwpwjhl tipwwnngyuopltinh L pwnwph

3 4,220,991.0
Juynil qupqugdwl GipgpnidwjhG tpypnpng opwghp

4 |Gplwbh dtnpnuynihnblh wuwmwbplinh juqiulbpynd 2,703,543.3

5 Jdhpwluwnnigiwl b qupqugiwl typnyuwlul pwlih wowlgnipjudp hpwlwlwgynn Gpluwbh 336.426.9
dbnpnunihntGh yepuwyuwenigdwl tpypnpn dpwghn B
Gypnuyuyuwi GipnpnudwjhG pulyh wowlgnmpjudp hpwlwlwgynn Gplwbh dhnpnwynihntih

6 1,841,539.4
Ytpwlwnmguiw tpypnprng opwghn

7 Gynnywliwl dshnipjwl hwplwlnipjwb Gapnpnuiwjhl pwlih wowlgnipjudp hpwljwlwgynn Gplwbh 15609231
dbwmpnuynihntGh Yepuuengdwl ipypnpn npudw) GnphwghG opwghn DR
Upltiywb Gypnuwjh Latipquutwmnnnipjul b pwwyuwhywluywb gnpopliytpnipjul $nlnh

8 [wowlgnipjudp hpwlwlwgynn GplaGh dknpnuynihntGh yepuwlunnigdwl tppnpn gpuidw) GnphwjhG 315,953.7
opwghp

9 Yhpwjunmgiwl L qupqugiwl typnuyujul pwGyh wowygnipjuip hpwljwlwgynn Gplwbh 569628
dhunpnunihntiGh Jepuunrngdwb tppnpn opughp B
Gynpnwwlwb Ghpppnuiwhl pwGh wowygnipjudp hpwlwlwgynn Gplwbh dhnpnwnihnblh

10 56,962.8
Jtpwlwnngiwl tppnpn dpwghp
Gypnyuwiwi GhpppnuiwyhG pulyh wowygnipjudp hpujwlwgynn «Gplwbh ynpwn puthnGGtph

11 227,851.2
Junwywnpiwb» opwaghp
Yhpwjunmgiwl L qupqugiwl pwiyh wowlgnipjudp hpwjwlwgynn «Gplwbh Ynpwn pwthnGltnh

12 371,587.2
Junwywnpiw» npuiw) GnphwjhG opughp

13 Gynnywwb dshnipjwl hwplwlnipjwl Gepypmiw)hG gnpohph dhongGtinny  $hGw Guwynpynn 2955419 9
«Gplwbh Ynpum pwithnGlbtnh unwyupiw» gpuwdw) GnphwihG opwghn e

14 Uplbpgw6 Gypnuywjh EGipquhnGuwmnnnipjul b puwyuwhyubuiui qnpopGytpnipjul wowlgnipjudp 7798206
hpuwwGwugynn «GplauGh Ynpum pwthnGGiph Junwywpdw» ngpuidw) GnphwjhG opwughn D
Jhpwluwnnigiwl L qupqugiwl pwlilh wowlgnipjuip hpwlwlwgynn «Gplwbh Ynpwm pwthnGGtph

15 227,830.4
Juwnwywnpiwb» opwaghnp

16 bpwluhwjh Lwlipwwtimnipjul junwwnnipjwl wewygnipjwip hpwwlwgynn GpluwGh 487 459 1
opwiwnmwlwpuwpdwl L gpuwhtinwgiwG opwgnhl mpuwdwnpynn wmbuGhjuwiuwG wowygnipjul dpwghp R
Gypnyuwwl thmpjwl hwplwnipjuwb GhpgpnuiwghG opugnh wowygnipjuip hpwywlGwgynn Gpluwbh

17 1,436,554.4
opwiwmwlwpuwpdwl pupbpuydwl gpuidw) GnphwjhG opwagqhnp

18 Yhpwljunmgiwl L qupqugiwl typnuyujul pwiyh wowlgnipjuip hpwlwblwgynn Gplwbh 969 127.1

opwiwmwyuwpwpdwl puptjuydiwl opwaghp




N Onpwqph wijwlnuip QGnidwpp
NUSJIhAUGJUO LhUu2N,AMe3NMLLE® 42,029,123.5
Gynnwwlwb GapppnuiwhG pwGyh wowygnipjwip hpwlwlGwgynn GplwGh opuwiwmwljuwpundwl
19 958,684.0
pwnbpuwydiwl opwaghp
dhpwlunnigiwb b qupqugiwl typnyuwul pwlyh wowlgnipjudp hpwlwlwgynn Gpluwbh
20 145,445.0
opwiwnmwwpuwpdwl puptpuyiwl gpuidw) GnphwjhG opwaghn
Jhpwluwnnigiwb L qupqugdwl pwllh wowlgnipjulip hpwlwlwgynn «Gplwlh punupuwjhl
21 438,613.6
nuwynpnipjwl» dpwghp
22 Uplbpywl Gypnuywjh titpquutwnnnipjul b plwyuwhywliwywb gnpoplytpnipjul wowlgnipjuip 683553.6
hpwwlwgynn «Gplwlh punwpwjhl nuwynpnipjwi» gpudw)inphwjhG opwaghp DR
dhpwjunnigiwb b qupqugdwl pwlilh wowlgnipjuip hpwlwlwgynn «Gplwlh punupujhl
23 206,205.4
nuwynpnipjwl» ngnudw) GnphwjhG opwaghnp
24 'GwhiwnupngwlwG YppnipyniG 8,527.9
25 [Qubpwyppuyul ntunignid 6,230,956.6
26 [Qwwniy YppnipyniG 160,021.8
27 |Ubpwnwywl YppnipjniG 636,298.6
28 [RwGpwyppuyul niunignid 8,083,390.9
29 |{wwuniy YppnipjniG 210,957.1
30 |Ubpwnwywl YppnipjniG 727,785.8
31 |GptYynjwi ntunignid 9,920.7
32 |RwGpuyppwlwb niunignid 195,771.4
33 |Rwwnniy YppnipyniG 41,597.2
34 [Lhpwnwywl YppnipyniG 616.8
35 |[GptynjwG niunigmd 21,660.3
36 |[«<wynp Gnonjwl» Yppwhwiwhp NMOUG-nid wpmuwnypngujul pquunhwpuwynipjul juqiwybpynid 7,980.2
37 |Unghwjuybtiu wiwwwhny wywybpumGhiphl wiydwnp nquuwgpptipny wuwhnynid 729.7
38 [Unbtumwynpiwl dhongny npuwuwynpnid unwgwd ntumghsGiphG hwybjuydwnplGbph mpudwnpnid 15,872.4
39 [Unghwjwlwi oqlnipjwl dwnwjnipjniGGtph gnpontGtinipjul uqiwytpuynid 365,216.9
40 Mtunwlwl hhiGwpyltph L yuqiwytpynipmniGatph wpfuwmnnGtph unghwjwwb hwptpny 692 496.0

wywhnynid
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<L 2017 ordUUULh MGESULUL A3NRRENY. LULUSEUYUD LNUSUHU3hL

JUSUUSNRULELE (UNRRUEULShULELD)

Cun Gplaul hwdwjlGph pinigbh opugpbinh

hwquip npudGbpng
N Opwanph wijwlnuip Gnudwipp
LuEUShy UNFRIGLSRU 8,342,282.4

1 [GwowjwpiwG dupdGh ywhwywlnd 1,075,138.5
2 |Uubwm-ptimnGyu dwolhh yipwlnpngnid b yywhwywlnid 3,284,000.0
3 [dbpgtinbyu EyumpumpuGuynpuny ninlnputhnjuunpdwl Swnwjnipjnil 611,146.6

Gnplwl punuph Gipwjuwympjwul yuqiwlbpynipniGatpmd wyjplumpulpwjhl
4 (wpfuwwmnwbpwjhG dwnwnnGbphG gpuiwyui pujupuwpdwl L gpuiwuyui 23,490.0

thnfuhwwnnigiwl mpuwiwnpmd
5 |UpunwphG jnuuwynpnipjul guligh pwhugnpodwG L ywhwyw Giwl wpfuwmwbpltip 2,272,039.1
6 [Bwlqupujhl ownwympniGGtp L gnmgwhwlntuGbp 242,953.6
7 |UtilnuGwpwliwub wignt gnigunpmipjnGitn 252,071.4
8 [Pwwmbpwwl GipuyuwgnmuiGbp 362,056.4
9 |Upnwnupnguyuwl nuumhwpwynipjnil 56,677.8
10 Gpwdynwlwb L wpytumh nupngGipnd wqqujhG, thnnwjhG b jwupuwyhG 162.709.0

(JwqupuGGtnph qony ntunignid
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Unwowplnipjui b
nhunnnipjut hnhtwy,
gpoipjul unwugdwui

wiluwphy, gpoiejub
hwdwp

Zuipuyht pug uniditkpht
dwubwlgtnt hudwp
nhdwé wudhup

Unwowplnipjul
W/l
wnwplnipjub
pnjuinulnipnil

Bqpuljugnipnih

Qunupywus

thnthnfuniejnil
ubkp

1

2

Unwowplnipnibikp b
wpwpynipnibbp skt

ubpyuymgyty

Uwhdwijws dudljinnid
hwlpuyht pug untdubkpht
dwutwlghnt hwdwp
nhdt; &b ‘Uniuk
Uwbnijjuip (ghunwd 2. U-
8555 wn 16.11.2016p.),
Upwd 9phgopyub (nhunud
Z. ©-4810 wn 16.11.2016p.),
Yuwphuk Quinuyuiip
(qhunid 2.  ©-411 wn
17.11.2016p.), Jupnuil
Qupppbjuip (ghunud 2
Q-4830 wn 17.11.2016p.):
Zwipuyh (unudutippltn
Jdwutwlgl) i twb Gplhwb

puinuph wjwquint
«Pupl Bplwb»
Judpwlgnipyul ‘
tbplwyugnighsitp. Gughl
Punnuuwpjubp L
Utiwhhwun Pwugjubip:
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